CITY OF PAHOKEE



AGENDA

City Commission Regular Meeting

Tuesday, January 28, 2025, at 6:00 PM

Pahokee Commission Chambers 360 East Main Street Pahokee, Florida 33476

CITY COMMISSION:

Keith W. Babb, Jr., Mayor Clara Murvin, Vice Mayor Derrick Boldin, Commissioner Sanquetta Cowan-Williams, Commissioner Everett D. McPherson, Sr., Commissioner

CHARTER OFFICERS:

Michael E. Jackson, Interim City Manager Nylene Clarke, City Clerk Burnadette Norris-Weeks, Esq., City Attorney

[TENTATIVE: SUBJECT TO REVISION]

AGENDA

- A. CALL TO ORDER
- **B. INVOCATION AND PLEDGE OF ALLEGIANCE**
- C. ROLL CALL
- D. ADDITIONS OF EMERGENCY BASIS FROM CITY MANAGER, DELETIONS AND APPROVAL OF AGENDA ITEMS
- E. PRESENTATIONS / PROCLAMATIONS / PUBLIC SERVICE ANNOUNCEMENTS / PUBLIC COMMENTS (agenda items only)

(This section of the agenda allows for comments from the public to speak. Each speaker will be given a total of three (3) minutes to comment. A public comment card should be completed and returned to the City Clerk. When you are called to speak, please go to the podium or unmute your device, and prior to addressing the Commission, state your name and address for the record)

1. Glades Regional Office: Introduction of Pahokee Leadership and Second Semester Updates - Angela Moore, Glades Regional Superintendent

F. CONSENT AGENDA

- 1. January 14, 2025 City Commission Meeting Minutes
- 2. RESOLUTION 2025-05 A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, APPROVING THE CANCELLATION OF THE MARCH 11, 2025 CITY COMMISSION MEETING; PROVIDING FOR ADOPTION OF REPRESENTATIONS; PROVIDING FOR AN EFFECTIVE DATE.
- G. OLD BUSINESS (discussion of existing activities or previously held events, if any)
 - 1. Update City Projects

H. PUBLIC HEARINGS AND/OR ORDINANCES

- I. RESOLUTION(S)
 - 1. RESOLUTION 2025-06 A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, APPOINTING A MEMBER TO THE ZONING/ADJUSTMENT/ PLANNING BOARD; PROVIDING FOR ADOPTION OF REPRESENTATIONS; PROVIDING FOR AN EFFECTIVE DATE.

PROVIDING FOR AN EFFECTIVE DATE.

- 3. RESOLUTION 2025-08 A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, APPROVING A CONTRACT WITH MICHAEL E. JACKSON TO BECOME THE CITY MANAGER FOR THE CITY OF PAHOKEE, FLORIDA, ATTACHED AS EXHIBIT "A".
- 4. RESOLUTION 2025-09 A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, AUTHORIZING AND RATIFYING THE INVOICE FROM BIG DOG EXPRESS OF SOUTH FLORIDA INC., FOR HURRICANE MILTON DEBRIS REMOVAL, FOR THE INVOICES ATTACHED HERETO AS EXHIBIT "A", AND FURTHER RATIFYING STORM DEBRIS REMOVAL FROM

OCTOBER 12, 2024 TO OCTOBER 21, 2024; PROVIDING FOR AN EFFECTIVE DATE.

- J. NEW BUSINESS (presentation by city manager of activity or upcoming event, if any)
- K. REPORT OF THE MAYOR
- L. REPORT OF THE CITY MANAGER
- M. REPORT OF THE CITY ATTORNEY
- N. FUTURE AGENDA ITEMS OF COMMISSIONERS, IF ANY
- **O. GENERAL PUBLIC COMMENTS** (items not on the agenda)
- **P. COMMISSIONER COMMENTS AND FOR THE GOOD OF THE ORDER** (*community events, feel good announcements, if any*)

Q. ADJOURN

Any citizen of the audience wishing to appear before the City Commission to speak with reference to any agenda or non-agenda item must complete the "Request for Appearance and Comment" form and present completed form to the City Clerk prior to commencement of the meeting.

Should any person seek to appeal any decision made by the City Commission with respect to any matter considered at this meeting, such person will need to ensure that a verbatim record of the proceedings is made, which record includes the testimony and evidence upon which the appeal is to be based. (Reference: Florida Statutes 286.0105)

In accordance with the provisions of the Americans with Disabilities Act (ADA), this document can be made available in an alternate format upon request. Special accommodations can be provided upon request with three (3) days advance notice of any meeting, by contacting the Office of the City Clerk at 561-924-5534. If hearing impaired, contact Florida Relay at 800-955-8771 (TDD) or 800-955-8770 (Voice), for assistance. (Reference: Florida Statutes 286.26)

CITY OF PAHOKEE



MINUTES

City Commission Regular Meeting

Tuesday, January 14, 2025, at 6:00 PM

Pahokee Commission Chambers 360 East Main Street Pahokee, Florida 33476

CITY COMMISSION:

Keith W. Babb, Jr., Mayor Clara Murvin, Vice Mayor Derrick Boldin, Commissioner Sanquetta Cowan-Williams, Commissioner Everett D. McPherson, Sr., Commissioner

CHARTER OFFICERS:

Michael E. Jackson, Interim City Manager Nylene Clarke, City Clerk Burnadette Norris-Weeks, Esq., City Attorney

AGENDA

A. CALL TO ORDER

The meeting was called to order by Mayor Babb at 6:02 PM.

B. INVOCATION AND PLEDGE OF ALLEGIANCE

Commissioner Boldin led the Invocation, followed by the Pledge of Allegiance.

C. ROLL CALL

PRESENT Mayor Keith W. Babb, Jr. Vice Mayor Clara Murvin (via phone and later arrived in person at 7:15 PM) Commissioner Derrick Boldin Commissioner Sanquetta Cowan-Williams (via phone) Commissioner Everett D. McPherson, Sr. Michael E. Jackson, Interim City Manager Burnadette Norris-Weeks, City Attorney Nylene Clarke, City Clerk

Motion made by Commissioner McPherson to accept Commissioner Cowan-Williams' and Vice Mayor Murvin's attendance by phone. Duly seconded by Commissioner Boldin and passed unanimously.

Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

D. ADDITIONS OF EMERGENCY BASIS FROM CITY MANAGER, DELETIONS AND APPROVAL OF AGENDA ITEMS

Motion made by Commissioner Boldin to accept the agenda with the deletion of Resolution 2025-02. Duly seconded by Commissioner McPherson and passed unanimously. Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

E. PRESENTATIONS / PROCLAMATIONS / PUBLIC SERVICE ANNOUNCEMENTS / PUBLIC COMMENTS (agenda items only)

- 1. Empower Healthcare, Inc Dr. Jinga L. Oglesby-Brihm, Founder/CEO
- 2. Lutheran Services Jean Rossier and Shirley Coney
- 3. One North Lake Project Aaron Taylor
- 4. Mental Health America of the Palm Beaches Andrew McAusland, Chief Executive Officer

F. CONSENT AGENDA

- 1. December 10, 2024 City Commission Meeting Minutes
- 2. December 17, 2024 City Commission Special Meeting Minutes

Motion made by Commissioner Boldin to accept the Consent Agenda. Duly seconded by Commissioner McPherson and passed unanimously. Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

- G. OLD BUSINESS (discussion of existing activities or previously held events, if any)
 - 1. Update City Projects

H. PUBLIC HEARINGS AND/OR ORDINANCES

I. **RESOLUTION(S)**

1. RESOLUTION 2025-01 A RESOLUTION OF THE *CITY* COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, AUTHORIZING THE CITY MANAGER TO EXECUTE THE 2025 MUNICIPAL ELECTION(S) VOTE PROCESSING EQUIPMENT USE AND ELECTIONS SERVICES AGREEMENT BETWEEN THE CITY OF PAHOKEE AND PALM BEACH COUNTY SUPERVISOR OF ELECTIONS IN THE FORM ATTACHED HERETO AS EXHIBIT "A"; PROVIDING FOR INCORPORATION OF RECITALS; PROVIDING FOR AN EFFECTIVE DATE.

Motion made by Commissioner McPherson to accept Resolution 2025-01. Duly seconded by Commissioner Boldin and passed unanimously. Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

2. RESOLUTION 2025-03 A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA APPROVING LEGISLATIVE PRIORITIES FOR THE 2025 LEGISLATIVE SESSION; PROVIDING FOR ADOPTION OF REPRESENTATIONS; PROVIDING FOR AN EFFECTIVE DATE.

Motion made by Commissioner Boldin to accept Res 2025-03. Duly seconded by Commissioner McPherson and passed unanimously. Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

3. RESOLUTION 2025-04 A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE FLORIDA, ACCEPTING AN EMERGENCY AGREEMENT WITH C.A.P ENGINEERING, INC. RELATED TO CONSTRUCTION, ENGINEERING AND INSPECTION (CEI) SERVICES IN CONJUNCTION WITH THE CONTRACT BETWEEN THE CITY OF PAHOKEE AND THE STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION (FDOT), CONTRACT G-1753, FM# 442030-01-54-1, BARFIELD HIGHWAY RECONSTRUCTION PROJECT AS SET FORTH IN EXHIBIT "A"; PROVIDING FOR AN EFFECTIVE DATE.

Motion made by Commissioner McPherson to accept Resolution 2025-04. Duly seconded by Commissioner Boldin and passed unanimously. Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

- J. NEW BUSINESS (presentation by city manager of activity or upcoming event, if any)
 - 1. Discussion and direction for Restaurant and Marina Commissioner McPherson

K. REPORT OF THE MAYOR

L. REPORT OF THE CITY MANAGER

M. REPORT OF THE CITY ATTORNEY

N. FUTURE AGENDA ITEMS OF COMMISSIONERS, IF ANY

Motion made by Commissioner McPherson to have a workshop for evaluation tool for City Clerk and City Manager, including job analysis. Duly seconded by Commissioner Boldin and passed unanimously.

Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

Motion made by Commissioner Boldin to have a workshop for facilities and vehicles policies. Duly seconded by Commissioner McPherson and passed unanimously.

Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

O. GENERAL PUBLIC COMMENTS (*items not on the agenda*)

P. COMMISSIONER COMMENTS AND FOR THE GOOD OF THE ORDER (*community events, feel good announcements, if any*)

Q. ADJOURN

Motion made by Vice Mayor Murvin to adjourn the meeting. Duly seconded by Commissioner McPherson and passed unanimously. Voting Yea: Mayor Babb, Vice Mayor Murvin, Commissioner Boldin, Commissioner Cowan-Williams, Commissioner McPherson

There being no further business to discuss, Mayor Babb adjourned the meeting at 8:35 PM.

Mayor Keith W. Babb, Jr.

ATTEST: Nylene Clarke, CMC, City Clerk



AGENDA

MEMORANDUM

TO:	Honorable Mayor & City Commissioners
VIA:	Michael E. Jackson, Interim City Manager
FROM:	Office of the City Clerk
SUBJECT:	Approving the cancellation of the March 11, 2025 City Commission Meeting
DATE:	January 21, 2025

GENERAL SUMMARY/BACKGROUND:

The City Commission is required to meet at least once a month, pursuant to section 2.08(a) of the City of Pahokee's Charter. Due to the 2025 Municipal Election, it is necessary to cancel the March 11, 2025 City Commission Meeting.

BUDGET IMPACT:

Meeting in accordance with Section 2.08(a) of the City of Pahokee's Charter, may result in cost savings to the City.

LEGAL NOTE:

Defer to the City Attorney.

STAFF RECOMMENDATION:

Staff recommends approval of the item.

ATTACHMENTS:

Resolution 2025-05

RESOLUTION 2025-05

A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, APPROVING THE CANCELLATION OF THE MARCH 11, 2025 CITY COMMISSION MEETING; PROVIDING FOR ADOPTION OF REPRESENTATIONS; PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, pursuant to Section 2.08(a) of the City of Pahokee's Charter, "the City Commission shall meet regularly at least once a month at such time and places as the commission may prescribe by rule"; and

WHEREAS, there is a scheduling conflict with an upcoming meeting due to the City of Pahokee March 2025 election; and

WHEREAS, the City Commission of the City of Pahokee ("City Commission") desires to cancel the March 11, 2025 City Commission meeting; and

WHEREAS, the City Commission finds that cancelling March 11, 2025 City Commission meeting would be in the best interests of the City of Pahokee.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA:

- **Section 1.** <u>Adoption of Representations</u>. The foregoing "Whereas" clauses are hereby true and correct and incorporated by reference.
- <u>Section 2.</u> <u>Approval</u>. The City Commission hereby cancels the March 11, 2025 City Commission meeting.
- **Section 3.** Effective Date. This Resolution shall be effective immediately upon its passage and adoption.

PASSED and **ADOPTED** this <u>28th</u> day January, 2025.

Keith W. Babb, Jr., Mayor

ATTEST:

Nylene Clarke, CMC, City Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

Burnadette Norris-Weeks, P.A. City Attorney

Moved by: _____

Seconded by: _____

VOTE:

Commissioner Boldin	(Yes)(No)
Commissioner Cowan-Williams	(Yes)(No)
Commissioner McPherson	(Yes)(No)
Vice-Mayor Murvin	(Yes)(No)
Mayor Babb	(Yes)(No)



AGENDA

MEMORANDUM

TO:	Honorable Mayor & City Commissioners
VIA:	Michael E. Jackson, Interim City Manager
FROM:	Office of the City Clerk
SUBJECT:	Appointment to the Zoning/Adjustment/Planning Board
DATE:	January 11, 2025

GENERAL SUMMARY/BACKGROUND:

There are several vacancies on the Zoning/Adjustment/Planning Board. However, the City has received one (1) application of interest for this board; therefore, this item is being presented to fill one (1) vacancy.

BUDGET IMPACT:

N/A

LEGAL NOTE: Defer to the City Attorney.

STAFF RECOMMENDATION:

Staff recommends approval of the item.

ATTACHMENTS:

Resolution 2025-06

RESOLUTION 2025-06

A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, APPOINTING A MEMBER TO THE ZONING/ADJUSTMENT/ PLANNING BOARD; PROVIDING FOR ADOPTION OF REPRESENTATIONS; PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, Article II, Section 19-26 of the City of Pahokee's Code of Ordinances, required that the Zoning/Adjustment/Planning Board terms to be "staggered and set forth in the following manner: One (1) member shall be appointed for a term of (1) year; two (2) members shall be appointed for a term of two (2) years; and two (2) members shall be appointed for a term of three (3) years"; and

WHEREAS, pursuant to Section 19-26 an addition two (2) alternates shall be appointed for a period of three (3) years each and after the initial appointments, successive appoints shall be for a period of three (3) years, except where an appointment is made to fill a vacancy, in which case such appointment shall be for the balance of the term of the member in which the vacancy occurred; and

WHEREAS, the main duties of the board are to address zoning issues, site plans, and variances with a detailed outline of duties to be found in the land development regulations; and

WHEREAS, the current members of the board are Carl Booth, Tamara Dowdell, and Patricia Wallace; and

WHEREAS, the City Commission of the City of Pahokee ("City Commission") desires to appoint an additional member, Francisco Alcala, to the Zoning/Adjustment/Planning Board.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA:

- **Section 1.** <u>Adoption of Representations</u>. The foregoing "Whereas" clauses are hereby true and correct and incorporated by reference.
- <u>Section 2.</u> <u>Appointment of New Member</u>. The City Commission hereby appoints new member Francisco Alcala to the Zoning/Adjustment/Planning Board for a term of two (2) years.
- <u>Section 4.</u> <u>Effective Date</u>. This Resolution shall be effective immediately upon its passage and adoption.

PASSED and **ADOPTED** this <u>28th</u> day January 2025.

ATTEST:

Keith W. Babb, Jr., Mayor

Nylene Clarke, CMC, City Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

Burnadette Norris-Weeks, P.A. City Attorney

Moved by: _____

Seconded by: _____

VOTE:

Commissioner Boldin	(Yes)(No)
Commissioner Cowan-Williams	(Yes)(No)
Commissioner McPherson	(Yes)(No)
Vice-Mayor Murvin	(Yes)(No)
Mayor Babb	(Yes)(No)

RESOLUTION NO. 2025-07

A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, AUTHORIZING THE CITY MANAGER TO SECURE EMERGENCY LOBBYING SERVICES FROM _________AND ENTER INTO AN AGREEMENT BETWEEN _______, AND THE CITY OF PAHOKEE, FLORIDA; PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, the City of Pahokee, Florida ("City") recognizes the importance of monitoring and participating in the state and federal legislative process to protect the interests of the City and its residents; and

WHEREAS, given the impending legislative session slated to begin on March 4, 2025, the City Commission desires to secure emergency lobbying services to support its need to fund certain City projects; and

WHEREAS, the City has selected ______ for professional lobbying services in an amount not to exceed ______ (\$); and

WHEREAS, the City Commission deems lobbying services vitally important to the residents of the City and desires to secure said services consistent with the Agreement attached hereto as Exhibit "A".

NOW THEREFORE, BE IT RESOLVED BY THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, AS FOLLOWS:

Section 1. <u>Adoption of Representations</u>. The foregoing "Whereas" clauses are hereby ratified and confirmed as being true and the same are hereby made a specific part of this Resolution.

<u>Section 2.</u> <u>Authorization of Mayor and City Manager</u>. The City Commission of the City of Pahokee hereby authorizes the Mayor and City Manager to execute the Lobbyist Services Agreement between _______. and the City of Pahokee, attached hereto as Exhibit "A" on an emergency basis. The City Manager is further authorized to take all necessary and expedient action to carry out the intent of this Resolution.

<u>Section 3.</u> <u>Effective Date</u>. This Resolution shall be effective immediately upon its passage and adoption.

PASSED and **ADOPTED** this <u>28th</u> day of January 2025.

Keith W. Babb, Jr., Mayor

ATTESTED:

Nylene Clarke, CMC, City Clerk

APPROVED AS TO LEGAL SUFFICIENCY:

Burnadette Norris-Weeks, P. A. City Attorney

Vote:

Commissioner Boldin	(Yes)	(No)
Commissioner Cowan-Williams	(Yes)	(No)
Commissioner McPherson	(Yes)	(No)
Vice Mayor Murvin	(Yes)	(No)
Mayor Babb	(Yes)	(No)

EXHIBIT "A"

LOBBYIST SERVICES

(ATTACHED)

CITY OF PAHOKEE

LOBBYIST SERVICES

THIS AGREEMENT, made as of the _____ day of ______, 2025, by and between the CITY OF PAHOKEE, Palm Beach County, Florida, a municipal corporation organized and existing under the laws of the State of Florida ("CITY"), and . ("CONSULTANT").

WITNESSETH:

WHEREAS, CONSULTANT is knowledgeable of the City of Pahokee and many of its operations and future plans; and

WHEREAS, the City Commission has determined that it is desirous of entering into a four (4) month agreement with CONSULTANT to provide lobbying services for an amount not to exceed ______ (\$00.00).

NOW, THEREFORE, in consideration of the mutual covenants herein contained, the legal sufficiency of which is hereby acknowledged, the parties agree as follows:

1. SCOPE OF SERVICES:

CONSULTANT's services during the tern of this Agreement shall include but not be limited to:

STATE GOVERNMENT

A. Work with the City Commission and City Manager in developing special or general legislation as directed by the Commission.

- B. Attend the State legislative Session on behalf of the City.
- C. Testify and Lobby on behalf of the City, to the Governor and Cabinet, and all state agencies, on behalf of the CITY.
- D. Appear and testify at State agency hearings, rulemaking proceeding and other administrative and legislative meetings, in order to promote and seek passage of legislation affecting the CITY as directed by the City Commission.
- E. Coordinate appointments/meetings between the Mayor, City Commission, and other City staff, upon request, with appropriate State officials /Legislators.
- F. Report regularly to the City Commission, City Manager, and other applicable staff as designated by the CITY, through correspondence, informational bulletins, and personal briefings concerning legislation, rules, policy and program directions. This will include, but not be limited to, forwarding copies of appropriate bills to CITY; informing CITY of various meetings/hearings attended on CITY's behalf; providing CITY with any applicable interim studies prepared by the House or Senate, clippings information from the Florida Administrative Weekly which may be pertinent to the CITY; and individually meeting with or contacting the Mayor and City Commission on issues, as required by the City.
- G. The CONSULTANT shall provide the City Commission and the City Manager's Office with periodic reports during the time that the Florida Legislature has been called into regular and special session. Additionally, the CONSULTANT shall be required to send immediate alerts to the City Manager and Mayor when an immediate action may be required to be taken by the CITY or any action is being contemplated by the Florida Legislature, which will directly impact the CITY. Furthermore, the CONSULTANT shall assist in arranging trips to Tallahassee for

staff or elected officials when required to address specific issues affecting the CITY. Additionally, the CONSULTANT shall enhance the legislative program process by initiating discussions, conferences and meetings with the CITY, by and through its elected representatives and City Manager within forty-eight (48) hours of complete contract execution. A report summarizing the status of the CITY's legislative priorities shall be provided within one week of the closing of the session and a more detailed final written report on specific legislation and new requirements affecting the CITY shall be provided within a reasonable time period, not to exceed thirty days (30) from the close of session.

- H. CONSULTANT shall prepare and submit periodic written reports (at least monthly) during those months that the legislature is not in session, on issues of interest or concern to the CITY. Such information may include, but not limited to action taken at interim committee meetings, rulemaking hearings, status of studies underway, and advance notice of legislation being proposed.
- CONSULTANT shall upon request by the CITY, assist the CITY in coordinating applications and obtaining State grants. The CONSULTANT is not expected to prepare grant applications.
- J. Support and promote the City's legislative priorities as passed by the City Commission.

FEDERAL GOVERNMENT

CITY intends to engage CONSULTANT on to provide legislative consulting services relating to federal matters before the U.S. Congress, federal administrative agencies and the Executive branch. It is expressly understood between the parties that the City intends to issue an RFP and/or otherwise retain a separate Lobbying Firm for federal lobbying purposes. If the City engages a separate federal lobbyist, the parties agree to reevaluate

the terms of this Agreement.

CONSULTANT shall provide the federal lobbying services as set forth below:

- J. CONSULTANT is expected to attend all scheduled, extended, or special legislative sessions and meetings; federal administrative and agency hearings, meetings, or rule making proceedings; and legal and legislative consulting services.
- K. CONSULTANT shall review on a continuing basis all existing and proposed Federal policies, programs and legislation; identify those issues that may affect the CITY or its citizens, and regularly inform the CITY as to these matters, both written and orally; and to provide legal and legislative expertise and consulting services.
- L. CONSULTANT shall assist the City Commission and staff in the coordination and development of the CITY's federal legislative program. These issues may include: public safety, law enforcement, business attraction and retention, infrastructure improvements, telecommunications, transportation, environmental, affordable housing, economic development, revenue enhancement, mandates and other issues as directed by the Commission.
- M. CONSULTANT shall monitor federal legislative committee meetings, agencies hearings and meetings prior to and during the regular and special legislative session(s) at which specific issues within the CITY's adopted legislative program are considered, as well as others that may arise that affect the CITY.

- N. CONSULTANT shall work with the City Commission and staff to develop special or general federal legislation in keeping with, or that are supportive of, the CITY's adopted legislative program.
- O. CONSULTANT shall develop strategies to obtain and maximize funding for all areas of City services including but not limited to public works, law enforcement, transportation infrastructure, water resources, housing, appropriations and grant programs administered by the Federal government;
- P. CONSULTANT shall coordinate funding, legislation and policy related activities with the United States Congress and Federal agencies; Securing appropriate authorizations and funding from the United States Congress and Federal agencies to implement the CITY'S projects;
- Q. CONSULTANT shall maintain direct and frequent contact with key United States Senators and Representatives, and advocate for the CITY'S interests during the United States legislative and regulatory process;
- R. CONSULTANT shall, upon request, coordinate appointments/meetings between the City Commission or other CITY staff, and appropriate federal officials and legislators.

GENERAL

S. CONSULTANT shall prepare and submit reports that may include but not limited to: personal briefings and information bulletins pertinent to any legislation, rules or regulations, and other federal policies or programs that affect the CITY and its citizens either directly or indirectly. A report summarizing the status of the CITY's legislative priorities shall be provided within one week of the closing of the session and a more detailed final written report on specific legislation and new requirements affecting the CITY shall be provided within a reasonable time period, not to exceed thirty days from the close of session.

- T. CONSULTANT shall prepare and submit periodic written reports (at least monthly) during those months that the legislature is not in session, on issues of interest or concern to the CITY. Such information may include, but not limited to action taken at interim committee meetings, rulemaking hearings, status of studies underway, and advance notice of legislation being proposed.
- U. CONSULTANT shall upon request by the CITY, assist the CITY in coordinating applications and obtaining Federal grants. The CONSULTANT is not expected to prepare grant applications.

2. RESPONSIBILITIES OF THE CITY:

a. CITY shall designate the City Manager as the lead staff person to coordinate with CONSULTANT; however, other individuals may be designated by City Manager.

b. CITY shall have appropriate staff available as required to discuss issues with CONSULTANT. CITY acknowledges that especially during the legislative session, it is important to have the appropriate staff available.

c. CITY shall use its best efforts in cooperating with CONSULTANT in providing the information and documentation necessary to CONSULTANT in the performance of the lobbying services under this agreement.

3. CONSULTANT RESPONSIBILITIES:

CONSULTANT shall perform the scope of services, as set out in Section 1

and throughout this Agreement. This list shall not be deemed all-inclusive and may be changed from time to time as authorized by the City Commission. Consultant shall maintain all licenses, certifications and other requirements to be recognized as a lobbyist by all necessary federal and state entities.

4. **<u>RETAINER</u>**

a. The CITY hereby retains the CONSULTANT, and the CONSULTANT hereby accepts a retainer from the CITY in the amount not to exceed (\$00,00) Dollars for a four month period ("RETAINER") to perform the services as set forth in the Scope of Services.

b. The retainer shall be paid in installments of <u>\$</u> per <u>Month</u> upon presentation of an invoice outlining services rendered during the preceding month, payable in arrears.

c. The retainer shall cover all out-of-pocket expenses incurred by CONSULTANT.

5. **<u>TERM</u>**: The CONSULTANT is retained for a four (4) month period.

6. **EARLY TERMINATION**: The CITY reserves the right to terminate this Lobbyist undertaking at the CITY's convenience.

7. **OFFICE SPACE**: CONSULTANT agrees to make office space available, to the CITY in Tallahassee during the course of this Agreement, which will be accessible to the CITY and its staff while in Tallahassee, if needed. CONSULTANT shall also provide any staff necessary to assist the CITY and its staff while in the Tallahassee and while the Washington, D.C. area.

8. COMPLIANCE WITH RULES AND REGULATIONS: CONSULTANT

agrees to abide by any and all CITY ordinances and resolutions that relate to the services provided pursuant to this Agreement.

9. <u>CONFLICT OF INTEREST</u>: CONSULTANT agrees that it shall not represent any entity in any form or support a position in opposition to a position of the CITY, unless the City Commission grants a specific waiver for a specific lobbying activity. The failure to comply with this provision shall result in either or both of the following:

(i) This Agreement shall be voidable by the CITY or

(ii) CONSULTANT shall be prohibited for a period of up to ten (10) years as determined by the City Commission in its sole discretion from entering into a lobbying contract with the CITY.

10. NOTIFICATION:

a. CONSULTANT shall have the obligation to declare in writing the existence of a conflict and request a waiver, if applicable, within five (5) business days of the discovery of a conflict and after execution of this contract. Consultant shall not lobby the City, its officials or City Manager on any matter during the term of this Agreement.

b. Separate and independent from the above-referenced obligation, CONSULTANT must advise the City Manager, in writing, of any position in opposition that of the CITY, taken by the selected CONSULTANT and at the CITY's discretion, this may require that a request of waiver of such conflict be taken before the City Commission. A position in opposition to a position of the CITY may take the form of an adverse policy position or something having adverse fiscal impact on the CITY, either directly or indirectly. A position in opposition to a position of the CITY is not limited to a position that conflicts with an expressed provision of the legislative package adopted by the City Commission. It may also arise in other areas. Not every CITY interest can be anticipated or enumerated in the CITY's legislative package, and issues arise and change over the course of the legislative process. It is incumbent upon the CONSULTANT to remain mindful of the CITY's policy and fiscal interests and positions. If an actual or perceived conflict arises, CONSULTANT shall advise the City Manager in writing within five business days, and seek a waiver of the conflict before the City Commission, as necessary.

c. Once a conflict waiver has been received by the CITY, the City Manager, in consultation with the City Attorney, reserves the right to determine whether CONSULTANT may continue representing the CITY and the other party's interest until the City Commission can consider the conflict issue. The City Commission may take, in its sole discretion, any action regarding a waiver request, including but not limited to the following:

(i) Grant a waiver and allow the CONSULTANT to continue to represent the both the CITY and the other party;

(ii) Refuse to grant a waiver and require the CONSULTANT to choose between representing the CITY or the other party, or to discontinue representing the other party;

(iii) Refuse to grant a waiver and void this Agreement;

(iv) Grant a limited waiver and allow the CONSULTANT to continue to represent both the CITY and the other party under whatever limitations or restrictions the CITY, in its sole discretion, determines to be proposed appropriate.

11. **<u>AUDIT</u>**: CONSULTANT shall maintain all records produced as a result of this Agreement for at least three (3) years from the date of final payment. The CITY shall have access to such books, records, and documents for the purpose of inspection or audit during normal business hours at a place convenient and agreeable to the CONSULTANT and the CITY.

12. **KEY PERSONNEL:** CONSULTANT agrees that the key personnel who will be providing services to the CITY is ______.

13. **INDEMNIFICATION:** CONSULTANT shall indemnify and hold harmless the CITY, its officers, employees, representatives and agents, from any and all

liability arising out of claims and litigation related to the services to be provided, including any actions that may arise from allegations regarding determination of appropriateness or inappropriateness of care or any errors or omissions related to the service provided.

14. **INSURANCE:** CONSULTANT shall maintain during the term hereof, comprehensive automobile liability insurance in the minimum amount of Five Hundred Thousand (\$500,000.00) dollars, combined single-limit for bodily injury and property damage liability to protect CONSULTANT and CITY from claims of damages for bodily and personal injury, including death, as well as from claims for property damage, which may arise from the ownership, use or maintenance of owned and non-owned automobiles, including rented automobiles, whether such operations be by CONSULTANT or anyone directly or indirectly employed by CONSULTANT. As well, CONSULTANT shall maintain, during the term hereof, comprehensive general liability insurance in the amount of Five Hundred Thousand (\$500,000.00) dollars per occurrence, to protect CONSULTANT and CITY from claims for damages for bodily and personal injury including wrongful death, as well as from claims of property damages which may arise from any operations in connection herewith, whether such operations be by CONSULTANT or by anyone directly employed by or contracting with CONSULTANT. All insurance required hereunder be maintained by CONSULTANT shall be subject to the CITY's reasonable approval as to ratings of the insurer, and such policies, as evidenced by a certificate thereof, shall specifically include CITY an additional insured and provide thirty (30) days written notice to CITY prior to any adverse changes, cancellation or non-renewal coverage thereunder.

15. **<u>BAR ON CONTINGENCY FEES</u>**: No remuneration or reimbursement described herein shall be based upon a "contingency factor" connected with the success or failure of the CONSULTANT's efforts.

16. ATTORNEY'S FEES: Should any dispute arise hereunder, CITY shall be

entitled to recover against CONSULTANT all costs, expenses and attorney's fees incurred by CITY in such dispute, whether or not suit is brought, and such right shall include all of such costs, expenses and attorney's fees through all appeals or other actions.

17. **WAIVER**: No waiver by CITY of any provision of this Agreement shall be deemed to be a waiver of any other provisions hereof or of any subsequent breach by CONSULTANT of the same, or any other provision or the enforcement thereof. CITY's consent to or approval of any act by CONSULTANT requiring CITY's consent or approval shall not be deemed to render unnecessary the obtaining of CITY's consent to or approval of any subsequent consent or approval of CONSULTANT, whether or not similar to the act so consented to or approved.

18. **<u>NON-ASSIGNABILITY</u>**: This Agreement or any portion hereof shall not be assigned or transferred by either party without the written consent of the other party.

19. **NOTICE**: The delivery of any items and the giving of notice in compliance with the terms of this Agreement shall be accomplished by making same, in writing, and by the delivery thereof to the party intended to receive it or by mailing the same to the address of such party as hereinafter set forth. In the event such notice is made by mail, the same shall be given via U.S. mail, Return Receipt Requested and, unless otherwise provided herein, notice or delivery by mail shall be effective when mailed to:

As to CITY: Michael E. Jackson, City Manager City of Pahokee

Telephone: (561) 924-5534 Facsimile: (561) 924-8140

Copy to: Burnadette Norris-Weeks, City Attorney 401 North Avenue of the Arts

Ft. Lauderdale, Florida 33311 Telephone: (954) 768-9770 Facsimile: (954) 768-9790

CONTRACTOR: _____

20. **PUBLIC RECORDS**: To the extent required by law, Consultant shall comply with the public records laws in accordance with Chapter 119, Florida Statutes. Specifically, Consultant agrees to comply with Section 119.0701, Florida Statutes. Public records shall mean all documents, papers, letters, maps, books, tapes, photographs, films, sound recordings, data processing software, or other material, regardless of the physical form, characteristics, or means of transmission, made or received pursuant to law or ordinance or in connection with the transaction of official business by any agency, as defined in Section 119.011, Florida Statutes, as amended. The City shall make the sole determination of which records, if any, are exempt from inspection.

21. **<u>BINDING EFFECT</u>**: All of the terms and provisions of this Agreement shall be binding upon and inure to the benefit of the parties hereto, their respective assigns, successors, legal representatives, heirs and beneficiaries, as applicable.

22. <u>CONSTRUCTION</u>: This Agreement and the terms hereof shall be construed in accordance with the laws of the State of Florida and venue for all actions in a court of competent jurisdiction shall lie in Broward County, Florida.

23. **SEVERABILITY:** Should any word, phrase or provision hereof be declared illegal or invalid by a court of competent jurisdiction, such declaration of illegality and/or invalidity shall not affect the remainder hereof.

24. **ENTIRE AGREEMENT; MODIFICATION:** No statements, representations, warranties, either written or oral, from whatever source arising, except as expressly stated in this Agreement, shall have any legal validity between the parties or be binding upon any of them. The parties acknowledge that this Agreement contains the entire understanding and agreement of the parties. No modifications hereof shall be effective unless made in writing and executed by the parties hereto with the same formalities as this Agreement is executed.

25. **CAPTIONS AND PARAGRAPH HEADINGS:** Captions and paragraph headings contained in this Agreement are for convenience and reference only and in no way define, describe, extend or limit the scope and intent of this Agreement, nor the intent of any provisions hereof.

26. **JOINT PREPARATION:** The preparation of this Agreement has been a joint effort of the parties, and the resulting document shall not, solely as a matter of judicial construction, be construed more severely against one of the parties than the other. It is the parties' further intention that this Agreement be construed liberally to achieve its intent.

27. <u>COUNTERPARTS</u>: This Agreement may be executed in one or more counterparts, each of which shall be deemed to be an original, but all of which shall constitute one and the same agreement.

28. **EXHIBITS ARE INCLUSIONARY:** All exhibits attached hereto or mentioned herein which contain additional terms shall be deemed incorporated herein by reference. Typewritten or handwritten provisions inserted in this form or attached hereto shall control all printed provisions in conflict therewith.

IN WITNESS WHEREOF, the parties have hereunto set their hands and seals the day and year set forth below their respective signatures.

IN WITNESS OF THE FOREGOING, the parties have set their hands and seals the day and year first written above.

CITY OF PAHOKEE

ATTEST:

	BY:	
Nylene Clarke, CMC, City Clerk		Keith W. Babb, Jr., Mayor
APPROVED AS TO FORM		
Burnadette Norris-Weeks, City Attorney		Michael E. Jackson, City Manager
		CONTRACTOR
WITNESSES:		·
		Ву:
		Date:

ATTEST:

SECRETARY

STATE OF FLORIDA

COUNTY OF PALM BEACH

SS:

BEFORE ME, an officer duly authorized by law to administer oaths and take acknowledgments, personally appeared ______ as _____, of , a Florida corporation, and acknowledged executed the foregoing Agreement as the proper official of ______, for the use and purposes mentioned in it and affixed the official seal of the corporation, and that the instrument is the act and deed of that corporation.

IN WITNESS OF THE FOREGOING, I have set my hand and official seal at in the State and County aforesaid on this _____ day of ______, 2025.

NOTARY PUBLIC

My Commission Expires:

RESOLUTION 2025-08

A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, APPROVING A CONTRACT WITH MICHAEL E. JACKSON TO BECOME THE CITY MANAGER FOR THE CITY OF PAHOKEE, FLORIDA, ATTACHED AS EXHIBIT "A".

WHEREAS, the City Commission of the City of Pahokee desires to employ the services of a City Manager pursuant to the terms of the City of Pahokee's City Charter; City of Pahokee's Code of Ordinances, applicable County Code provisions and Florida law; and

WHEREAS, it is the desire of the City Commission to provide certain benefits and establish certain conditions of employment for a City Manager in accordance with the attached Agreement; and

WHEREAS, it is further the desire of the City Commission to secure and retain the services of Michael E. Jackson as City Manager; and

WHEREAS, City Manager desires to accept employment as the City Manager in accordance with the terms and conditions of the Agreement attached hereto as Exhibit "A".

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COMMISSION OF THE CITY OF PAHOKEE AS FOLLOWS:

Section 1. <u>Adoption of Representations.</u> The foregoing "Whereas" clauses are hereby ratified and confirmed as being true and the same are hereby made a specific part of this Resolution.

Section 2. <u>Appointment as City Manager</u>. The City Commission of the City of Pahokee, Florida hereby appoints Michael E. Jackson as the City Manager pursuant to the terms and conditions set forth in the Agreement attached hereto as Exhibit "A".

Section 3. <u>Effective Date</u>. This Resolution shall be effective immediately upon its passage and adoption.

PASSED AND ADOPTED this <u>28th</u> day of January, 2024.

Page 1 of 3 (Res 2025-08)

Keith W. Babb, Jr., Mayor

ATTESTED:

Nylene Clarke, CMC, City Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

Burnadette Norris-Weeks, P.A. City Attorney

Moved by: _____

Seconded by: _____

VOTE:

Commissioner Boldin	(Yes)(No)
Commissioner Cowan-Williams	(Yes)(No)
Commissioner McPherson	(Yes)(No)
Vice-Mayor Murvin	(Yes)(No)
Mayor Babb	(Yes)(No)

EXHIBIT "A"

CONTRACT OF CITY MANAGER

(ATTACHED)

CITY MANAGER EMPLOYMENT AGREEMENT BETWEEN

MICHAEL E. JACKSON

AND

THE CITY OF PAHOKEE, FL

THIS EMPLOYMENT AGREEMENT hereinafter called "Agreement", is made and entered into as of the _____ day of ______, 2024, by and between the City of Pahokee (hereinafter "City" or "Employer"), a political subdivision of the State of Florida, 207 Begonia Drive, Pahokee, FL 33476 and Michael E. Jackson (hereinafter "City Manager').

WHEREAS, the Commission desires to employ the services of City Manager pursuant to the terms of the City of Pahokee's City Charter; City of Pahokee's Code of Ordinances, applicable County Code provisions and Florida law; and

WHEREAS, it is the desire of the Commission to provide certain benefits and establish certain conditions of employment for Michael E. Jackson in accordance with this Agreement; and

WHEREAS, it is the desire of the Commission to secure and retain the services of Michael E. Jackson to provide inducement to remain in such employment; and

WHEREAS, Michael E. Jackson desires to accept employment as the City Manager in accordance with the terms and conditions of this Agreement.

NOW, THEREFORE, in consideration of the covenants and mutual promises set forth herein, the parties agree as follows:

Section 1. Employment Agreement.

- A. The Commission hereby hires and appoints City Manager, under the terms established herein, to perform the duties and functions specified in the Charter, the City Code, County Code, if applicable, and state law pertaining to the position of City Manager, and to perform such other legally permissible and proper duties and functions as the Commission shall assign from time to time.
- B. Nothing in this Agreement shall prevent, limit or otherwise interfere with the right of the City Manager to resign at any time from his position as the City Manager, subject only to the provisions set forth in this Agreement and the City of Pahokee Code of Ordinances.
- C. It shall be the duty of the City Manager to employ, direct, assign, reassign, evaluate, and accept the resignations of City Staff under his supervision consistent with the City rules,

policies, ordinances, charter, county, state and federal law. The City Manager will serve as the chief executive officer of the City.

- D. It shall be the duty of the City Manager to organize, reorganize and arrange the City Staff of the City and to develop and establish internal regulations, rules, and procedures which the City Manager deems necessary for the efficient and effective operation of the City consistent with the lawful City directives, policies, ordinances, city charter, county, state and federal law.
- E. The City Manager shall perform the duties of City Manager of the City with reasonable care, diligence, skill and experience.

Section 2. Term.

- A. This contract shall commence on on the date of execution by the last party to the agreement subject to the provisions of the Agreement and the City Charter.
- B. This Agreement shall not prevent, limit or otherwise interfere with the right of City Manager to resign at any time from his position with the City, provided he provides the City thirty (30) days' notice in advance. If City Manager resigns, the lump sum for all sick time and vacation time remaining shall be due to the City Manager within thirty (30) days. City may set an earlier departure date at City's option upon receipt of a resignation letter from the City Manager.

Section 3. Duties and Obligations.

- A. The City Manager shall have the duties, responsibilities and powers of said office under the City of Pahokee Charter, applicable City and County Code of Ordinances, statutes, laws, constitutional provisions and policies applicable to the position of City Manager. The City Manager shall carry these out in a professional and competent manner.
- B. The City Manager shall remain in the exclusive employ of the City and shall devote all such time, attention, knowledge and skills necessary to faithfully perform his duties and responsibilities, and to exercise his powers under this Agreement. The City Manager may elect to accept limited teaching and consulting opportunities with the understanding that such arrangements neither constitute interference with nor conflict of interest with any responsibilities under this Agreement provided a request is made by the City Manager during a publicly noticed City Commission meeting and is approved by a majority vote of the City Commission.
- C. In the event the City Manager shall serve on any appointed or elected board of any professional organization or serve on any committees related to his professional activities, in the event any monies are paid, or gifts received, by him related to such service, such money or property shall be paid over to or delivered to the City, unless otherwise approved by the City Commission.

D. Professional Obligations. During the period of this Agreement, the City Manager shall adhere to the ICMA Code of Ethics, the Code of Ethics of the State of Florida, and the Code of Ethics of the Palm Beach County, Florida and the City of Pahokee. The City Manager shall not seek or accept any personal enrichments or benefits derived from confidential information or misuse of public office.

Section 4. Termination of this Contract and Disability.

Termination of this contract shall be in accordance with the procedures set forth in 3.03 of the City of Pahokee's City Charter and this section:

A. Without Cause

The City, upon a majority vote of its commission members, may terminate this contract without cause subject to the City's Charter and Code of Ordinances.

B. With Cause

In the event the City decides to terminate this contract for cause, the City shall not owe City Manager any compensation other that the Regular Compensation due him for all time worked through and including the date of termination and 100% of unused sick time and vacation time if not already used for the year of termination. The City Manager shall provide to the City Commission with an annual accounting of accrued sick and vacation time no later than December 31st of each year. The City Commission's determination of cause shall be final and conclusive. "Cause" is defined as:

- (1) Misfeasance and/or nonfeasance in the performance of his City Manager duties and responsibilities
- (2) A plea agreement, a plea or nolo contendere, or a conviction of a felony or misdemeanor, whether or not adjudication is withheld, involving conduct contrary to contrary to the community's standards of justice.
- (3) Unsatisfactory performance based on Annual Evaluation criteria where City Manager failed to meet reasonable written performance goals and objectives agreed to by the City Commission in a duly called meeting. City Manager shall be reviewed and evaluated on written performance goals and objective criteria established by the City Commission.
- (4) Disability

a. If the City Manager is permanently disabled or is otherwise unable to perform his duties because of sickness, accident, injury, mental incapacity or health for a period of eight successive weeks, the City shall have the option to terminate this Agreement, in accordance with the provisions and requirements of Section 4A (without cause) of the

3

contract. Any payments due to City Manager will be offset by any disability benefits City Manager receives from or through the City for the eight (8) week period.

b. Where necessary, to determine whether to continue the services of City Manager due to a disability, the City reserves the right to require a physical or psychiatric examination by a qualified physician or psychiatrist to be chosen by the City from a list of at least three doctors approved by the City. In the event such an examination is required, the City will pay all costs of said examination.

Section 5. Compensation and Manager Benefits

- A. Base Salary. Employer shall pay to the Manager a Base Salary of One Hundred Twenty Thousand (\$120,000.00) Dollars for the first 12 months, plus other benefits enumerated herein, payable on the regular pay periods of the City. This Agreement may be amended at any time and shall be reduced to writing following City Commission approval. In addition, consideration shall be given on an annual basis to any increase in compensation.
- B. Performance Review Period. Annually, beginning from the date of hire, subject to a process, form, criteria, and format for the evaluation, which shall be mutually agreed upon by the City Commission and the Manager at a meeting of the City Commission, and every year thereafter, the Commission shall conduct a review of City Manager's performance ("Performance Review") and may evaluate his salary and benefits as may be appropriate.
- C. Benefits. City shall provide for City Manager's health care, dental and eye benefit deductions as provided to other full-time employees of the City. City agrees to pay the 4% contribution of the C i t y Manager's gross base salary as retirement contribution in his retirement fund under the Florida Retirement System (FRS) towards the City Manager's retirement. City Manager agrees to comply with the requirements as set forth in the FRS and contribute to his retirement fund in accordance therewith.
- D. Vacation/Sick Leave. Upon commencing employment, the Manager shall be credited with (thirty) 30 hours of sick leave and forty (40) hours of vacation leave. In addition, beginning the first day of employment, the Manager shall accrue sick leave and vacation time on an annual basis, at a minimum, at the highest rate provided or available to any other department head employees, under the same rules and provisions applicable to other department head employees. City Manager shall qualify for all other categories of leave afforded to all other employees of the City to include Bereavement, Holiday, Jury Duty and Court Appearances while conducting the business of the City.
- E. Memberships. Employer shall pay all professional association membership dues, and expenses relating to Manager's professional programs, not to exceed Three Thousand Dollars (\$3,000.00) per year.

F. Bonding. The City shall bear the full cost of any fidelity or other bonds that may be required of the City Manager under any city, state and/or federal law.

Section 6. Other Benefits.

The City Manager shall be entitled to the following:

- A. Technology Allowance. The City shall provide the City Manager with an allowance of Two Hundred Dollars (\$200.00) per month to be used for City purposes only. In the alternative, the City Manager may also elect to be a part of the City's mobile use plan for monthly cellular service.
- B. The City Manager's duties require exclusive use of a vehicle to be mutually agreed upon and provided to the Manager at the Employer's cost. It shall be agreed upon whether the vehicle is purchased, leased or provided by a monthly allowance to the Manager by the Employer. City Manager shall be reimbursed for reasonable, documented, travel and lodging expenses, incurred while conducting business on behalf of the City outside of Palm Beach County, Miami-Dade and Broward Counties and after approval by the City Commission.

Section 7. Terms and Conditions of Employment

The City Manager shall be required to perform the terms of this Agreement and all requirements as specified in Section 3.04 of the City of Pahokee's Charter. Other terms and conditions of employment may be required so long as not inconsistent or in conflict with the provisions of State law, County Ordinance, City Charter, City Ordinance, County ethics Ordinances or other applicable law.

Section 8. Notices

Notice pursuant to this Agreement shall be given by depositing in the custody of the United States Postal Service by certified mail return receipt, or any other certified delivery service showing confirmation of process delivery and directed to the City Mayor and City Attorney at its main law office addresses. As to the City Manager, notice may be made by hand-delivery at the Officers of the City Hall (if City Manager is working for City) or by certified delivery service showing confirmation of process at the last known address City Manager as maintained within the City Manager's employment file or other reliable source.

Section 9. Entire Agreement

The text of this document shall constitute the entire Agreement between the parties, except as may be amended in writing by the parties hereto. All provisions contained in this Agreement are subject to and conditioned upon compliance with the City Charter, City Code of Ordinances, applicable County laws to include Ethics Ordinances and other applicable requirements, state statutes, state constitutional provisions, regulations, resolutions, and policies. The Charter, the County Codes, state statutes and constitutional provisions shall take precedence over any part or

portion of this Agreement and any other provisions of this Agreement to the contrary notwithstanding.

Any terms, conditions and benefits not specifically addressed in this Agreement shall not apply to this Agreement.

IN WITNESS WHEREOF, the parties hereto have caused this Agreement to have been executed on behalf of each as of the date and year first above written.

CITY MANAGER:

Michael E. Jackson, City Manager

THE City:

City Commission of Pahokee, a political subdivision of the State of Florida:

By: _____ Keith Babb, City Mayor

Attest:

City Clerk



AGENDA

MEMORANDUM

TO:	HONORABLE MAYOR & CITY COMMISSIONERS
VIA:	MICHAEL JACKSON, CITY MANAGER
FROM:	Jongelene Adams, Community & Economic Development
SUBJECT:	Big Dog Express of South Florida. Inc Hurricane Milton Storm Debris Removal
DATE:	January 21, 2025

GENERAL SUMMARY/BACKGROUND:

The City of Pahokee was in need of storm debris removal from Hurricane Milton that occurred on October 12, 2024. The City Manager approved emergency storm debris removal services by our contracted waste management provider Big Dog Express and is now seeking ratification from the City Commission for the services rendered from October 12, 2024 to October 21, 2024 costs.

Big Dog Express of South Florida, Inc, removed 7,440.54 cubic yards of storm debris these costs are for loading, hauling (trucking) to debris site located in Pahokee, grinding and hauling to final destination for disposal of vegetation waste.

BUDGET IMPACT: Yes - \$143,973.34 – reimbursable by FEMA

LEGAL NOTE: N/A

STAFF RECOMMENDATION:

The Public Works Department recommends approval of Big Dog Express of South Florida Inc. Hurricane Milton storm debris removal invoices totaling \$143,973.34.

ATTACHMENTS:

Resolution 2025-09 Executive Order – State of Florida DEM Order #24-014 Big Dog Express Invoices

RESOLUTION 2025-09

A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA, AUTHORIZING AND RATIFYING THE INVOICE FROM BIG DOG EXPRESS OF SOUTH FLORIDA INC., FOR HURRICANE MILTON DEBRIS REMOVAL, FOR THE INVOICES ATTACHED HERETO AS EXHIBIT "A", AND FURTHER RATIFYING STORM DEBRIS REMOVAL FROM OCTOBER 12, 2024 TO OCTOBER 21, 2024; PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, the City of Pahokee ("City") was in need of debris removal from October 12, 2024, through October 21, 2024 due to Hurricane Milton; and

WHEREAS, an Executive Order was issued from the State of Florida for affected areas to include Palm Beach County on October 13, 2024, related to the hurricane; and

WHEREAS, the City Manager approved emergency removal of storm debris from the City's waste hauler and is now seeking ratification from the City Commission for the following services and costs:

- **1)** From October 12, 2024 to October 21, 2024 Big Dog Express of South Florida, Inc. removed 7440.54 yards of storm debris throughout the City of Pahokee.
- **2)** Debris removal for City of Pahokee by waste hauler Big Dog Express of South Florida, Inc. should be for a costs not to exceed \$143,973.34 for the invoices set forth in Exhibit "A."

WHEREAS, all costs are to be fully reimbursed by the Federal Emergency Management Agency (FEMA); and

WHEREAS, the City Commission desires to ratify the costs of services paid to Big Dog Express of South Florida, Inc., as set forth in Exhibit "A", as in the best interests of the City of Pahokee.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COMMISSION OF THE CITY OF PAHOKEE, FLORIDA AS FOLLOWS:

Section 1. <u>Adoption of Representations</u>. The foregoing "Whereas" clauses are hereby ratified and confirmed as being true and the same are hereby made a specific part of this Resolution.

- <u>Section 2.</u> <u>Authorization of City Manager</u>. The City Commission of the City of Pahokee hereby authorizes and ratifies costs for hurricane removal services in an amount not to exceed \$143,973.34 for the invoices set forth in Exhibit "A."
- **Section 3.** <u>Effective Date</u>. This Resolution shall be effective immediately upon its passage and adoption.

PASSED and **ADOPTED** this <u>28th</u> day of January, 2025.

Keith W. Babb, Jr., Mayor

ATTEST:

Nylene Clarke, City Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

Burnadette Norris-Weeks, P.A. City Attorney

Moved by: _____

Seconded by: _____

<u>VOTE:</u>		
Commissioner Boldin	(Yes)	(No)
Commissioner Cowan-Williams	(Yes)	(No)
Commissioner McPherson	(Yes)	(No)
Vice-Mayor Murvin	(Yes)	(No)
Mayor Babb	(Yes)	(No)

EXHIBIT "A" BIG DOG EXPRESS OF SOUTH FLORIDA, INC. HURRICANE MILTON STORM DEBRIS REMOVAL INVOICES FOR LOADING, HAULING, GRINDING AND TRANSPORT TO FINAL DISPOSAL

691 E Main Street Pahokee, FL 33476

Invoice

Date	Invoice #
10/12/2024	11618

Bill To

Date 10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

					P.O. No	-	Terms	F	Project
Date	Ticke	et #		Description			Quantity	Rate	Amount
2/2024	101			ne Milton Debris Removal-		uling	22.5	8.40	189.00
2/2024	102		2024 Hurricai	ebris site in Pahokee, Phase ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Ha	uling	20	8.40	168.00
2/2024	103		2024 Hurricain	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Ha	uling	21.25	8.40	178.50
2/2024	104		2024 Hurricain	ne Milton Debris Removal-	Loading and Hau	uling	20	8.40	168.00
2/2024	105		2024 Hurricain	ebris site in Pahokee, Phase ne Milton Debris Removal-J ebris site in Pahokee, Phase	Loading and Ha	ling	21.25	8.40	178.50
2/2024	106		2024 Hurricain	ne Milton Debris Removal-J	Loading and Hau	ling	20	8.40	168.00
2/2024	107		2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-I	Loading and Hau	ıling	18.75	8.40	157.50
2/2024	108		2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-I	Loading and Hau	ling	20	8.40	168.00
2/2024	109		(trucking) to d 2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-I	1 Reclamation	ling	17.92	8.40	150.53
2/2024	110			ebris site in Pahokee, Phase 1e Milton Debris Removal-I		ling	20	8.40	168.00
2/2024	111		(trucking) to de	ebris site in Pahokee, Phase	1 Reclamation				
	111		(trucking) to de	le Milton Debris Removal-I ebris site in Pahokee, Phase	1 Reclamation		21.25	8.40	178.50
2/2024	112		2024 Hurricain	e Milton Debris Removal-I ebris site in Pahokee, Phase	oading and Hau	ling	20	8.40	168.00
2/2024	113		2024 Hurricain	e Milton Debris Removal-L	oading and Hau	ling	21.25	8.40	178.50
./2024	114		(trucking) to de 2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-L	1 Reclamation	ling	22.5	8.40	189.00
/2024	115		(trucking) to de	ebris site in Pahokee, Phase e Milton Debris Removal-L	1 Reclamation		20	8.40	
/2024	116		(trucking) to de	bris site in Pahokee, Phase	1 Reclamation	-			168.00
	110		(trucking) to de	e Milton Debris Removal-L bris site in Pahokee, Phase	oading and Hau 1 Reclamation	ling	20	8.40	168.00
/2024	120		2024 Hurricain (trucking) to de	e Milton Debris Removal-L bris site in Pahokee, Phase	oading and Hau 1 Reclamation	ling	19.2	8.40	161.28
						Tot	rol		
Pho	ne #		Fax #	E-mail		101	.ai		
561-92	24-9250	561	-924-9252	tuiwarehouse@yah	oo.com				45

Ship To

45

691 E Main Street Pahokee, FL 33476

Invoice

Date	Invoice #
10/12/2024	11618

Bill To

Date

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.		Terms	F	Project	
Date	Ticket	#	Description			Quantity	Rate	Amount	
2/2024	121		ne Milton Debris Removal		ing	17.92	8.40	150.53	3
2/2024	122	2024 Hurricai	lebris site in Pahokee, Phas ne Milton Debris Removal lebris site in Pahokee, Phas	-Loading and Hauli	ing	23.04	8.40	193.54	ŀ
2/2024	123	2024 Hurricai	ne Milton Debris Removal- lebris site in Pahokee, Phas	Loading and Hauli	ng	24.32	8.40	204.29	,
2/2024	124	2024 Hurricai	ne Milton Debris Removal- lebris site in Pahokee, Phas	Loading and Hauli	ng	19.2	8.40	161.28	
2/2024	125	2024 Hurricai	ne Milton Debris Removal- lebris site in Pahokee, Phas	Loading and Hauli	ng	20.48	8.40	172.03	
2/2024	126	2024 Hurricai	ne Milton Debris Removal- lebris site in Pahokee, Phas	Loading and Hauli	ng	21.76	8.40	182.78	
2/2024	127	2024 Hurricai	ne Milton Debris Removal- lebris site in Pahokee, Phas	Loading and Hauli	ng	21.76	8.40	182.78	
2/2024	128	2024 Hurricai	ne Milton Debris Removal- lebris site in Pahokee, Phase	Loading and Hauli	ng	19.2	8.40	161.28	
2/2024	129	2024 Hurricai	ne Milton Debris Removal- bebris site in Pahokee, Phase	Loading and Hauli	ng	17.92	8.40	150.53	
2/2024	130	2024 Hurricai	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Haulin	ng	21.76	8.40	182.78	
2/2024	131	2024 Hurricai	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hauli	ng	23.04	8.40	193.54	
2/2024	132	2024 Hurricai	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Haulin	ng	24.32	8.40	204.29	
2/2024	133	2024 Hurricain	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Haulin	ng	21.76	8.40	182.78	
2/2024	134	2024 Hurricai	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hauli	ng	20.48	8.40	172.03	
2/2024	135	2024 Hurricain	ebris site in Pahokee, Phase	Loading and Haulin	ng	21.76	8.40	182.78	
/2024	136	2024 Hurricai	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Haulin	ng	19.2	8.40	161.28	
/2024	137	2024 Hurricain	ebris site in Pahokee, Phase	Loading and Haulir	ng	21.76	8.40	182.78	
			1		Tet				=
Pho	ne #	Fax#	E-mail		Tota	al			
561-92	4-9250	561-924-9252	tuiwarehouse@ya	hoo.com					46
			Pade	2					

691 E Main Street Pahokee, FL 33476

Invoice

Date	Invoice #
10/12/2024	11618

Bill To

Date 10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Date Ticket # Description Quantity Rate Amount 22024 138 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.48 8.40 172.03 22024 148 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.48 8.40 172.03 22024 160 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 23.04 8.40 193.54 22024 169 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 24.32 8.40 165.31 22024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 165.31 22024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 175.64 22024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 175.64 22024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Paho					P.O. No.		Terms		Project
138 2024 Finite Participant 2/2024 138 2024 Hurricaine Milhon Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.48 8.40 172.03 2/2024 148 2024 Hurricaine Milhon Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.48 8.40 172.03 2/2024 160 2024 Hurricaine Millon Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 21.76 8.40 182.78 2/2024 169 2024 Hurricaine Millon Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 24.32 8.40 193.54 2/2024 181 2024 Hurricaine Millon Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.68 8.40 165.31 2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 184 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>									
2/2024 148 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.48 8.40 172.03 2/2024 160 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 21.76 8.40 182.78 2/2024 169 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 23.04 8.40 193.54 2/2024 179 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 24.32 8.40 165.31 2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation<	Date	Ticket #	Ł	Description			Quantity	Rate	Amount
2/2024 148 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.48 8.40 172.03 2/2024 160 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 21.76 8.40 182.78 2/2024 169 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 23.04 8.40 193.54 2/2024 179 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 24.32 8.40 165.31 2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation<	2/2024	138	2024 Hurricair	e Milton Debris Removal.	Loading and Har	ling		8 40	
2/2024 160 17.16 2/2024 160 2024 Hurricaine Milton Debris Removal-Loading and Hauling (rrucking) to debris site in Pahokee, Phase I Reclamation 21.76 8.40 182.78 2/2024 169 2024 Hurricaine Milton Debris Removal-Loading and Hauling (rrucking) to debris site in Pahokee, Phase I Reclamation 23.04 8.40 193.54 2/2024 179 2024 Hurricaine Milton Debris Removal-Loading and Hauling (rrucking) to debris site in Pahokee, Phase I Reclamation 24.32 8.40 165.31 2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (rrucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (rrucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (rrucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (rrucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 185 2024 Hurricaine Milton Debris							20.10	0.10	172.05
2/2024 160 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 21.76 8.40 182.78 2/2024 169 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 23.04 8.40 193.54 2/2024 179 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 24.32 8.40 165.31 2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 165.31 2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 2/2024 186 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation<	2/2024	148				ıling	20.48	8.40	172.03
10.10 11.10 11.10 11.10 2/2024 169 2024 Hurricaine Milton Debris Removal-Loading and Hauling 23.04 8.40 193.34 2/2024 179 2024 Hurricaine Milton Debris Removal-Loading and Hauling 24.32 8.40 204.29 2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling 19.68 8.40 165.31 2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling 19.68 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling 20.91 8.40 185.98 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling 20.91 8.40 175.64 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling 172.2 8.40 144.65 2/2024 185	2/2024	160				ling	21.76	P 40	190 79
2/2024 169 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 23.04 8.40 193.54 2/2024 179 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 24.32 8.40 165.31 2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.68 8.40 165.31 2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahoke, Phase 1 Reclamation 20.91 8.40 165.39 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahoke, Phase 1 Reclamation 20.91 8.40 144.65 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 154.98	2/2027	100				unig	21.70	8.40	162.76
2/2024 179 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 24.32 8.40 204.29 2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.68 8.40 165.31 2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 186 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 187 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64	2/2024	169				ling	23.04	8.40	193.54
22024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 21.02 0.10 101.29 22024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 19.68 8.40 165.31 22024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 22024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 20.91 8.40 175.64 22024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 17.22 8.40 144.65 22024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 17.22 8.40 154.98 22024 186 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 175.64 175.64 22024 187 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase I Reclamation 19.2									
2/2024 181 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.68 8.40 165.31 2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 17.22 8.40 144.65 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 18.45 8.40 154.98 2/2024 186 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 18.45 8.40 156.4 2/2024 187 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.2 8.40 165.31	2/2024	179				ling	24.32	8.40	204.29
2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 22.14 8.40 185.98 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 17.22 8.40 144.65 2/2024 186 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 18.45 8.40 154.98 2/2024 187 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.2 8.40 161.28 2/2024 188 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation </td <td>2/2024</td> <td>181</td> <td>(trucking) to d</td> <td>ebris site in Pahokee, Phase Milton Debris Removal</td> <td>e 1 Reclamation</td> <td>line</td> <td>10 69</td> <td>0 10</td> <td>165.21</td>	2/2024	181	(trucking) to d	ebris site in Pahokee, Phase Milton Debris Removal	e 1 Reclamation	line	10 69	0 10	165.21
2/2024 182 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 183 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 185.98 2/2024 184 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 20.91 8.40 175.64 2/2024 185 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 17.22 8.40 144.65 2/2024 186 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 18.45 8.40 154.98 2/2024 186 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 18.45 8.40 154.98 2/2024 187 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.2 8.40 165.31 2/2024 188 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 19.68 8.40 165.31	2/2024	101	(trucking) to de	bris site in Pahokee Phase	- 1 Reclamation	ling	19.68	8.40	165.31
2/2024183(trucking) to debris site in Pahokee, Phase 1 Reclamation (trucking) to debri	2/2024	182	2024 Hurricair	e Milton Debris Removal-	Loading and Hau	ling	20.91	8 40	175 64
v2024184Construction Park Network Phase 1 Reclamation (trucking) to debris site in Pahokee, Phase 1 Reclamation (trucking) to debris site in Pah			(trucking) to de	bris site in Pahokee, Phase	e 1 Reclamation	Ŭ,	20.91	0.10	175.04
2/20241842024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation20.918.40175.64//20241852024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation17.228.40144.65//20241862024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation18.458.40154.98//20241872024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation20.918.40175.64//20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.28.40161.28//20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.31//20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31//20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31//20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31//20241922024 Hurricaine Milton Deb	2/2024	183	2024 Hurricain	e Milton Debris Removal-	Loading and Hau	ling	22.14	8.40	185.98
1/20241851/20241/20241852024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation1/20241862024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation18.458.40154.98//20241872024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation20.918.40175.64//20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.28.40161.28//20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.31//20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31//20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31//20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31//20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31//20241922024 Hurricaine M		1.01							
1852024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation17.228.40144.651/20241862024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation18.458.40154.981/20241872024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation20.918.40175.641/20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.28.40161.281/20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.311/20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.311/20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31 <td>2/2024</td> <td>184</td> <td></td> <td></td> <td></td> <td>ling</td> <td>20.91</td> <td>8.40</td> <td>175.64</td>	2/2024	184				ling	20.91	8.40	175.64
1/2024186(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation (trucking) to debri	2/2024	185	2024 Hurricain	e Milton Debris Removal-	e 1 Reclamation	ling	17.22	9.40	144 65
1/20241862024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation18.458.40154.981/20241872024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation20.918.40175.641/20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.28.40161.281/20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.311/20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40 <td>2,2024</td> <td></td> <td>(trucking) to de</td> <td>bris site in Pahokee Phase</td> <td>1 Reclamation</td> <td>ing</td> <td>17.22</td> <td>0.40</td> <td>144.03</td>	2,2024		(trucking) to de	bris site in Pahokee Phase	1 Reclamation	ing	17.22	0.40	144.03
/2024187(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation20.918.40175.64/20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.28.40161.28/20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.31/20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.31/20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauli	2/2024	186				ling	18,45	8.40	154.98
1/20241881/20241881/20241881/20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.28.40161.281/20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.311/20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311/2024192561-924-9252tuiwarehouse@yahoo.com1 <t< td=""><td></td><td></td><td>(trucking) to de</td><td>bris site in Pahokee, Phase</td><td>e 1 Reclamation</td><td>Ũ</td><td></td><td></td><td>10 119 0</td></t<>			(trucking) to de	bris site in Pahokee, Phase	e 1 Reclamation	Ũ			10 119 0
/20241882024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.28.40161.28/20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation19.688.40165.31/20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/2024192561-924-9250561-924-9252tuiwarehouse@yahoo.comTotal	2/2024	187	2024 Hurricain	e Milton Debris Removal-	Loading and Hau	ling	20.91	8.40	175.64
101.20101.20101.20120241891892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.3120241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.3120241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.312024561-924-9250561-924-9252tuiwarehouse@yahoo.comTotal </td <td>10004</td> <td>100</td> <td></td> <td></td> <td></td> <td></td> <td>1</td> <td></td> <td></td>	10004	100					1		
1/20241892024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling 23.37196.311922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation (trucking) to debris site in Pahokee, Phase 1 ReclamationTotal1922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.3120241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40561-924-9250561-924-9252tuiwarehouse@yahoo.comTotal	./2024	188				ling	19.2	8.40	161.28
1901911911911911902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling 23.3723.378.40196.311912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.311922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31195.50561-924-9252tuiwarehouse@yahoo.comTotal	/2024	189				ling	10.68	8 10	165 21
/20241902024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling 23.3723.378.40196.31/20241912024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31/2024192561-924-9252tuiwarehouse@yahoo.comTotal196.31		105				illing	19.00	0.40	165.51
/2024191(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling 2024 Hurricaine Milton Debris Removal-Loading and Hauling 2024 Hurricaine Milton Debris Removal-Loading and Hauling 23.3723.378.40196.31/20241922024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation (trucking) to debris site in Pahokee, Phase 1 Reclamation23.378.40196.31Phone #Fax #E-mailTotal561-924-9250561-924-9252tuiwarehouse@yahoo.com561-924-9252	2/2024	190				ling	23.37	8.40	196.31
192 (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee. Phase 1 Reclamation 23.37 8.40 196.31 Phone # Fax # E-mail Total 561-924-9250 561-924-9252 tuiwarehouse@yahoo.com			(trucking) to de	bris site in Pahokee, Phase	1 Reclamation				
192 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee. Phase 1 Reclamation 23.37 8.40 196.31 Phone # Fax # E-mail Total 561-924-9250 561-924-9252 tuiwarehouse@yahoo.com Image: Comparison of the section of the	/2024	191				ling	23.37	8.40	196.31
(trucking) to debris site in Pahokee. Phase 1 Reclamation Los / One Phone # Fax # E-mail 561-924-9250 561-924-9252 tuiwarehouse@yahoo.com	12024	102							
Phone # Fax # E-mail Total 561-924-9250 561-924-9252 tuiwarehouse@yahoo.com Image: Comparison of the second	/2024	192				ling	23.37	8.40	196.31
Phone # Fax # E-mail 561-924-9250 561-924-9252 tuiwarehouse@yahoo.com				ons she in ranokee, Fliase	1 Reelamation				
	Pho	one #	Fax #	E-mail		Tot	al		
	561-92	24-9250	561-924-9252	tuiwarehouse@val	ioo.com				
1 640 0				0.					

691 E Main Street Pahokee, FL 33476

Invoice

Date	Invoice #
10/12/2024	11618

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms	F	Project
Date	Ticket #	E	Description		Quantity	Rate	Amount
0/12/2024	193	2024 Hurricair	e Milton Debris Removal-	Loading and Hauling	23.37	8.40	196.31
0/12/2024	194	2024 Hurricair	ebris site in Pahokee, Phase e Milton Debris Removal-	Loading and Hauling	19.68	8.40	165.31
0/12/2024	195	2024 Hurricain	ebris site in Pahokee, Phas e Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hauling	20.91	8.40	175.64
0/12/2024	196	2024 Hurricain	e Milton Debris Removal- bris site in Pahokee, Phase	Loading and Hauling	22.14	8.40	185.98
0/12/2024	198	2024 Hurricair	e Milton Debris Removal- bris site in Pahokee, Phase	Loading and Hauling	21.76	8.40	182.78
0/12/2024	201	(trucking) to de	e Milton Debris Removal- bris site in Pahokee, Phase	e 1 Reclamation	21.25	8.40	178.50
0/12/2024	202		e Milton Debris Removal- bris site in Pahokee, Phase		22.5	8.40	189.00
0/12/2024	203	2024 Hurricain	(trucking) to debris site in Pahokee, Phase 1 Reclamation2024 Hurricaine Milton Debris Removal-Loading and Hauling(trucking) to debris site in Pahokee, Phase 1 Reclamation				178.50
0/12/2024	205	2024 Hurricain (trucking) to de	2024 Hurricaine Milton Debris Removal-Loading and Hauling22.58.40189.(trucking) to debris site in Pahokee, Phase 1 Reclamation21.5189.				189.00
)/12/2024	206		e Milton Debris Removal- bris site in Pahokee, Phase		21.25	8.40	178.50
0/12/2024	207	(trucking) to de	e Milton Debris Removal- bris site in Pahokee, Phase	e 1 Reclamation	20	8.40	168.00
)/12/2024	208	(trucking) to de	e Milton Debris Removal- bris site in Pahokee, Phase	e 1 Reclamation	21.25	8.40	178.50
0/12/2024	209	(trucking) to de	e Milton Debris Removal- bris site in Pahokee, Phase	e 1 Reclamation	23.75	8.40	199.50
)/12/2024	211	(trucking) to de	e Milton Debris Removal- bris site in Pahokee, Phase	e 1 Reclamation	21.25	8.40	178.50
)/12/2024	212	(trucking) to de	e Milton Debris Removal- bris site in Pahokee, Phase	e 1 Reclamation	20	8.40	168.00
)/12/2024	213	(trucking) to de	e Milton Debris Removal- bris site in Pahokee, Phase	e 1 Reclamation	18.75	8.40	157.50
0/12/2024	214		e Milton Debris Removal- bris site in Pahokee, Phase		21.25	8.40	178.50
Pho	one #	Fax #	E-mail	Тс	otal		
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo com			Г

691 E Main Street Pahokee, FL 33476

Date Invoice # 10/12/2024 11618

Section I, Item 4.

Invoice

Bill To

Ship To			

P.O. No.	Terms	Project

Date	Ticket #	¥	Description	Quantity	Rate	Amount
10/12/2024	215		ne Milton Debris Removal-Loading and Ha		8.40	199.50
10/12/2024	216	(trucking) to c	lebris site in Pahokee, Phase 1 Reclamation		1 1	
10/12/2024	216		ne Milton Debris Removal-Loading and Ha		8.40	189.00
10/12/2024	241		lebris site in Pahokee, Phase 1 Reclamation ne Milton Debris Removal-Loading and Ha		0.40	1 (1)
10/12/2024	241		lebris site in Pahokee, Phase 1 Reclamation	uling 19.2	8.40	161.2
10/12/2024	242		ne Milton Debris Removal-Loading and Ha	uling 17.92	8.40	150.5
	2.2	(trucking) to d	lebris site in Pahokee, Phase 1 Reclamation	unng 17.92	0.40	150.5.
10/12/2024	243	2024 Hurricai	ne Milton Debris Removal-Loading and Ha	uling 21.76	8.40	182.78
		(trucking) to d	lebris site in Pahokee, Phase 1 Reclamation	21.70	0.40	102.70
10/12/2024	244	2024 Hurricai	ne Milton Debris Removal-Loading and Ha	uling 21.76	8.40	182.78
		(trucking) to d	lebris site in Pahokee, Phase 1 Reclamation	21.70	0.40	102.70
10/12/2024	246	2024 Hurricai	ne Milton Debris Removal-Loading and Ha	uling 20.48	8.40	172.03
	1	(trucking) to d	ebris site in Pahokee, Phase 1 Reclamation	20110	0.10	1/2.0.
10/12/2024	247	2024 Hurricain	ne Milton Debris Removal-Loading and Ha	uling 19.2	8.40	161.2
	-	(trucking) to d	ebris site in Pahokee, Phase 1 Reclamation	Ŭ		101.2
10/12/2024	248	2024 Hurricain	ne Milton Debris Removal-Loading and Ha	uling 20.48	8.40	172.03
		(trucking) to d	ebris site in Pahokee, Phase 1 Reclamation	-		
10/12/2024	249	2024 Hurricain	ne Milton Debris Removal-Loading and Hau	uling 20.48	8.40	172.03
		(trucking) to d	ebris site in Pahokee, Phase 1 Reclamation	-		
10/12/2024	250		ne Milton Debris Removal-Loading and Hau	iling 19.2	8.40	161.28
0/10/000/			ebris site in Pahokee, Phase 1 Reclamation			
0/12/2024	252		ne Milton Debris Removal-Loading and Hau	aling 19.2	8.40	161.28
0/10/2024	0.00		ebris site in Pahokee, Phase 1 Reclamation			
0/12/2024	253	2024 Hurricair	ne Milton Debris Removal-Loading and Hau	ling 20.48	8.40	172.03
0/12/2024	254		ebris site in Pahokee, Phase 1 Reclamation			
0/12/2024	234	2024 Hurricair	ne Milton Debris Removal-Loading and Hau	aling 24.32	8.40	204.29
0/12/2024	255	(trucking) to de	ebris site in Pahokee, Phase 1 Reclamation			
0/12/2024	235	2024 Hurricain	ne Milton Debris Removal-Loading and Hau	ling 20.48	8.40	172.03
0/12/2024	256	(trucking) to de	ebris site in Pahokee, Phase 1 Reclamation			
0/12/2024	250	2024 Hullicall	e Milton Debris Removal-Loading and Hau	lling 19.2	8.40	161.28
0/12/2024	257	2024 Hurricain	ebris site in Pahokee, Phase 1 Reclamation the Milton Debris Removal-Loading and Hau	1	0.40	100 50
0.12.2021	237	(trucking) to de	bris site in Pahokee. Phase 1 Reclamation	lling 21.76	8.40	182.78
			and an anotes i mase i restraination			
Pho	one #	Fax #	E-mail	Total		
	1.0050					
561-92	24-9250	561-924-9252	tuiwarehouse@yahoo.com			

Section I, Item 4.

Invoice

Big Dog Express of South Florida, Inc.

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/12/2024	11618

Bill To

Date 10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

10/12/2024

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

258

259

261

284

285

286

287

288

289

290

292

293

294

295

296

297

298

		P.O. No.	Terms	ŀ	Project
Ticket #	Description		Quantity	Rate	Amount
3	2024 Hurricaine Milton Debris Removal-		20.48	8.40	172.03
9	(trucking) to debris site in Pahokee, Phase 2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	19.2	8.40	161.28
l	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	21.76	8.40	182.78
ļ	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	24.32	8.40	204.29
i	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	23.04	8.40	193.54
i	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	20.48	8.40	172.03
,	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	e 1 Reclamation	17.92	8.40	150.53
	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling 1 Reclamation	19.2	8.40	161.28
	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	1 Reclamation	21.76	8.40	182.78
	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	1 Reclamation	23.04	8.40	193.54
	2024 Hurricaine Milton Debris Removal-I (trucking) to debris site in Pahokee, Phase	1 Reclamation	19.2	8.40	161.28
	2024 Hurricaine Milton Debris Removal-I (trucking) to debris site in Pahokee, Phase	1 Reclamation	21.76	8.40	182.78
	2024 Hurricaine Milton Debris Removal-I (trucking) to debris site in Pahokee, Phase	1 Reclamation	20.48	8.40	172.03
	2024 Hurricaine Milton Debris Removal-I (trucking) to debris site in Pahokee, Phase	1 Reclamation	19.2	8.40	161.28
	2024 Hurricaine Milton Debris Removal-I (trucking) to debris site in Pahokee, Phase	1 Reclamation	21.76	8.40	182.78
	2024 Hurricaine Milton Debris Removal-I (trucking) to debris site in Pahokee, Phase	1 Reclamation	20.48	8.40	172.03
	2024 Hurricaine Milton Debris Removal-L		21.76	8.40	182.78

Ship To

ſ	Phone #	Fax #	E-mail	Total	
	561-924-9250	561-924-9252	tuiwarehouse@yahoo.com		

(trucking) to debris site in Pahokee, Phase 1 Reclamation

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/12/2024	11618

Bill To City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

					P.O. No.		Terms			Project	
Date	Ticke	t #		Description			Quantity	Quantity Rate			
10/12/2024 10/12/2024 10/12/2024	301 302 303		(trucking) to c 2024 Hurricai (trucking) to c 2024 Hurricai	ine Milton Debris Removal- debris site in Pahokee, Phas ine Milton Debris Removal- debris site in Pahokee, Phas ne Milton Debris Removal- debris site in Pahokee, Phas	e 1 Reclamation Loading and Hau e 1 Reclamation Loading and Hau	ıling	20.48 19.2 19.2		8.40 8.40 0.00%	172.01 161.24 161.24 0.00	8 8
Pho	ne #		Fax #	E-mail		То	tal			\$18,434.24	
	4-9250	563	1-924-9252	E-mail tuiwarehouse@yal							5

Ship To

Section I, Item 4. Invoice

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/12/2024	11619

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms	I	Project
Date	Ticket #		Description		Quantity	Rate	Amount
10/12/2024	101	2024 Hurrican Grinding	e Milton Debris Removal-	Processing of Debris	22.5	2.25	50.63
10/12/2024	102		e Milton Debris Removal-J	Processing of Debris	20	2.25	45.00
0/12/2024	103		e Milton Debris Removal-	Processing of Debris	21.25	2.25	47.81
10/12/2024	104		e Milton Debris Removal-l	Processing of Debris	20	2.25	45.00
10/12/2024	105		e Milton Debris Removal-I	Processing of Debris	21.25	2.25	47.81
10/12/2024	106	2024 Hurrican	e Milton Debris Removal-I	Processing of Debris	20	2.25	45.00
0/12/2024	107	Grinding 2024 Hurrican	e Milton Debris Removal-I	Processing of Debris	18.75	2.25	42.19
0/12/2024	108	Grinding 2024 Hurrican	e Milton Debris Removal-H	Processing of Debris	20	2.25	45.00
0/12/2024	109		e Milton Debris Removal-F	Processing of Debris	17.92	2.25	40.32
0/12/2024	110		e Milton Debris Removal-H	Processing of Debris	20	2.25	45.00
0/12/2024	111	Grinding 2024 Hurrican	e Milton Debris Removal-F	Processing of Debris	21.25	2.25	47.81
0/12/2024	112		e Milton Debris Removal-F	Processing of Debris	20	2.25	45.00
0/12/2024	113		e Milton Debris Removal-F	Processing of Debris	21.25	2.25	47.81
0/12/2024	114		e Milton Debris Removal-F	Processing of Debris	22.5	2.25	50.63
0/12/2024	115	Grinding 2024 Hurricand	e Milton Debris Removal-F	Processing of Debris	20	2.25	45.00
0/12/2024	116	Grinding 2024 Hurricand	e Milton Debris Removal-F	rocessing of Debris	20	2.25	45.00
0/12/2024	120	Grinding 2024 Hurricane Grinding	e Milton Debris Removal-P	Processing of Debris	19.2	2.25	43.20
Pho	one #	Fax #	E-mail	Тс	otal		
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com			
L			Page				

Ship To

Section I, Item 4.

Invoice

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/12/2024	11619

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms	F	Project
Date	Ticket #		Description		Quantity	Rate	Amount
10/12/2024	121		e Milton Debris Removal-l	Processing of Debris	17.92	2.25	40.32
10/12/2024	122	Grinding 2024 Hurricane Grinding	e Milton Debris Removal-l	Processing of Debris	23.04	2.25	51.84
10/12/2024	123		Milton Debris Removal-I	Processing of Debris	24.32	2.25	54.72
10/12/2024	124		e Milton Debris Removal-J	Processing of Debris	19.2	2.25	43.20
10/12/2024	125	2024 Hurricane Grinding	e Milton Debris Removal-I	Processing of Debris	20.48	2.25	46.08
10/12/2024	126	2024 Hurricane Grinding	e Milton Debris Removal-I	-	21.76	2.25	48.96
10/12/2024	127	Grinding	Milton Debris Removal-I	C C	21.76	2.25	48.96
10/12/2024	128	Grinding	Milton Debris Removal-I	-	19.2	2.25	43.20
10/12/2024	129	Grinding	Milton Debris Removal-I	-	17.92	2.25	40.32
10/12/2024	130	Grinding	Milton Debris Removal-I		21.76	2.25	48.96
10/12/2024	131	Grinding	Milton Debris Removal-I Milton Debris Removal-I	-	23.04	2.25 2.25	51.84 54.72
0/12/2024	132	Grinding		-			
10/12/2024	133	Grinding	Milton Debris Removal-I Milton Debris Removal-I	-	21.76	2.25	48.96 46.08
0/12/2024	134	Grinding	Milton Debris Removal-I	0	20.48	2.25	48.96
0/12/2024	136	Grinding	Milton Debris Removal-I	-	19.2	2.25	43.20
0/12/2024	137	Grinding	Milton Debris Removal-F	C	21.76	2.25	48.96
0/12/2024	157	Grinding			21.70	£.2J	+0.90
Pho	one#	Fax#	E-mail	Т	otal		
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com			

Ship To

Section I, Item 4.

Invoice

691 E Main Street Pahokee, FL 33476
 Date
 Invoice #

 10/12/2024
 11619

Bill To

561-924-9250

561-924-9252

Ship To			

				P.O. No.	Terms	F	Project
Date	Ticket #	E	Description		Quantity	Rate	Amount
10/12/2024	138	2024 Hurrican	e Milton Debris Removal	Processing of Debris	20.48	2.25	46.08
		Grinding		The costing of Deoris	20.40	2.25	40.00
10/12/2024	148	2024 Hurrican Grinding	e Milton Debris Removal	Processing of Debris	20.48	2.25	46.08
10/12/2024	160		e Milton Debris Removal	Processing of Debris	21.76	2.25	48.96
10/12/2024	169	0	e Milton Debris Removal	Processing of Debris	23.04	2.25	51.84
10/12/2024	179		e Milton Debris Removal	Processing of Debris	24.32	2.25	54.72
10/12/2024	181		e Milton Debris Removal	Processing of Debris	19.68	2.25	44.28
10/12/2024	182		e Milton Debris Removal-	Processing of Debris	20.91	2.25	47.0
10/12/2024	183		e Milton Debris Removal-	Processing of Debris	22.14	2.25	49.82
10/12/2024	184		e Milton Debris Removal-	Processing of Debris	20.91	2.25	47.05
10/12/2024	185		e Milton Debris Removal-	Processing of Debris	17.22	2.25	38.75
10/12/2024	186		e Milton Debris Removal-	Processing of Debris	18.45	2.25	41.51
0/12/2024	187		e Milton Debris Removal-	Processing of Debris	20.91	2.25	47.05
0/12/2024	188		e Milton Debris Removal-	Processing of Debris	19.2	2.25	43.20
0/12/2024	189		e Milton Debris Removal-	Processing of Debris	19.68	2.25	44.28
0/12/2024	190	2024 Hurrican	e Milton Debris Removal-	Processing of Debris	23.37	2.25	52.58
0/12/2024	191		e Milton Debris Removal-	Processing of Debris	23.37	2.25	52.58
0/12/2024	192	Grinding 2024 Hurricand Grinding	e Milton Debris Removal-	Processing of Debris	23.37	2.25	52.58
		(#)			[oto]		
Pho	one #	Fax #	E-mail		「otal		

691 E Main Street Pahokee, FL 33476 Date Invoice #

10/12/2024 11619

Bill To

Ship To			

				P.O. No.	Terms	F	Project
Date	Ticket #		Description	Quantity	Rate	Amount	
10/12/2024	193	2024 Hurrican Grinding	e Milton Debris Removal-I	Processing of Debris	23.37	2.25	52.58
10/12/2024	194		Milton Debris Removal-I	Processing of Debris	19.68	2.25	44.28
10/12/2024	195		Milton Debris Removal-I	Processing of Debris	20.91	2.25	47.05
10/12/2024	196		Milton Debris Removal-I	Processing of Debris	22.14	2.25	49.82
10/12/2024	198		Milton Debris Removal-I	Processing of Debris	21.76	2.25	48.96
10/12/2024	201		Milton Debris Removal-F	Processing of Debris	21.25	2.25	47.81
10/12/2024	202		Milton Debris Removal-F	Processing of Debris	22.5	2.25	50.63
10/12/2024	203	2024 Hurricane	Milton Debris Removal-F	Processing of Debris	21.25	2.25	47.81
0/12/2024	205	Grinding 2024 Hurricane	Milton Debris Removal-F	Processing of Debris	22.5	2.25	50.63
0/12/2024	206		Milton Debris Removal-F	Processing of Debris	21.25	2.25	47.81
0/12/2024	207	Grinding 2024 Hurricane	Milton Debris Removal-F	Processing of Debris	20	2.25	45.00
0/12/2024	208	Grinding 2024 Hurricane	Milton Debris Removal-F	Processing of Debris	21.25	2.25	47.81
0/12/2024	209	Grinding 2024 Hurricane	Milton Debris Removal-F	Processing of Debris	23.75	2.25	53.44
0/12/2024	211		Milton Debris Removal-F	rocessing of Debris	21.25	2.25	47.81
.0/12/2024	212	Grinding 2024 Hurricane	Milton Debris Removal-P	Processing of Debris	20	2.25	45.00
0/12/2024	213		Milton Debris Removal-P	rocessing of Debris	18.75	2.25	42.19
0/12/2024	214	Grinding 2024 Hurricane Grinding	Milton Debris Removal-P	rocessing of Debris	21.25	2.25	47.81
Pho	one #	Fax #	E-mail	Т	otal		
561-9	24-9250	561-924-9252	tuiwarehouse@yal	hoo.com			
			Page	1			

691 E Main Street Pahokee, FL 33476

Invoice # Date 10/12/2024 11619

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.		Terms	ł	Project
Date	Ticket #	1	Description		Q.	uantity	Rate	Amount
0/12/2024	215	2024 Hurricane	Milton Debris Removal-l	Processing of Deb	ris	23.75	2.25	53.44
0/12/2024	216	Grinding 2024 Hurricane Grinding	Milton Debris Removal-J	Processing of Deb	ris	22.5	2.25	50.63
0/12/2024	241		Milton Debris Removal-I	Processing of Deb	ris	19.2	2.25	43.20
0/12/2024	242		Milton Debris Removal-I	Processing of Deb	ris	17.92	2.25	40.32
0/12/2024	243	Grinding	Milton Debris Removal-I	-		21.76	2.25	48.96
0/12/2024	244	Grinding	Milton Debris Removal-I			21.76	2.25	48.96
0/12/2024	246	2024 Hurricane Grinding	Milton Debris Removal-I	Processing of Deb	ris	20.48	2.25	46.08
0/12/2024	247	2024 Hurricane Grinding	Milton Debris Removal-F	Processing of Debi	ris	19.2	2.25	43.20
0/12/2024	248	Grinding	Milton Debris Removal-F	-		20.48	2.25	46.08
0/12/2024	249	2024 Hurricane Grinding	Milton Debris Removal-F	Processing of Debr	ris	20.48	2.25	46.08
0/12/2024	250	2024 Hurricane Grinding	Milton Debris Removal-F	Processing of Debr	ris	19.2	2.25	43.20
0/12/2024	252	Grinding	Milton Debris Removal-F	-		19.2	2.25	43.20
0/12/2024	253	2024 Hurricane Grinding	Milton Debris Removal-F	Processing of Debr	ris	20.48	2.25	46.08
0/12/2024	254	2024 Hurricane Grinding	Milton Debris Removal-F	Processing of Debr	ris	24.32	2.25	54.72
0/12/2024	255	0	Milton Debris Removal-F	Processing of Debr	ris	20.48	2.25	46.08
0/12/2024	256	0	Milton Debris Removal-P	rocessing of Debr	is	19.2	2.25	43.20
)/12/2024	257		2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 48					48.96
Pho	one#	Fax #	E-mail		Total	Ŷ		
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com				Γ
L			Pagal					

Ship To

Section I, Item 4. Invoice

· · ·

Big Dog Express of South Florida, Inc.

691 E Main Street Pahokee, FL 33476

Invoice

 Date
 Invoice #

 10/12/2024
 11619

Bill To

Shi	о То		
-			

				P.O. No.		Terms		Project
Date	Ticket #		Description		Quantity	Rate	Amount	
10/12/2024 2	258	2024 Hurrican	e Milton Debris Removal-I	Processing of Del	bris	20.48	2.25	46.08
10/12/2024 2	259	Grinding 2024 Hurrican Grinding	e Milton Debris Removal-I	rocessing of Del	oris	19.2	2.25	43.20
10/12/2024 2	261		e Milton Debris Removal-I	Processing of Del	oris	21.76	2.25	48.96
10/12/2024 2	284		e Milton Debris Removal-F	rocessing of Del	oris	24.32	2.25	54.72
10/12/2024 2	285		e Milton Debris Removal-F	rocessing of Deb	oris	23.04	2.25	51.84
10/12/2024 2	.86		e Milton Debris Removal-F	rocessing of Deb	oris	20.48	2.25	46.08
10/12/2024 2	287		e Milton Debris Removal-F	rocessing of Deb	oris	17.92	2.25	40.32
10/12/2024 2	88		e Milton Debris Removal-P	rocessing of Deb	oris	19.2	2.25	43.20
10/12/2024 2	.89		e Milton Debris Removal-P	rocessing of Deb	oris	21.76	2.25	48.96
0/12/2024 29	90		e Milton Debris Removal-P	rocessing of Deb	oris	23.04	2.25	51.84
0/12/2024 29	92	2024 Hurrican	e Milton Debris Removal-P	rocessing of Deb	oris	19.2	2.25	43.20
0/12/2024 29	93	Grinding 2024 Hurricane	e Milton Debris Removal-P	rocessing of Deb	oris	21.76	2.25	48.96
0/12/2024 29	94	Grinding 2024 Hurricane	e Milton Debris Removal-P	rocessing of Deb	oris	20.48	2.25	46.08
0/12/2024 29	95		e Milton Debris Removal-P	rocessing of Deb	oris	19.2	2.25	43.20
0/12/2024 29	96		e Milton Debris Removal-P	rocessing of Deb	oris	21.76	2.25	48.96
0/12/2024 29	97	Grinding 2024 Hurricane	e Milton Debris Removal-P	rocessing of Deb	oris	20.48	2.25	46.08
0/12/2024 29	98		Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding				2.25	48.96
		State Arrested Made			Toto			
Phone	e #	Fax #	E-mail		Tota			
561-924-	9250	561-924-9252	tuiwarehouse@yah	ioo.com				

691 E Main Street Pahokee, FL 33476

 Date
 Invoice #

 10/12/2024
 11619

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms		Project
Date	Ticke	:t#	Description		Quantity	Rate	Amount
10/12/2024	301	2024 Hurrican Grinding	ne Milton Debris Removal-I	Processing of Debris	20.48	2.25	46.08
10/12/2024	302	2024 Hurrican Grinding	ne Milton Debris Removal-I	Processing of Debris	19.2	2.25	43.20
10/12/2024	303	2024 Hurrican Grinding	ne Milton Debris Removal-I	Processing of Debris	19.2	2.25	43.20
		Sales Tax				0.00%	0.00
						1	
		~					
ſ				T	tal		\$4.007.7
Pho	ne#	Fax #	E-mail				\$4,937.78
561-92	4-9250	561-924-9252	tuiwarehouse@yah				Г
			Fage				

Ship To

58

691 E Main Street Pahokee, FL 33476

Invoice

Date	Invoice #
10/12/2024	11620

Bill To

Ship	то		

DeteTicket #DescriptionQuantityRate10/12/20241012024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.7010/12/20241022024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241032024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.70<					P.O. No.		Terms Project		Project
10/12/20241012024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.7010/12/20241022024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241032024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th>									
Disposing of Yard Waste Final DestinationLink	Date	Ticket #		Description		Q	uantity	Rate	Amount
10/12/2024102202'A Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241032024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and 	0/12/2024	101	2024 Hurrican	024 Hurricane Milton Debris Removal-Loading, Hauling and			22.5	8.70	195.75
Inv12/2024Disposing of Yard Waste Final Destination21.258.7010/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.70 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>									
10/12/20241032024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and	0/12/2024	102					20	8.70	174.00
Disposing of Yard Waste Final Destination2010/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination18.758.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.700/12/202	0/10/0004	102							
10/12/20241042024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauli	0/12/2024	103				and	21.25	8.70	184.88
10/12/2024Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241142024 Hurricane Milton Debri	0/12/2024	104							
10/12/20241052024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination18.758.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and	3/12/2024	104				and	20	8.70	174.00
Disposing of Yard Waste Final Destination2010/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination2010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination18.7510/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination2010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination2010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination2010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination2010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination200/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination200/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination200/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.250/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.50/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination200	0/12/2024	105				. 1	01.0-	0.70	104.00
10/12/20241062024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination18.758.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination17.928.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and <b< td=""><td>0/12/2024</td><td>105</td><td></td><td></td><td></td><td>and</td><td>21.25</td><td>8.70</td><td>184.88</td></b<>	0/12/2024	105				and	21.25	8.70	184.88
10/12/2024Disposing of Yard Waste Final Destination18.758.7010/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination18.758.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination17.928.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination20	0/12/2024	104					20	0.70	174.00
10/12/20241072024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination18.758.7010/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination17.928.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and<	J/12/2024	100				and	20	8.70	174.00
Disposing of Yard Waste Final DestinationDisposing of Yard Waste Final Destination10/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination17.928.7010/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination20 <td>0/12/2024</td> <td>107</td> <td></td> <td></td> <td></td> <td>, </td> <td>10.55</td> <td>0.50</td> <td></td>	0/12/2024	107				,	10.55	0.50	
10/12/20241082024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination17.928.700/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and 	J/12/2024	107				and	18.75	8.70	163.13
0/12/2024109Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination17.928.700/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane	0/12/2024	109				,		0.50	1.54.00
0/12/20241092024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination17.928.700/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disp	3/12/2024	108				and	20	8.70	174.00
Disposing of Yard Waste Final Destination11.1211.1210/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.70	0/12/2024	100					17.00	0.70	1 00
10/12/20241102024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.70	J/12/2024	109				ind	17.92	8.70	155.90
Disposing of Yard Waste Final Destination21.258.7010/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.7010/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.70	1/12/2024	110					20	0.70	174.00
0/12/20241112024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.70	3/12/2024	110				und	20	8.70	174.00
10/12/2024112Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.70	1/12/2024	111				ha	21.25	0.70	104.00
10/12/20241122024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination19.28.70	J/12/2024	111					21.25	8.70	184.88
Disposing of Yard Waste Final DestinationDisposing of Yard Waste Final Destination10/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.7010/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.7010/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.7010/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination19.28.70	1/12/2024	112				nd	20	0 70	174.00
0/12/20241132024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination21.258.700/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination19.28.70	12/2024	112					20	0.70	174.00
Disposing of Yard Waste Final DestinationDisposing of Yard Waste Final Destination0/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination19.28.70	1/12/2024	113				nd	21.25	8 70	184.88
0/12/20241142024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination22.58.700/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination19.28.70	"12,202 T	115					21.23	0.70	104.00
Disposing of Yard Waste Final DestinationDisposing of Yard Waste Final Destination0/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination19.28.70)/12/2024	114				nd	22.5	8 70	195.75
0/12/20241152024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination19.28.70							22.5	0.70	175.75
0/12/2024116Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and 19.2200/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and 19.219.2)/12/2024	115				ind	20	8 70	174.00
0/12/20241162024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and208.700/12/20241202024 Hurricane Milton Debris Removal-Loading, Hauling and19.28.70							20	0.70	174.00
0/12/2024120Disposing of Yard Waste Final Destination19.28.70)/12/2024	116						174.00	
0/12/2024 120 2024 Hurricane Milton Debris Removal-Loading, Hauling and 19.2 8.70								174.00	
)/12/2024	120					167.04		
								0.10	107.01
Phone # Fax # E-mail Total	Phor	ne#	Fax #	E-mail		lotal			
		24 <u>5</u> 6							
561-924-9250 561-924-9252 tuiwarehouse@yahoo.com	561-92	4-9250	561-924-9252	tuiwarehouse@yal	hoo.com				Г

691 E Main Street Pahokee, FL 33476

Date Invoice # 10/12/2024 11620

Bill To

				P.O. No.	Terms	F	Project
Date	Ticket #		Description		Quantity	Rate	Amount
0/12/2024	121	2024 Hurrican	e Milton Debris Removal-I	Loading, Hauling and	17.92	8.70	155.90
0/12/2024	122	2024 Hurrican	Yard Waste Final Destinatic e Milton Debris Removal-I Yard Waste Final Destinatic	Loading, Hauling and	23.04	8.70	200.45
0/12/2024	123	2024 Hurrican	e Milton Debris Removal-I	loading, Hauling and	24.32	8.70	211.58
0/12/2024	124	2024 Hurrican	Yard Waste Final Destinatio e Milton Debris Removal-L Yard Waste Final Destinatio	.oading, Hauling and	19.2	8.70	167.04
0/12/2024	125	2024 Hurrican	e Milton Debris Removal-L Vard Waste Final Destinatio	oading, Hauling and	20.48	8.70	178.18
0/12/2024	126	2024 Hurrican	e Milton Debris Removal-L Vard Waste Final Destinatio	oading, Hauling and	21.76	8.70	189.31
)/12/2024	127	2024 Hurrican	e Milton Debris Removal-L Yard Waste Final Destinatio	oading, Hauling and	21.76	8.70	189.3
)/12/2024	128	2024 Hurrican	e Milton Debris Removal-L Yard Waste Final Destinatio	oading, Hauling and	19.2	8.70	167.04
)/12/2024	129	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	17.92	8.70	155.90
)/12/2024	130	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destination	oading, Hauling and	21.76	8.70	189.3
)/12/2024	131	2024 Hurrican	e Milton Debris Removal-L	oading, Hauling and	23.04	8.70	200.43
)/12/2024	132	2024 Hurricand	ard Waste Final Destination Milton Debris Removal-L	oading, Hauling and	24.32	8.70	211.58
/12/2024	133	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-L	oading, Hauling and	21.76	8.70	189.31
)/12/2024	134	2024 Hurricand	ard Waste Final Destination Milton Debris Removal-L	oading, Hauling and	20.48	8.70	178.18
/12/2024	135	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-L	oading, Hauling and	21.76	8.70	189.3
/12/2024	136	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-L	oading, Hauling and	19.2	8.70	167.04
/12/2024	137	2024 Hurricane	Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination 21.76				189.31
Pho	ne#	Fax#	E-mail	Тс	otal		
561-92	4-9250	561-924-9252	tuiwarehouse@yah	noo.com			

Ship To			

691 E Main Street Pahokee, FL 33476

livoice

 Date
 Invoice #

 10/12/2024
 11620

Bill To

Ship To

			-	P.O. No.	Terms	۶ 	Project
Date	Ticket #		Description		Quantity	Rate	Amount
10/12/2024	138	2024 Hurricane	Milton Debris Removal-L	oading Hauling and	20.48	8.70	178.18
10,12,2021	100		ard Waste Final Destination		20.10	0.70	170.10
0/12/2024	148		Milton Debris Removal-L		20.48	8.70	178.18
			ard Waste Final Destination				
0/12/2024	160		Milton Debris Removal-L		21.76	8.70	189.31
	1		ard Waste Final Destination				
0/12/2024	169	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	23.04	8.70	200.45
			ard Waste Final Destination				
0/12/2024	179	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	24.32	8.70	211.58
		Disposing of Y	ard Waste Final Destination	n			
0/12/2024	181	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	19.68	8.70	171.22
		Disposing of Y	ard Waste Final Destination	n			
0/12/2024	182	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	20.91	8.70	181.92
			ard Waste Final Destination				
0/12/2024	183	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	22.14	8.70	192.62
		Disposing of Y	ard Waste Final Destination	n			
0/12/2024	184	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	20.91	8.70	181.92
		Disposing of Y	ard Waste Final Destination	1			
0/12/2024	185	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	17.22	8.70	149.81
		Disposing of Y	ard Waste Final Destination	1			
0/12/2024	186	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	18.45	8.70	160.52
			ard Waste Final Destination				
0/12/2024	187	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	20.91	8.70	181.92
			ard Waste Final Destination				
0/12/2024	188	2024 Hurricane	Milton Debris Removal-L	oading, Hauling and	19.2	8.70	167.04
			ard Waste Final Destination				
0/12/2024	189		Milton Debris Removal-L		19.68	8.70	171.22
			ard Waste Final Destination				
0/12/2024	190		Milton Debris Removal-L		23.37	8.70	203.32
			ard Waste Final Destination				
0/12/2024	191		Milton Debris Removal-L		23.37	8.70	203.32
			urd Waste Final Destination			1	
0/12/2024	192		Milton Debris Removal-Le		23.37	8.70	203.32
		Disposing of Y	rd Waste Final Destination	1			
				— Т	otal		
Pho	one #	Fax #	E-mail		V (M)		
	24-9250	561-924-9252	tuiwarehouse@yah				

691 E Main Street Pahokee, FL 33476

Section	I,	Item 4	4.
---------	----	--------	----

lhvoice

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To		

Terms

Date	Ticket #		Description	Quantity	Rate	Amount
10/12/2024	193	2024 Hurricane	Milton Debris Removal-Loading, Hauling and	23.37	8.70	203.3
			rd Waste Final Destination			
10/12/2024	194		Milton Debris Removal-Loading, Hauling and	19.68	8.70	171.2
			rd Waste Final Destination			
10/12/2024	195		Milton Debris Removal-Loading, Hauling and	20.91	8.70	181.9
	10.5		rd Waste Final Destination		0.70	100 (
10/12/2024	196		Milton Debris Removal-Loading, Hauling and	22.14	8.70	192.6
0/10/0004	100		rd Waste Final Destination	01.70	0.70	100.2
10/12/2024	198		Milton Debris Removal-Loading, Hauling and	21.76	8.70	189.3
10/12/2024	201		rd Waste Final Destination	21.25	0.70	104.0
10/12/2024	201		Milton Debris Removal-Loading, Hauling and rd Waste Final Destination	21.25	8.70	184.8
10/12/2024	202		Milton Debris Removal-Loading, Hauling and	22.5	8.70	195.7
10/12/2024	202		rd Waste Final Destination	22.3	0.70	195.7
10/12/2024	203		Milton Debris Removal-Loading, Hauling and	21.25	8.70	184.8
10/12/2024	203		rd Waste Final Destination	21.25	0.70	104.0
10/12/2024	205		Wilton Debris Removal-Loading, Hauling and	22.5	8.70	195.7
10/12/2024	205		rd Waste Final Destination		0.70	122.7
10/12/2024	206		Milton Debris Removal-Loading, Hauling and	21.25	8.70	184.8
10/12/2024	200		rd Waste Final Destination	21.25	0.70	10110
10/12/2024	207		Milton Debris Removal-Loading, Hauling and	20	8.70	174.0
			rd Waste Final Destination			
10/12/2024	208		Milton Debris Removal-Loading, Hauling and	21.25	8.70	184.8
			rd Waste Final Destination			
10/12/2024	209		Milton Debris Removal-Loading, Hauling and	23.75	8.70	206.63
		Disposing of Ya	rd Waste Final Destination			
10/12/2024	211		Milton Debris Removal-Loading, Hauling and	21.25	8.70	184.8
			rd Waste Final Destination			
10/12/2024	212		Milton Debris Removal-Loading, Hauling and	20	8.70	174.0
			rd Waste Final Destination			
10/12/2024	213		Milton Debris Removal-Loading, Hauling and	18.75	8.70	163.1
			d Waste Final Destination			
10/12/2024	214		Milton Debris Removal-Loading, Hauling and	21.25	8.70	184.8
		Disposing of Ya	rd Waste Final Destination			
·			Tr	otal		
Pho	ne #	Fax #	E-mail			
561-92	4-9250	561-924-9252	tuiwarehouse@yahoo.com			r
501 72			Page 4			

P.O. No.

691 E Main Street Pahokee, FL 33476

١.	Section I, Item 4.
	IVOICE

Date Invoice # 10/12/2024 11620

Bill To

561-924-9250

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To			

				P.O. No. Terms Pr		Project	
Date	Date Ticket # Description Quantity F				Rate	Amount	
10/12/2024	215		e Milton Debris Removal-I		23.75	8.70	206.63
10/12/2024	216	2024 Hurrican	ard Waste Final Destination Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling and	22.5	8.70	195.75
10/12/2024	241		e Milton Debris Removal-I		19.2	8.70	167.04
			ard Waste Final Destination				
10/12/2024	242		e Milton Debris Removal-I		17.92	8.70	155.90
10/12/2024	243	2024 Hurrican	ard Waste Final Destination Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling and	21.76	8.70	189.31
10/12/2024	244	2024 Hurrican	e Milton Debris Removal-I ard Waste Final Destination	loading, Hauling and	21.76	8.70	189.31
0/12/2024	246	2024 Hurricane	e Milton Debris Removal-I	loading, Hauling and	20.48	8.70	178.18
0/12/2024	247	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-I	loading, Hauling and	19.2	8.70	167.04
0/12/2024	248		ard Waste Final Destination Milton Debris Removal-I		20.48	8.70	178.18
0,12,202.			ard Waste Final Destinatio		20.10	0.70	1,0.10
0/12/2024	249		e Milton Debris Removal-I ard Waste Final Destinatio		20.48	8.70	178.18
0/12/2024	250		Milton Debris Removal-I		19.2	8.70	167.04
0/12/2024	252	2024 Hurricane	ard Waste Final Destinatic Milton Debris Removal-I ard Waste Final Destinatic	loading, Hauling and	19.2	8.70	167.04
0/12/2024	253	2024 Hurricane	Milton Debris Removal-I	oading, Hauling and	20.48	8.70	178.18
0/12/2024	254	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-I	oading, Hauling and	24.32	8.70	211.58
0/12/2024	255	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-I	oading, Hauling and	20.48	8.70	178.18
0/12/2024	256	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-I	oading, Hauling and	19.2	8.70	167.04
0/12/2024	257	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	21.76	8.70	189.31
					Fotol		
Ph	one#	Fax #	E-mail		Fotal		

561-924-9252

691 E Main Street Pahokee, FL 33476

Invoice

Date Invoice # 10/12/2024 11620

Bill To

Ship To		

				P.O. No.		Terms	F	Project
Date	Date Ticket # Description					Quantity	Rate	Amount
10/12/2024	258		e Milton Debris Removal-L		and	20.48	8.70	178.18
10/12/2024	259	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-I ard Waste Final Destinatio	oading, Hauling	and	19.2	8.70	167.04
10/12/2024	261		e Milton Debris Removal-I		and	21.76	8.70	189.31
			ard Waste Final Destinatio					
10/12/2024	284		e Milton Debris Removal-L ard Waste Final Destinatio		and	24.32	8.70	211.58
10/12/2024	285	2024 Hurricane	and Waste Final Destination Milton Debris Removal-L ard Waste Final Destination	oading, Hauling.	and	23.04	8.70	200.45
10/12/2024	286	2024 Hurricane	e Milton Debris Removal-I	oading, Hauling	and	20.48	8.70	178.18
10/12/2024	287	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L	oading, Hauling.	and	17.92	8.70	155.90
10/12/2024	288	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	19.2	8.70	167.04
10/12/2024	289	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	21.76	8.70	189.31
10/12/2024	290	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	23.04	8.70	200.45
10/12/2024	292	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	19.2	8.70	167.04
10/12/2024	293	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	21.76	8.70	189.31
10/12/2024	294	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	20.48	8.70	178.18
10/12/2024	295	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	19.2	8.70	167.04
10/12/2024	296	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	21.76	8.70	189.31
10/12/2024	297	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	20.48	8.70	178.18
10/12/2024	298	2024 Hurricane	Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling	and	21.76	8.70	189.31
					Tat			
Pho	one #	Fax #	E-mail		Tota			
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com				

691 E Main Street Pahokee, FL 33476

561-924-9250

561-924-9252

 Date
 Invoice #

 10/12/2024
 11620

Bill To City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				16.					
				P.O. No.		Terms			Project
Date	Ticket	#	Description	_		Quantity	R	late	Amount
10/12/2024	301	2024 Hurricane Disposing of Y	Milton Debris Removal-J ard Waste Final Destinatio	Loading, Hauling	and	20.48		8.70	178.18
10/12/2024	302	2024 Hurricane	Milton Debris Removal-J ard Waste Final Destination	Loading, Hauling	and	19.2		8.70	167.04
10/12/2024	303	2024 Hurricane	Milton Debris Removal-I	Loading, Hauling	and	19.2		8.70	167.04
		Sales Tax	ard Waste Final Destination	חו				0.00%	0.00
Pho	one #	Fax#	E-mail		То	tal			\$19,092.77

 N 8	
6 6	

Ship To

65

691 E Main Street Pahokee, FL 33476

3

÷

 Date
 Invoice #

 10/13/2024
 11621

Bill To

561-924-9250

561-924-9252

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.		Terms		Project
Date	Ticket	#	Description			Quantity	Rate	Amount
10/13/2024	117		e Milton Debris Removal-Loa		ling	21.25	8.40	178.50
10/13/2024	118	2024 Hurricain	ebris site in Pahokee, Phase 1 H e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 H	ding and Hau	ling	18.75	8.40	157.50
10/13/2024	119	2024 Hurricain	e Milton Debris Removal-Loa bris site in Pahokee, Phase 1 I	ding and Haul	ling	22.5	8.40	189.00
10/13/2024	139	2024 Hurricain	e Milton Debris Removal-Loa	ding and Haul	ling	23.04	8.40	193.54
10/13/2024	140	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 I	ding and Haul	ling	24.32	8.40	204.29
10/13/2024	141	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 I	ding and Haul	ling	21.76	8.40	182.78
10/13/2024	142	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 I	ding and Haul	ling	20.48	8.40	172.03
10/13/2024	143	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 F	ding and Haul	ling	21.76	8.40	182.78
10/13/2024	144	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 F	ding and Haul	ling	21.76	8.40	182.78
10/13/2024	146	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 F	ding and Haul	ling	21.76	8.40	182.78
10/13/2024	147	2024 Hurricain	e Milton Debris Removal-Loa bris site in Pahokee, Phase 1 F	ding and Haul	ling	23.04	8.40	193.54
10/13/2024	149	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 F	ding and Haul	ling	19.2	8.40	161.28
10/13/2024	150	2024 Hurricain	e Milton Debris Removal-Loa bris site in Pahokee, Phase 1 F	ding and Haul	ing	21.76	8.40	182.78
10/13/2024	151	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee, Phase 1 F	ding and Haul	ling	17.92	8.40	150.53
10/13/2024	152	2024 Hurricain	e Milton Debris Removal-Loa ebris site in Pahokee. Phase 1 F	ding and Haul	ling	19.2	8.40	161.28
10/13/2024	153	2024 Hurricain	e Milton Debris Removal-Loa bris site in Pahokee, Phase 1 F	ding and Haul	ling	21.76	8.40	182.78
10/13/2024	154	2024 Hurricain	e Milton Debris Removal-Loa bris site in Pahokee. Phase 1 F	ding and Haul	ing	20.48	8.40	172.03
	·				Tot	al		
Pho	one #	Fax #	E-mail		100			

691 E Main Street Pahokee, FL 33476 linvoice

Invoice # Date 11621

Bill To

561-924-9250

561-924-9252

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

					λ				
					P.O. No.		Terms		Project
	Date	Ticke	t#	Description			Quantity	Rate	Amount
10	/13/2024	155	2024 Hurricain	ne Milton Debris Removal-J	Loading and Hau	ling	19.2	8.40	161.28
10	/13/2024	156	2024 Hurricain	ebris site in Pahokee, Phase ne Milton Debris Removal-1 ebris site in Pahokee, Phase	Loading and Hau	ıling	23.04	8.40	193.54
10	/13/2024	157	2024 Hurricair	ne Milton Debris Removal-I	Loading and Hau	ıling	17.92	8.40	150.53
10	/13/2024	158	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-J	Loading and Hau	ıling	20.48	8.40	172.03
10	/13/2024	161	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-I	Loading and Hau	uling	18.45	8.40	154.98
10	/13/2024	162	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-I	Loading and Hau	uling	23.37	8.40	196.31
10	/13/2024	163	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-I	Loading and Hau	ıling	19.68	8.40	165.31
10	/13/2024	164	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-I	Loading and Hau	ıling	19.68	8.40	165.31
10	/13/2024	165	2024 Hurricain	ebris site in Pahokee, Phase ne Milton Debris Removal-I	Loading and Hau	ıling	23.37	8.40	196.31
10	/13/2024	166	2024 Hurricain	ebris site in Pahokee, Phase ne Milton Debris Removal-I	loading and Hau	ıling	18.45	8.40	154.98
10	/13/2024	167	2024 Hurricain	ebris site in Pahokee, Phase le Milton Debris Removal-I ebris site in Pahokee, Phase	loading and Hau	ling	22.14	8.40	185.98
10	/13/2024	168	2024 Hurricain	e Milton Debris Removal-I ebris site in Pahokee, Phase	loading and Hau	lling	20.91	8.40	175.64
10	/13/2024	170	2024 Hurricain	e Milton Debris Removal-L bris site in Pahokee, Phase	oading and Hau	lling	22.14	8.40	185.98
10	/13/2024	171	2024 Hurricain	e Milton Debris Removal-L ebris site in Pahokee, Phase	oading and Hau	ling	23.37	8.40	196.31
10	/13/2024	172	2024 Hurricain	e Milton Debris Removal-L ebris site in Pahokee, Phase	oading and Hau	ling	22.14	8.40	185.98
10,	/13/2024	173	2024 Hurricain	e Milton Debris Removal-L ebris site in Pahokee, Phase	oading and Hau	ling	20.91	8.40	175.64
10,	/13/2024	174	2024 Hurricain	e Milton Debris Removal-L bris site in Pahokee, Phase	oading and Hau	ling	20.91	8.40	175.64
	Pho	one #	Fax #	E-mail		То	tal		

Ship To

10/13/2024

tuiwarehouse@yahoo.com

67

691 E Main Street Pahokee, FL 33476

Invoice # Date

10/13/2024

11621

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.		Terms	F	Project
Date	Ticket #	4	Description			Quantity	Rate	Amount
)/13/2024	175		e Milton Debris Removal bris site in Pahokee, Phas		19.68	8.40	165.31	
)/13/2024	176	2024 Hurricain	e Milton Debris Removal bris site in Pahokee, Phas	-Loading and Haul	ing	20.91	8.40	175.64
)/13/2024	177	2024 Hurricain	e Milton Debris Removal bris site in Pahokee, Phas	ing	23.37	8.40	196.31	
/13/2024	178	2024 Hurricain	e Milton Debris Removal bris site in Pahokee, Phas	-Loading and Haul	ing	18.45	8.40	154.98
/13/2024	180		e Milton Debris Removal bris site in Pahokee, Phas		ing	22.14	8.40	185.98
/13/2024	197	2024 Hurricain (trucking) to de	e Milton Debris Removal bris site in Pahokee, Phas	-Loading and Hault e 1 Reclamation		19.68	8.40	165.31
/13/2024	218	(trucking) to de	e Milton Debris Removal bris site in Pahokee, Phas	e 1 Reclamation	Ĩ	18.75	8.40	157.50
/13/2024	219	(trucking) to de	e Milton Debris Removal bris site in Pahokee, Phas	e 1 Reclamation	Ũ	21.25	8.40	178.50
/13/2024	220	(trucking) to de	e Milton Debris Removal bris site in Pahokee, Phas	e 1 Reclamation		22.5	8.40	189.00
/13/2024	221	(trucking) to de	e Milton Debris Removal bris site in Pahokee, Phas	e 1 Reclamation		21.25	8.40	178.50
/13/2024 /13/2024	222	(trucking) to de	e Milton Debris Removal bris site in Pahokee, Phas e Milton Debris Removal	e 1 Reclamation		20 18.75	8.40 8.40	168.00 157.50
/13/2024	223	(trucking) to de	bris site in Pahokee, Phase Milton Debris Removal	e 1 Reclamation		21.25	8.40	178.50
/13/2024	224	(trucking) to de	bris site in Pahokee, Phas e Milton Debris Removal	e 1 Reclamation	Ŭ	21.25	8.40	168.00
/13/2024	227	(trucking) to de	bris site in Pahokee, Phas e Milton Debris Removal	e 1 Reclamation		21.25	8.40	178.50
/13/2024	228	(trucking) to de	bris site in Pahokee, Phas	e 1 Reclamation	Ũ	23.75	8.40	199.50
/13/2024	229	(trucking) to de	2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling23.758.4018.758.40					157.50
		(trucking) to de	bris site in Pahokee, Phas	e 1 Reclamation				
Pho	one #	Fax #	E-mail		Tota	AI		
561-92	24-9250	561-924-9252	tuiwarehouse@y	ahoo.com				Γ

691 E Main Street Pahokee, FL 33476

Invoice

 Date
 Invoice #

 10/13/2024
 11621

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

			[P.O. No.	Terms	F	Project
Date	Ticket #		Description		Quantity	Rate	Amount
0/13/2024	230		e Milton Debris Removal-I		21.25	8.40	178.50
0/13/2024	231	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-I bris site in Pahokee, Phase	loading and Hauling	20	8.40	168.00
0/13/2024	232	2024 Hurricain	e Milton Debris Removal-I bris site in Pahokee, Phase	loading and Hauling	18.75	8.40	157.50
0/13/2024	262	2024 Hurricain	e Milton Debris Removal-I	oading and Hauling	19.2	8.40	161.28
10/13/2024	263	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-I	loading and Hauling	19.2	8.40	161.28
0/13/2024	264	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-I	oading and Hauling	19.2	8.40	161.28
0/13/2024	265	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-I	oading and Hauling	20.48	8.40	172.03
0/13/2024	266	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-I bris site in Pahokee, Phase	loading and Hauling	20.48	8.40	172.03
0/13/2024	267	2024 Hurricain	e Milton Debris Removal-I bris site in Pahokee, Phase	oading and Hauling.	19.2	8.40	161.28
0/13/2024	268	2024 Hurricain	e Milton Debris Removal-L	oading and Hauling	24.32	8.40	204.29
0/13/2024	270	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-L	oading and Hauling	21.76	8.40	182.78
0/13/2024	271	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-L	oading and Hauling	20.48	8.40	172.03
0/13/2024	272	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-L	oading and Hauling	21.76	8.40	182.78
0/13/2024	273	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-L	oading and Hauling	21.76	8.40	182.78
0/13/2024	274	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-L	oading and Hauling	20.48	8.40	172.03
0/13/2024	275	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-L	oading and Hauling	19.2	8.40	161.28
0/13/2024	276	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-L bris site in Pahokee, Phase	oading and Hauling	17.92	8.40	150.53
	1	1			atal		
Ph	one #	Fax #	E-mail		otal		
561-9	24-9250 50	61-924-9252	tuiwarehouse@yał	noo.com			I
			Page 4				

Ship To

69

691 E Main Street Pahokee, FL 33476 Invoice

 Date
 Invoice #

 10/13/2024
 11621

Bill To

561-924-9250

561-924-9252

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.		Terms	I	Project
Date	Ticket	t#	Description		Q	uantity	Rate	Amount
10/13/2024	277		e Milton Debris Removal-Lo		ling	20.48	8.40	172.03
10/13/2024	278	2024 Hurricain	e Milton Debris Removal-Lo ebris site in Pahokee, Phase 1	ading and Hau	ling	19.2	8.40	161.28
10/13/2024	280	2024 Hurricain	e Milton Debris Removal-Lo	ading and Hau	ling	20.48	8.40	172.03
10/13/2024	281	2024 Hurricain	ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo	ading and Haul	ing	21.76	8.40	182.78
10/13/2024	282	2024 Hurricain	ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo	ading and Hau	ling	19.2	8.40	161.28
10/13/2024	283	2024 Hurricain	ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo	ading and Hau	ing	20.48	8.40	172.03
10/13/2024	304	2024 Hurricain	ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo	ading and Hau	ing	23.04	8.40	193.54
10/13/2024	306		ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo		ing	21.76	8.40	182.78
10/13/2024	307		ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo		ing	21.76	8.40	182.78
10/13/2024	308	(trucking) to de	ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo	Reclamation		19.2	8.40	161.28
10/13/2024	309	(trucking) to de	ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo	Reclamation		21.76	8.40	182.78
10/13/2024	311	(trucking) to de	ebris site in Pahokee, Phase 1 e Milton Debris Removal-Lo	Reclamation		21.76	8.40	182.78
10/13/2024	312	(trucking) to de	bris site in Pahokee, Phase 1	Reclamation	2	21.76		
		(trucking) to de	e Milton Debris Removal-Lo bris site in Pahokee, Phase 1	Reclamation			8.40	182.78
10/13/2024	313	(trucking) to de	e Milton Debris Removal-Lo bris site in Pahokee, Phase 1	Reclamation	-	19.2	8.40	161.28
10/13/2024	314	(trucking) to de	e Milton Debris Removal-Lo bris site in Pahokee, Phase 1	Reclamation	Ũ	23.04	8.40	193.54
10/13/2024	320		e Milton Debris Removal-Lo bris site in Pahokee, Phase 1		ing	23.04	8.40	193.54
10/13/2024	321	2024 Hurricain	e Milton Debris Removal-Lo bris site in Pahokee, Phase 1	ading and Haul	ing	24.32	8.40	204.29
					Total			
Pho	ne #	Fax #	E-mail					

Ship To

10/13/2024 11621

tuiwarehouse@yahoo.com

691 E Main Street Pahokee, FL 33476
 Date
 Invoice #

 10/13/2024
 11621

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

	P.O. No.	Terms		Project
Description		Quantity	Rate	Amount
aine Milton Debris Removal- debris site in Pahokee, Phase	• •	19.2	8.40	161.28
aine Milton Debris Removal-	Loading and Hauling	19.2	8.40	161.28
debris site in Pahokee, Phase aine Milton Debris Removal- debris site in Pahokee, Phase	Loading and Hauling	17.92	8.40	150.53

Ship To

Date	Ticket #		Description		Quantity	Rate	Amount
10/13/2024	322		e Milton Debris Removal-Loading and Hau ebris site in Pahokee, Phase 1 Reclamation	lling	19.2	8.40	161.28
10/13/2024	324	2024 Hurricair	e Milton Debris Removal-Loading and Hau ebris site in Pahokee, Phase 1 Reclamation	ling	19.2	8.40	161.28
10/13/2024	325	2024 Hurricair	e Milton Debris Removal-Loading and Hau ebris site in Pahokee, Phase 1 Reclamation	ling	17.92	8.40	150.53
10/13/2024	326	2024 Hurricair	e Milton Debris Removal-Loading and Hau ebris site in Pahokee, Phase 1 Reclamation	ling	19.2	8.40	161.28
0/13/2024	327	2024 Hurricair	e Milton Debris Removal-Loading and Hau ebris site in Pahokee, Phase 1 Reclamation	ling	19.2	8.40	161.28
0/13/2024	328	2024 Hurricair	e Milton Debris Removal-Loading and Hau ebris site in Pahokee, Phase 1 Reclamation	ling	19.2	8.40	161.28
10/13/2024	329	2024 Hurricair	e Milton Debris Removal-Loading and Hau ebris site in Pahokee, Phase 1 Reclamation	ling	19.2	8.40	161.28
0/13/2024	330	2024 Hurricair	e Milton Debris Removal-Loading and Hau bris site in Pahokee, Phase 1 Reclamation	ling	19.2	8.40	161.28
		Sales Tax				0.00%	0.00
							~
Pho	one #	Fax #	E-mail	Tot	al		\$16,200.45
5(1.0)	24-9250	561-924-9252	tuiwarehouse@yahoo.com	č 1			

71

691 E Main Street Pahokee, FL 33476

lhvoice

 Date
 Invoice #

 10/13/2024
 11622

Bill To

Ship To			

				P.O. No.		Terms	F	Project
Date	Ticket #	e l	Description	l	Q	uantity	Rate	Amount
10/13/2024	117	2024 Hurrican	e Milton Debris Removal-	Processing of Deb	ris	21.25	2.25	47.81
10/13/2024	118	Grinding 2024 Hurrican Grinding	e Milton Debris Removal-	Processing of Deb	ris	18.75	2.25	42.19
10/13/2024	119		e Milton Debris Removal-	Processing of Deb	ris	22.5	2.25	50.63
0/13/2024	139		e Milton Debris Removal-	Processing of Debr	ris	23.04	2.25	51.84
10/13/2024	140		e Milton Debris Removal-	Processing of Deb	ris	24.32	2.25	54.72
10/13/2024	141		e Milton Debris Removal-	Processing of Deb	ris	21.76	2.25	48.96
10/13/2024	142		e Milton Debris Removal-	Processing of Deb	ris	20.48	2.25	46.08
10/13/2024	143		e Milton Debris Removal-	Processing of Debi	ris	21.76	2.25	48.96
10/13/2024	144		e Milton Debris Removal-	Processing of Debr	ris	21.76	2.25	48.96
0/13/2024	146		e Milton Debris Removal-I	Processing of Debr	ris	21.76	2.25	48.96
0/13/2024	147		e Milton Debris Removal-	Processing of Debr	ris	23.04	2.25	51.84
0/13/2024	149		e Milton Debris Removal-	Processing of Debr	ris	19.2	2.25	43.20
10/13/2024	150		e Milton Debris Removal-J	Processing of Debr	ris	21.76	2.25	48.96
10/13/2024	151		e Milton Debris Removal-	Processing of Debr	ris	17.92	2.25	40.32
0/13/2024	152		e Milton Debris Removal-l	Processing of Debr	is	19.2	2.25	43.20
0/13/2024	153		e Milton Debris Removal-J	Processing of Debr	is	21.76	2.25	48.96
0/13/2024	154		e Milton Debris Removal-I	Processing of Debr	ris	20.48	2.25	46.08
Pho	one #	Fax #	E-mail		Total			
561-92	24-9250	561-924-9252	tuiwarehouse@ya	ahoo.com				

691 E Main Street Pahokee, FL 33476 Date Invoice #

10/13/2024 11622

Bill To

Ship To	

				P.O. No.	Terms	;	Project
Date	Ticket #		Description		Quantity	Rate	Amount
10/13/2024	155	2024 Hurrican Grinding	e Milton Debris Removal-J	Processing of Deb	ris 19	2 2.25	43.20
0/13/2024	156		e Milton Debris Removal-l	Processing of Deb	ris 23.0	2.25	51.84
0/13/2024	157		e Milton Debris Removal-J	Processing of Deb	ris 17.9	2 2.25	40.32
10/13/2024	158		e Milton Debris Removal-I	Processing of Deb	ris 20.4	.8 2.25	46.08
10/13/2024	161	Grinding	e Milton Debris Removal-I	-			41.51
10/13/2024	162	Grinding	e Milton Debris Removal-l	-			52.58
10/13/2024	163	Grinding	e Milton Debris Removal-I	Ū			
10/13/2024	164	Grinding	e Milton Debris Removal-I	-			
10/13/2024	165	Grinding	e Milton Debris Removal-I	-			
10/13/2024	166	Grinding	e Milton Debris Removal-I	Processing of Debi	ris 18.4	5 2.25	41.51
0/13/2024	167		e Milton Debris Removal-I	Processing of Deb	ris 22.1	4 2.25	49.82
0/13/2024	168	Grinding	e Milton Debris Removal-I	0		1 2.25	47.05
10/13/2024	170	Grinding	e Milton Debris Removal-I	_			
10/13/2024	171	2024 Hurrican Grinding	e Milton Debris Removal-I	Processing of Deb	ris 23.3	7 2.25	52.58
0/13/2024	172		e Milton Debris Removal-H	Processing of Debr	ris 22.1	4 2.25	49.82
0/13/2024	173		e Milton Debris Removal-I	Processing of Deb	ris 20.9	1 2.25	47.05
0/13/2024	174		e Milton Debris Removal-F	Processing of Debr	ris 20.9	1 2.25	47.05
			- ··		Total	41	
Pho	one #	Fax #	E-mail				
561-9	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com			

691 E Main Street Pahokee, FL 33476 Section I, Item 4.

Invoice

Date Invoice # 10/13/2024 11622

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To		

				P.O. No.	T	erms	F	Project
Date	Ticket a	#	Description		Qua	ntity	Rate	Amount
10/13/2024	175	2024 Hurrican Grinding	e Milton Debris Removal-I	Processing of Deb	ris	19.68	2.25	44.28
10/13/2024	176		e Milton Debris Removal-F	Processing of Deb	ris	20.91	2.25	47.05
10/13/2024	177		e Milton Debris Removal-F	Processing of Deb	ris	23.37	2.25	52.58
10/13/2024	178		e Milton Debris Removal-F	Processing of Deb	ris	18.45	2.25	41.51
10/13/2024	180		e Milton Debris Removal-F	Processing of Deb	ris	22.14	2.25	49.82
10/13/2024	197	Grinding	e Milton Debris Removal-F	-		19.68	2.25	44.28
10/13/2024	218	Grinding	e Milton Debris Removal-F	-		18.75	2.25	42.19
10/13/2024	219	Grinding	e Milton Debris Removal-F	_		21.25	2.25	47.81
10/13/2024	220	Grinding	e Milton Debris Removal-F	-		22.5	2.25	50.63
10/13/2024	221	2024 Hurricane Grinding	e Milton Debris Removal-F	Processing of Deb	ris	21.25	2.25	47.81
0/13/2024	222	2024 Hurricane Grinding	e Milton Debris Removal-F	Processing of Deb	ris	20	2.25	45.00
0/13/2024	223	Grinding	e Milton Debris Removal-F	_		18.75	2.25	42.19
10/13/2024	224	2024 Hurricane Grinding	e Milton Debris Removal-F	Processing of Debr	ris	21.25	2.25	47.81
0/13/2024	225		e Milton Debris Removal-F	Processing of Deb	ris	20	2.25	45.00
0/13/2024	227		e Milton Debris Removal-F	rocessing of Deb	ris	21.25	2.25	47.81
0/13/2024	228		e Milton Debris Removal-P	rocessing of Deb	ris	23.75	2.25	53.44
0/13/2024	229		e Milton Debris Removal-P	Processing of Debr	ris	18.75	2.25	42.19
			E		Total	ļ.		
Pho	one #	Fax #	E-mail					
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com				

691 E Main Street Pahokee, FL 33476

Irvoice

Date	Invoice #
10/13/2024	11622

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

i ii	
	Ship To

				P.O. No.		Terms		Project
Date	Ticket	#	Description			Quantity	Rate	Amount
10/13/2024	230		e Milton Debris Removal-I	Processing of Deb	oris	21.25	2.25	47.81
10/13/2024	231	Grinding 2024 Hurrican Grinding	e Milton Debris Removal-I	Processing of Deb	oris	20	2.25	45.00
10/13/2024	232		e Milton Debris Removal-I	Processing of Deb	oris	18.75	2.25	42.19
10/13/2024	262		e Milton Debris Removal-I	Processing of Deb	oris	19.2	2.25	43.20
10/13/2024	263	0	e Milton Debris Removal-F	Processing of Deb	oris	19.2	2.25	43.20
10/13/2024	264		e Milton Debris Removal-I	Processing of Deb	oris	19.2	2.25	43.20
10/13/2024	265		e Milton Debris Removal-F	Processing of Deb	oris	20.48	2.25	46.08
10/13/2024	266		e Milton Debris Removal-F	Processing of Deb	oris	20.48	2.25	46.08
10/13/2024	267	2024 Hurrican	e Milton Debris Removal-F	Processing of Deb	ris	19.2	2.25	43.20
10/13/2024	268		e Milton Debris Removal-F	Processing of Deb	ris	24.32	2.25	54.72
10/13/2024	270		e Milton Debris Removal-F	Processing of Deb	ris	21.76	2.25	48.96
10/13/2024	271		e Milton Debris Removal-F	Processing of Deb	ris	20.48	2.25	46.08
10/13/2024	272		e Milton Debris Removal-F	Processing of Deb	ris	21.76	2.25	48.96
10/13/2024	273		e Milton Debris Removal-F	Processing of Deb	ris	21.76	2.25	48.96
10/13/2024	274		e Milton Debris Removal-F	Processing of Deb	ris	20.48	2.25	46.08
10/13/2024	275		e Milton Debrís Removal-F	Processing of Deb	ris	19.2	2.25	43.20
10/13/2024	276	Grinding 2024 Hurricand Grinding	e Milton Debris Removal-F	Processing of Deb	ris	17.92	2.25	40.32
					Tot	al		
Pho	one #	Fax #	E-mail					
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com				Г

691 E Main Street Pahokee, FL 33476

Date Invoice # 10/13/2024 11622

linvoice

Bill To

Ship ⊺o		
1		

				P.O. No.	Terms		Project
Date	Ticket	:#	Description		Quantity	Rate	Amount
10/13/2024	277	2024 Hurrican	e Milton Debris Removal-I	Processing of Debr	ris 20.48	2.25	46.08
		Grinding		E .		2.25	40.00
10/13/2024	278	2024 Hurrican	e Milton Debris Removal-I	Processing of Debr	ris 19.2	2.25	43.20
10/13/2024	280	Grinding	e Milton Debris Removal-I	Processing of Debr	ris 20.48	2.25	46.08
10/15/2024	200	Grinding		Tocessing of Debi	15 20.40	2.23	40.08
10/13/2024	281	2024 Hurrican	e Milton Debris Removal-I	Processing of Debr	is 21.76	2.25	48.96
10/12/2024	202	Grinding					
10/13/2024	282	Grinding	e Milton Debris Removal-I	rocessing of Debr	ris 19.2	2.25	43.20
10/13/2024	283		e Milton Debris Removal-F	Processing of Debr	is 20.48	2.25	46.08
		Grinding		-		2120	10.00
10/13/2024	304	2024 Hurrican	e Milton Debris Removal-H	Processing of Debr	is 23.04	2.25	51.84
10/13/2024	306	Grinding	e Milton Debris Removal-F	maaaaina of Daha		2.05	10.07
10/13/2024	300	Grinding	e Millon Debris Removal-F	rocessing of Debr	is 21.76	2.25	48.96
10/13/2024	307		e Milton Debris Removal-F	Processing of Debra	is 21.76	2.25	48.96
		Grinding					
10/13/2024	308		e Milton Debris Removal-F	rocessing of Debri	is 19.2	2.25	43.20
10/13/2024	309	Grinding 2024 Hurrican	e Milton Debris Removal-F	rocessing of Debri	is 21.76	2.25	48.96
		Grinding		Toecosing of Deon	15 21.70	2.23	40.70
10/13/2024	311	2024 Hurrican	e Milton Debris Removal-F	rocessing of Debri	is 21.76	2.25	48.96
10/12/2024	212	Grinding					
10/13/2024	312	Grinding	e Milton Debris Removal-P	rocessing of Debri	is 21.76	2.25	48.96
10/13/2024	313		e Milton Debris Removal-F	rocessing of Debri	is 19.2	2.25	43.20
		Grinding		•			
10/13/2024	314		e Milton Debris Removal-P	rocessing of Debri	is 23.04	2.25	51.84
0/13/2024	320	Grinding	e Milton Debris Removal-P	rocausing of Dah-	is 23.04	2.25	£1.94
0/10/2027	520	Grinding	WINDER DEDITS REINUVAL-P	rocessing of Debri	23.04	2.25	51.84
0/13/2024	321	2024 Hurricane	e Milton Debris Removal-P	rocessing of Debri	is 24.32	2.25	54.72
		Grinding					
				0	Total		
Pho	one #	Fax #	E-mail				
5(1.0)	1 0250	5(1,024,0252					
301-92	24-9250	561-924-9252	tuiwarehouse@yal	100.com			

691 E Main Street Pahokee, FL 33476 Section I, Item 4.

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To		

Terms

Date 0/13/2024 32	Ticket #	1						
	Ticket #	1						
0/13/2024 32			Description			Quantity	Rate	Amount
	22	2024 Hurricane Grinding	Milton Debris Removal-I	Processing of Debr	ris	19.2	2.25	43.20
0/13/2024 32	24		e Milton Debris Removal-H	Processing of Debr	ris	19.2	2.25	43.20
0/13/2024 32	.5	2024 Hurricane	Milton Debris Removal-I	Processing of Debr	ris	17.92	2.25	40.32
0/13/2024 32	.6		Milton Debris Removal-I	Processing of Debr	ris	19.2	2.25	43.20
0/13/2024 32	.7		Milton Debris Removal-F	Processing of Debr	ris	19.2	2.25	43.20
0/13/2024 32	8	Grinding 2024 Hurricane	Milton Debris Removal-F	Processing of Debr	ris	19.2	2.25	43.20
0/13/2024 32	9	Grinding 2024 Hurricane	Milton Debris Removal-F	Processing of Debr	ris	19.2	2.25	43.20
0/13/2024 33	0	Grinding 2024 Hurricane	Milton Debris Removal-F	rocessing of Debr	ris	19.2	2.25	43.20
		Grinding Sales Tax					0.00%	0.00
-								
Phone	#	Fax #	E-mail		Tot	al		\$4,339.44
561-924-9	250 56	1-924-9252	tuiwarehouse@yal	100.com				

P.O. No.

691 E Main Street Pahokee, FL 33476 Date Invoice #

10/13/2024

4 11623

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms	F	Project
Date	Ticket #		Description		Quantity	Rate	Amount
0/13/2024	117	2024 Hurrican	Milton Debris Removal-L	oading Hauling and	21.25	8.70	184.88
	1		ard Waste Final Destinatio		21.25	0.70	101.00
0/13/2024	118		Milton Debris Removal-L		18.75	8.70	163.13
			ard Waste Final Destinatio				
0/13/2024	119		Milton Debris Removal-L		22.5	8.70	195.75
			ard Waste Final Destinatio				
0/13/2024	139		Milton Debris Removal-L		23.04	8.70	200.45
			ard Waste Final Destinatio			0170	200110
0/13/2024	140		Milton Debris Removal-L		24.32	8.70	211.58
			ard Waste Final Destinatio			0.70	211100
0/13/2024	141		Milton Debris Removal-L		21.76	8.70	189.31
		Disposing of Y	ard Waste Final Destination	n		0.10	107.51
0/13/2024	142		Milton Debris Removal-L		20.48	8.70	178.18
0/10/2021			ard Waste Final Destination		20.40	0.70	170.10
0/13/2024	143		Milton Debris Removal-L		21.76	8.70	189.31
0/10/2021			ard Waste Final Destination		21.70	0.70	107.51
0/13/2024	144		Milton Debris Removal-L		21.76	8.70	189.31
0.13.2021	1.1.1		ard Waste Final Destination		21.70	8.70	107.31
0/13/2024	146		Milton Debris Removal-L		21.76	8.70	189.31
0/10/2021	110		rd Waste Final Destination		21.70	0.70	109.51
0/13/2024	147		Milton Debris Removal-L		23.04	8.70	200.45
0/15/2024	14/		ard Waste Final Destination		25.04	8.70	200.45
0/13/2024	149		Milton Debris Removal-L		19.2	8.70	167.04
0/15/2024	147		rd Waste Final Destination		19.2	0.70	107.04
0/13/2024	150		Milton Debris Removal-L		21.76	8.70	189.31
0/15/2024	150		rd Waste Final Destination		21.70	8.70	169.31
0/13/2024	151		Milton Debris Removal-L		17.92	8.70	155.00
0/15/2024	151		rd Waste Final Destination		17.92	0.70	155.90
)/13/2024	152		Milton Debris Removal-L		19.2	8.70	167.04
0/15/2024	152		rd Waste Final Destination		19.2	0.70	107.04
)/13/2024	153		Milton Debris Removal-L		21.76	8.70	189.31
5/15/2024	155		rd Waste Final Destination		21.70	0.70	109.31
)/13/2024	154		Milton Debris Removal-L		20.48	8.70	170 10
0/13/2024	154		rd Waste Final Destination		20.46	0.70	178.18
			uu waste rinai Destinatioi				
	1			To	otal		
Pho	one #	Fax #	E-mail				
			20043101-0404030				
561-92	24-9250	561-924-9252	tuiwarehouse@yah	100.com			

Ship To

78

691 E Main Street Pahokee, FL 33476

Bill To

Ship To	

				P.O. No.		Terms	F	Project
Date	Ticket #		Description			Quantity	Rate	Amount
10/13/2024	155		Milton Debris Removal-		and	19.2	8.70	167.04
10/13/2024	156	2024 Hurricane	ard Waste Final Destination Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	ind	23.04	8.70	200.45
10/13/2024	157	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	ind	17.92	8.70	155.90
10/13/2024	158	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	and	20.48	8.70	178.18
10/13/2024	161	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	and	18.45	8.70	160.52
10/13/2024	162	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	and	23.37	8.70	203.32
10/13/2024	163	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	and	19.68	8.70	171.22
10/13/2024	164	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	and	19.68	8.70	171.22
10/13/2024	165	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	ind	23.37	8.70	203.32
10/13/2024	166	Disposing of Y	Milton Debris Removal- ard Waste Final Destination	on		18.45	8.70	160.52
0/13/2024	167	Disposing of Y	Milton Debris Removal- ard Waste Final Destination	on		22.14	8.70	192.62
10/13/2024	168	Disposing of Y	Milton Debris Removal- ard Waste Final Destination	on		20.91	8.70	181.92
0/13/2024	170		Milton Debris Removal- ard Waste Final Destination		and	22.14	8.70	192.62
0/13/2024	171	2024 Hurricane	Milton Debris Removal-	Loading, Hauling a	and	23.37	8.70	203.32
0/13/2024	172	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	and	22.14	8.70	192.62
0/13/2024	173	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	ind	20.91	8.70	181.92
0/13/2024	174	2024 Hurricane	Milton Debris Removal- ard Waste Final Destination	Loading, Hauling a	ind	20.91	8.70	181.92
					Tota			
Ph	one #	Fax#	E-mail		iula			

Phone #	Fax #	E-mail	Total
561-924-9250	561-924-9252	tuiwarehouse@yahoo.com	

691 E Main Street Pahokee, FL 33476

Date Invoice # 10/13/2024 11623

Bill To

Ship To		

					P.O. No.	Terms		Project
							_	
	Date	Ticket	#	Description		Quantity	Rate	Amount
10	/13/2024	175		e Milton Debris Removal-L		19.68	8.70	171.22
10	/13/2024	176	2024 Hurrican	'ard Waste Final Destinatio e Milton Debris Removal-L 'ard Waste Final Destinatio	oading, Hauling and	20.91	8.70	181.92
10	/13/2024	177	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	23.37	8.70	203.32
10	/13/2024	178	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	18.45	8.70	160.52
10	/13/2024	180	2024 Hurrican	e Milton Debris Removal-L Yard Waste Final Destinatio	loading, Hauling and	22.14	8.70	192.62
10	/13/2024	197	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	19.68	8.70	171.22
10	/13/2024	218	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	18.75	8.70	163.13
10	/13/2024	219	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	21.25	8.70	184.88
10	/13/2024	220	2024 Hurrican	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	22.5	8.70	195.75
10,	/13/2024	221	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	21.25	8.70	184.88
10	/13/2024	222	2024 Hurrican	e Milton Debris Removal-L	oading, Hauling and	20	8.70	174.00
10	/13/2024	223	2024 Hurricane	ard Waste Final Destinatio e Milton Debris Removal-L	oading, Hauling and	18.75	8.70	163.13
10	/13/2024	224	2024 Hurricand	ard Waste Final Destinatio Milton Debris Removal-L	oading, Hauling and	21.25	8.70	184.88
10	/13/2024	225	2024 Hurrican	ard Waste Final Destinatio e Milton Debris Removal-L	oading, Hauling and	20	8.70	174.00
10,	/13/2024	227	2024 Hurrican	ard Waste Final Destinatio e Milton Debris Removal-L	oading, Hauling and	21.25	8.70	184.88
10,	/13/2024	228	2024 Hurricand	ard Waste Final Destinatio Milton Debris Removal-L	oading, Hauling and	23.75	8.70	206.63
10	/13/2024	229	2024 Hurricand	ard Waste Final Destinatio e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling and	18.75	8.70	163.13
	51		F	F 9		Fotal		
	Pho	one #	Fax #	E-mail				
	561-92	24-9250	561-924-9252	tuiwarehouse@ya				

691 E Main Street Pahokee, FL 33476

Bill To

Ship To		

				P.O. No.		Terms		Project
Date	Ticket	#	Description			Quantity	Rate	Amount
10/13/2024	230		e Milton Debris Removal-I		and	21.25	8.70	184.88
10/13/2024	231	2024 Hurrican	ard Waste Final Destinatio e Milton Debris Removal-L ard Waste Final Destinatio	Loading, Hauling a	and	20	8.70	174.00
10/13/2024	232	2024 Hurrican	e Milton Debris Removal-I ard Waste Final Destinatio	loading, Hauling a	and	18.75	8.70	163.13
10/13/2024	262	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	loading, Hauling a	and	19.2	8.70	167.04
10/13/2024	263	2024 Hurricand	e Milton Debris Removal-L ard Waste Final Destinatio	Loading, Hauling a	and	19.2	8.70	167.04
10/13/2024	264	2024 Hurricand	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	and	19.2	8.70	167.04
10/13/2024	265	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	and	20.48	8.70	178.18
10/13/2024	266	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	and	20.48	8.70	178.18
10/13/2024	267	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	and	19.2	8.70	167.04
10/13/2024	268	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	loading, Hauling a	and	24.32	8.70	211.58
10/13/2024	270	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	and	21.76	8.70	189.31
10/13/2024	271	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	and	20.48	8.70	178.18
10/13/2024	272	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	and	21.76	8.70	189.31
10/13/2024	273	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	and	21.76	8.70	189.31
10/13/2024	274	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	and	20.48	8.70	178.18
10/13/2024	275	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	and	19.2	8.70	167.04
10/13/2024	276	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	and	17.92	8.70	155.90
					Tota	at i		
Pho	one #	Fax #	E-mail					
561-9	24-9250	561-924-9252	tuiwarehouse@yal	hoo.com				Г

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/13/2024	11623

Bill To

561-924-9250

561-924-9252

Ship To		
-		
1		

					P.O. No.	Term	s	F	Project
							SC.		
	Date	Ticket	#	Description		Quantity	R	ate	Amount
10/	13/2024	277		e Milton Debris Removal-I		nd 20.	48	8.70	178.18
10/	13/2024	278	2024 Hurricane	ard Waste Final Destination e Milton Debris Removal-L ard Waste Final Destination	Loading, Hauling a	nd 19	9.2	8.70	167.04
10/	13/2024	280	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	nd 20.	48	8.70	178.18
10/	13/2024	281	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destination	.oading, Hauling a	nd 21.	76	8.70	189.31
10/	13/2024	282	2024 Hurricand	e Milton Debris Removal-I ard Waste Final Destinatio	.oading, Hauling a	nd 19	9.2	8.70	167.04
10/	13/2024	283	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destinatio	.oading, Hauling a	nd 20.	48	8.70	178.18
10/	13/2024	304	2024 Hurricane	e Milton Debris Removal-L	.oading, Hauling a	nd 23.	04	8.70	200.45
10/	13/2024	306	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-L	.oading, Hauling a	nd 21.	76	8.70	189.31
10/	13/2024	307	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	nd 21.	76	8.70	189.31
10/	13/2024	308	2024 Hurricane	e Milton Debris Removal-L	oading, Hauling a	nd 19	.2	8.70	167.04
10/	13/2024	309	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	nd 21.	76	8.70	189.31
10/	13/2024	311	2024 Hurricane	e Milton Debris Removal-L	.oading, Hauling a	nd 21.	76	8.70	189.31
10/	13/2024	312	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling a	nd 21.	76	8.70	189.31
10/	13/2024	313	2024 Hurricane	e Milton Debris Removal-L	.oading, Hauling a	nd 19	.2	8.70	167.04
10/	13/2024	314	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L	.oading, Hauling a	nd 23.	04	8.70	200.45
10/	13/2024	320	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L	.oading, Hauling a	nd 23.	04	8.70	200.45
10/	13/2024	321	2024 Hurricane	ard Waste Final Destinatio Milton Debris Removal-L ard Waste Final Destinatio	oading, Hauling a	nd 24.	32	8.70	211.58
_				aru waste rinai Destinatio			1		
	Pho	ne #	Fax #	E-mail		Total			

tuiwarehouse@yahoo.com
Page 5

691 E Main Street Pahokee, FL 33476

 Date
 Invoice #

 10/13/2024
 11623

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To			

Terms

Date	Ticket	#	Description		Quantity	Rate	Amount
10/13/2024	322		e Milton Debris Removal-Loading, Haulin	g and	19.2	8.70	167.04
10/13/2024	324	2024 Hurrican	Yard Waste Final Destination ne Milton Debris Removal-Loading, Hauling Yard Waste Final Destination	g and	19.2	8.70	167.04
10/13/2024	325	2024 Hurrican	he Milton Debris Removal-Loading, Hauling Yard Waste Final Destination	g and	17.92	8.70	155.90
10/13/2024	326	2024 Hurrican	le Milton Debris Removal-Loading, Hauling Yard Waste Final Destination	g and	19.2	8.70	167.04
10/13/2024	327	2024 Hurrican	tad Waste Final Destination Marting Marting Mauling Mauling Mauling Marting Marting Marting Marting Marting Marting Marting Marting Marting	g and	19.2	8.70	167.04
10/13/2024	328	2024 Hurrican	e Milton Debris Removal-Loading, Hauling ard Waste Final Destination	g and	19.2	8.70	167.04
10/13/2024	329	2024 Hurrican	e Milton Debris Removal-Loading, Hauling (ard Waste Final Destination	g and	19.2	8.70	167.04
10/13/2024	330	2024 Hurrican	e Milton Debris Removal-Loading, Hauling ard Waste Final Destination	g and	19.2	8.70	167.04
		Sales Tax				0.00%	0.00
Dh	one#	Fax #	E-mail	Tot	al		\$16,779.19
			22-11-049-0241	-			
561-92	24-9250	561-924-9252	tuiwarehouse@yahoo.com				

P.O. No.

691 E Main Street Pahokee, FL 33476 Section I, Item 4.

Irvoice

 Date
 Invoice #

 10/14/2024
 11625

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

					P.O. No.		Terms	F	Project
	Date	Ticke	t #	Description			Quantity	Rate	Amount
10	/14/2024	159		ne Milton Debris Removal-		uling	20.48	8.40	172.03
10	/14/2024	199	2024 Hurricain	ebris site in Pahokee, Phase ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Ha	uling	19.2	8.40	161.28
10	/14/2024	200	2024 Hurricain	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Ha	ıling	23.04	8.40	193.54
10,	/14/2024	204	2024 Hurricain	ne Milton Debris Removal-J ebris site in Pahokee, Phase	Loading and Hau	ıling	19.2	8.40	161.28
10.	/14/2024	210	2024 Hurricai	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hau	ıling	20.48	8.40	172.03
10,	/14/2024	217	2024 Hurricair	ne Milton Debris Removal-	Loading and Hau	ıling	19.2	8.40	161.28
10,	/14/2024	226	2024 Hurricain	(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris gits in Pahokee, Phase 1 Paplemetics				8.40	172.03
10/	/14/2024	233	2024 Hurricair	(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Paholeon Phase 1 Paeleuration				8.40	161.28
10/	/14/2024	234	2024 Hurricair	rucking) to debris site in Pahokee, Phase 1 Reclamation 024 Hurricaine Milton Debris Removal-Loading and Hauling rucking) to debris site in Pahokee, Phase 1 Pacloretien				8.40	161.28
10/	14/2024	235	2024 Hurricair	rucking) to debris site in Pahokee, Phase 1 Reclamation 024 Hurricaine Milton Debris Removal-Loading and Hauling rucking) to debris site in Pahokee. Phase 1 Reclamation				8.40	172.03
10/	14/2024	236	2024 Hurricair	(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling				8.40	161.28
10/	14/2024	237	2024 Hurricair	(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation				8.40	150.53
10/	14/2024	238	2024 Hurricain	2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation			19.2	8.40	161.28
10/	14/2024	239	2024 Hurricain	2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation			20.48	8.40	172.03
10/	14/2024	240	2024 Hurricain	e Milton Debris Removal-I	Loading and Hau	ling	21.76	8.40	182.78
10/	14/2024	245	2024 Hurricain	(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Packaretier				8.40	182.78
10/	14/2024	251	2024 Hurricain	(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1 Reclamation				8.40	161.28
-						Te	tal		
	Pho	ne #	Fax #	E-mail		To	ldi		
ſ	561-92	24-9250	561-924-9252	tuiwarehouse@yah	100.com				Г

691 E Main Street Pahokee, FL 33476

Invoice

 Date
 Invoice #

 10/14/2024
 11625

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms		Project
Date	Ticket #		Description		Quantity	Rate	Amount
0/14/2024	260	2024 Uuminoin	Milton Debris Removal-	Looding and Hauling	19.2	8.40	161.28
0/14/2024	200		bris site in Pahokee, Phas		17.2	8.40	101.20
0/14/2024	269	2024 Hurricain	e Milton Debris Removal-	Loading and Hauling	20.48	8.40	172.03
0/14/2024	279		bris site in Pahokee, Phas Milton Debris Removal-		19.2	8.40	161.28
0/14/2024	279		bris site in Pahokee, Phas		19.2	0.40	101.20
0/14/2024	291		e Milton Debris Removal-		20.48	* 8.40	172.03
0/14/2024	271	(trucking) to de	bris site in Pahokee, Phas	e 1 Reclamation	20.40	0.10	172.00
0/14/2024	300		e Milton Debris Removal-		21.76	8.40	182.78
			bris site in Pahokee, Phas				
0/14/2024	316		e Milton Debris Removal-		19.2	8.40	161.28
			bris site in Pahokee, Phas				
0/14/2024	317		e Milton Debris Removal-		17.92	8.40	150.53
0.11.4/0004	210		bris site in Pahokee, Phas		20.49	9.40	172.00
0/14/2024	318		e Milton Debris Removal- bris site in Pahokee, Phas		20.48	8.40	172.03
0/14/2024	319		e Milton Debris Removal-		20.48	8.40	172.03
0/14/2024	519		bris site in Pahokee, Phas		20.40	0.40	172.05
0/14/2024	331		Milton Debris Removal-		18.75	8.40	157.50
		(trucking) to de	bris site in Pahokee, Phas	e 1 Reclamation			
0/14/2024	333		e Milton Debris Removal-		20	8.40	168.00
			bris site in Pahokee, Phas				1 4 7 0 0
0/14/2024	334		Milton Debris Removal-		17.5	8.40	147.00
0/14/2024	335		bris site in Pahokee, Phase		20	8.40	168.00
0/14/2024	333	2024 Hurricaine Milton Debris Removal-Loading and Hauling208(trucking) to debris site in Pahokee, Phase 1 Reclamation208				0.40	100.00
0/14/2024	336				21.25	8.40	178.50
		2024 Hurricaine Milton Debris Removal-Loading and Hauling 2 (trucking) to debris site in Pahokee, Phase 1 Reclamation					
0/14/2024	337	2024 Hurricain	e Milton Debris Removal-	Loading and Hauling	20.48	8.40	172.03
			bris site in Pahokee, Phase				
0/14/2024	338	2024 Hurricaine Milton Debris Removal-Loading and Hauling			19.2	8.40	161.28
			bris site in Pahokee, Phas		17.00	0.40	150 53
0/14/2024	339		e Milton Debris Removal- bris site in Pahokee. Phase		17.92	8.40	150.53
		(indexing) to de	ons she in ranokee. Phas				
		· · · ·) <u> </u>	1	otal		
Pho	one #	Fax #	E-mail				
561.0	24-9250 5	61-924-9252	tuiwarehouse@ya	hoo com			
JU1•7.	∠¬->∠JU J	U1-J27-J2J2	Lui wai chou Sc(a) ya	4100.0011			

Ship To

85

691 E Main Street Pahokee, FL 33476 Invoice

 Date
 Invoice #

 10/14/2024
 11625

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

DateTicket #Description10/14/20243402024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation Sales Tax	ling 21.76 ling 20.48	8.40 8.40	Amount 193.54 182.78 172.03
10/14/2024341(trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation10/14/20243422024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation	ling 21.76 ling 20.48	8.40 8.40	182.78
10/14/20243412024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation10/14/20243422024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation10/14/20243432024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation10/14/20243432024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation	ling 20.48	8.40	
10/14/20243422024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation10/14/20243432024 Hurricaine Milton Debris Removal-Loading and Hau (trucking) to debris site in Pahokee, Phase 1 Reclamation			172.03
10/14/2024 343 2024 Hurricaine Milton Debris Removal-Loading and Hat (trucking) to debris site in Pahokee, Phase 1 Reclamation	ling 21.76	8.40	
			182.78
		0.00%	0.00
Phone # Fax # E-mail	Total		\$6,399.26
561-924-9250 561-924-9252 tuiwarehouse@yahoo.com			

691 E Main Street Pahokee, FL 33476

Invoice

 Date
 Invoice #

 10/14/2024
 11626

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

	Ship To	
Ī		

Terms

Date	Ticket #	2	Description		Rate	Amount
10/14/2024	159		e Milton Debris Removal-Processing of Deb	oris 20.48	3 2.25	46.08
10/14/2024	199	Grinding 2024 Hurricand Grinding	e Milton Debris Removal-Processing of Deb	oris 19.2	2 2.25	43.20
10/14/2024	200		e Milton Debris Removal-Processing of Deb	oris 23.04	2.25	51.84
10/14/2024	204		Milton Debris Removal-Processing of Deb	oris 19.2	2.25	43.20
10/14/2024	210		e Milton Debris Removal-Processing of Deb	oris 20.48	3 2.25	46.08
10/14/2024	217		e Milton Debris Removal-Processing of Deb	oris 19.2	2 2.25	43.20
10/14/2024	226		e Milton Debris Removal-Processing of Deb	oris 20.48	3 2.25	46.08
10/14/2024	233		e Milton Debris Removal-Processing of Deb	oris 19.2	2.25	43.20
10/14/2024	234		e Milton Debris Removal-Processing of Deb	oris 19.2	2.25	43.20
10/14/2024	235		e Milton Debris Removal-Processing of Deb	oris 20.48	2.25	46.08
0/14/2024	236	ų į	2024 Hurricane Milton Debris Removal-Processing of Debris		2.25	43.20
10/14/2024	237	0	2024 Hurricane Milton Debris Removal-Processing of Debris		2.25	40.32
0/14/2024	238		Milton Debris Removal-Processing of Deb	oris 19.2	2.25	43.20
10/14/2024	239		2024 Hurricane Milton Debris Removal-Processing of Debris		2.25	46.08
10/14/2024	240		2024 Hurricane Milton Debris Removal-Processing of Debris		2.25	48.96
10/14/2024	245		2024 Hurricane Milton Debris Removal-Processing of Debris		2.25	48.96
0/14/2024	251		Milton Debris Removal-Processing of Deb	oris 19.2	2.25	43.20
Pho	one #	Fax #	E-mail	Total		
561-9	24-9250	561-924-9252	tuiwarehouse@yahoo.com			

P.O. No.

691 E Main Street Pahokee, FL 33476

IVUICE

Invoice # Date 10/14/2024 11626

Bill To

561-924-9250

561-924-9252

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To	

		P.O. No,			Terms		Project
Date	Ticket #		Description		Quantity	Rate	Amount
10/14/2024	260		e Milton Debris Removal-	Processing of Debr	is 19.2	2.25	43.20
10/14/2024	269	Grinding 2024 Hurricane Grinding	e Milton Debris Removal-	Processing of Debr	is 20.48	2.25	46.08
10/14/2024	279		e Milton Debris Removal-	Processing of Debr	is 19.2	2.25	43.20
10/14/2024	291		e Milton Debris Removal-	Processing of Debr	is 20.48	2.25	46.08
10/14/2024	300		e Milton Debris Removal-	Processing of Debr	is 21.76	2.25	48.96
10/14/2024	316		e Milton Debris Removal-	Processing of Debr	is 19.2	2.25	43.20
10/14/2024	317		2024 Hurricane Milton Debris Removal-Processing of Debris			2.25	40.32
10/14/2024	318	2024 Hurricane Grinding	2024 Hurricane Milton Debris Removal-Processing of Debris			2.25	46.08
10/14/2024	319	2024 Hurricane Grinding	e Milton Debris Removal-	Processing of Debr	is 20.48	2.25	46.08
10/14/2024	331	2024 Hurricane Grinding	e Milton Debris Removal-	Processing of Debr	is 18.75	2.25	42.19
10/14/2024	333	2024 Hurricane Grinding	e Milton Debris Removal-	Processing of Debr	is 20	2.25	45.00
10/14/2024	334	2024 Hurricane Grinding	e Milton Debris Removal-	Processing of Debr	is 17.5	2.25	39.38
10/14/2024	335	Grinding	e Milton Debris Removal-	Ū.		2.25	45.00
10/14/2024	336	2024 Hurricane Grinding	2024 Hurricane Milton Debris Removal-Processing of Debris			2.25	47.81
10/14/2024	337	2024 Hurricane Grinding	2024 Hurricane Milton Debris Removal-Processing of Debris			2.25	46.08
10/14/2024	338		2024 Hurricane Milton Debris Removal-Processing of Debris			2.25	43.20
10/14/2024	339	2024 Hurricane Milton Debris Removal-Processing of Debris Grinding			is 17.92	2.25	40.32
Pho	one #	Fax #	E-mail		Total		

tuiwarehouse@yahoo.com

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/14/2024	11626

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

			P.C). No.	Terms		Project
Date	Ticket #		Description		Quantity	Rate	Amount
0/14/2024	340	2024 Hurrican Grinding	e Milton Debris Removal-Processing	of Debris	23.04	2.25	51.84
0/14/2024	341	2024 Hurrican	e Milton Debris Removal-Processing	of Debris	21.76	2.25	48.96
0/14/2024	342	Grinding 2024 Hurrican	e Milton Debris Removal-Processing	of Debris	20.48	2.25	46.08
0/14/2024	343	Grinding 2024 Hurrican Grinding	e Milton Debris Removal-Processing	of Debris	21.76	2.25	48.96
		Sales Tax				0.00%	0.00
Pho	one #	Fax #	E-mail	— То	tal		\$1,714.10
561-924-9250 561-924-9252 tuiwarehouse@ys							

ĩ.	Section I, Item 4.
11	INDICE

691 E Main Street Pahokee, FL 33476

linvoice

Date Invoice # 10/14/2024 11627

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To

				P.O. No.		Terms	ł	Project
Date	Ticket	#	Description		Q	uantity	Rate	Amount
10/14/2024	159		e Milton Debris Removal-I		and	20.48	8.70	178.18
10/14/2024	199	2024 Hurrican	ard Waste Final Destinatio e Milton Debris Removal-L	.oading, Hauling a	and	19.2	8.70	167.04
10/14/2024	200		ard Waste Final Destinatio e Milton Debris Removal-L		and	23.04	8.70	200.45
		Disposing of Y	ard Waste Final Destinatio	n				
10/14/2024	204		e Milton Debris Removal-L ard Waste Final Destinatio		ind	19.2	8.70	167.04
10/14/2024	210	2024 Hurrican	e Milton Debris Removal-L	.oading, Hauling a	and	20.48	8.70	178.18
10/14/2024	217	2024 Hurrican	ard Waste Final Destinatio e Milton Debris Removal-L	oading, Hauling a	and	19.2	8.70	167.04
10/14/2024	226	2024 Hurrican	ard Waste Final Destinatio e Milton Debris Removal-L	oading, Hauling a	ınd	20.48	8.70	178.18
10/14/2024	233		ard Waste Final Destinatio e Milton Debris Removal-L		nd	19.2	8.70	167.04
10/11/10001		Disposing of Y	ard Waste Final Destinatio	n				
10/14/2024	234		e Milton Debris Removal-L Yard Waste Final Destination		ind	19.2	8.70	167.04
10/14/2024	235	2024 Hurrican	e Milton Debris Removal-L	oading, Hauling a	ind	20.48	8.70	178.18
10/14/2024	236	2024 Hurrican	ard Waste Final Destination e Milton Debris Removal-L	oading, Hauling a	nd	19.2	8.70	167.04
10/14/2024	237		ard Waste Final Destination e Milton Debris Removal-L		nd	17.92	8.70	155.90
		Disposing of Y	ard Waste Final Destination	n		17.52		155.70
10/14/2024	238		e Milton Debris Removal-L Yard Waste Final Destination		nd	19.2	8.70	167.04
10/14/2024	239	2024 Hurricand	e Milton Debris Removal-L	oading, Hauling a	nd	20.48	8.70	178.18
10/14/2024	240		ard Waste Final Destination e Milton Debris Removal-L		nd	21.76	8.70	189.31
10/14/2024	245	Disposing of Y	ard Waste Final Destination Milton Debris Removal-L	n		21.76		
10/14/2024	245		ard Waste Final Destination			21.76	8.70	189.31
10/14/2024	251		e Milton Debris Removal-L ard Waste Final Destination		nd	19.2	8.70	167.04
	1				Total			
Pho	one #	Fax #	E-mail					
561-92	24-9250	561-924-9252	tuiwarehouse@yał	100.com				

90

691 E Main Street Pahokee, FL 33476 Section I, Item 4.

Invoice

 Date
 Invoice #

 10/14/2024
 11627

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms	F	Project
Date	Ticket #		Description		Quantity	Rate	Amount
/14/2024	260		Milton Debris Removal-I		19.2	8.70	167.04
/14/2024	269	2024 Hurricane	ard Waste Final Destination Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling and	20.48	8.70	178.18
/14/2024	279	2024 Hurricane	Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling and	19.2	8.70	167.04
/14/2024	291	2024 Hurricane Disposing of Ya	Milton Debris Removal-I rd Waste Final Destinatio	Loading, Hauling and on	20.48	8.70	178.18
/14/2024	300	Disposing of Ya	Milton Debris Removal-I urd Waste Final Destinatio	on	21.76	8.70	189.31
/14/2024	316	Disposing of Ya	Milton Debris Removal-I ard Waste Final Destination	n	19.2	8.70	167.04
/14/2024 /14/2024	317 318	Disposing of Ya	Milton Debris Removal-I ard Waste Final Destination Milton Debris Removal-I	on	20.48	8.70 8.70	155.90 178.18
/14/2024	319	Disposing of Ya 2024 Hurricane	rd Waste Final Destinatio Milton Debris Removal-I	on Loading, Hauling and	20.48	8.70	178.18
/14/2024	331	2024 Hurricane	rd Waste Final Destinatio Milton Debris Removal-I	loading, Hauling and	18.75	8.70	163.13
/14/2024	333	2024 Hurricane	rd Waste Final Destinatio Milton Debris Removal-L rd Waste Final Destinatio	oading, Hauling and	20	8.70	174.00
/14/2024	334	2024 Hurricane	Milton Debris Removal-L rd Waste Final Destinatio	oading, Hauling and	17.5	8.70	152.25
/14/2024	335	2024 Hurricane Disposing of Ya	Milton Debris Removal-L rd Waste Final Destinatio	loading, Hauling and	20	8.70	174.00
/14/2024	336	Disposing of Ya	Milton Debris Removal-I rd Waste Final Destinatio	n	21.25	8.70	184.88
/14/2024 /14/2024	337 338	Disposing of Ya	Milton Debris Removal-L rd Waste Final Destinatio	n	20.48	8.70 8.70	178.18 167.04
0/14/2024 339		Disposing of Ya	2024 Hurricane Milton Debris Removal-Loading, Hauling and Disposing of Yard Waste Final Destination 2024 Hurricane Milton Debris Removal-Loading, Hauling and19.2			8.70	155.90
117/2027			rd Waste Final Destinatio	n		0.70	155.70
Pho	ine #	Fax#	E-mail	То	otal		
561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com			г

Ship To

x

691 E Main Street Pahokee, FL 33476

Invoice

Date	Invoice #
10/14/2024	11627

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms	F	Project
Date	Ticket #		Description		Quantity	Rate	Amount
0/14/2024	340	2024 Hurrican	e Milton Debris Removal-Los	ading, Hauling and	23.04	8.70	200.45
0/14/2024	341	2024 Hurrican	ard Waste Final Destination Milton Debris Removal-Los	ading, Hauling and	21.76	8.70	189.31
0/14/2024	342	2024 Hurrican	ard Waste Final Destination Milton Debris Removal-Los	ading, Hauling and	20.48	8.70	178.18
0/14/2024	343	2024 Hurrican	ard Waste Final Destination Milton Debris Removal-Loa ard Waste Final Destination	ading, Hauling and	21.76	8.70	189.31
		Sales Tax				0.00%	0.00
Pho	ine #	Fax #	E-mail	То	tal	1	\$6,627.87

Ship To

92

691 E Main Street Pahokee, FL 33476

l m	Section I, Item 4.

 Date
 Invoice #

 10/15/2024
 11635

Bill To

Date

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

10/15/2024

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

299

305

310

315

323

332

344

350

351

352

353

354

355

356

381

383

384

		P.O. No.	Terms	F	Project
Ticket #	Description		Quantity	Rate	Amount
)	2024 Hurricaine Milton Debris Removal-		19.2	8.40	161.28
5	(trucking) to debris site in Pahokee, Phas 2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	17.92	8.40	150.53
)	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	19.2	8.40	161.28
5	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	20.48	8.40	172.03
3	2024 Hurricaine Milton Debris Removal-	Loading and Hauling	20.48	8.40	172.03
2	(trucking) to debris site in Pahokee, Phase 2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	20.48	8.40	172.03
ŀ	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	19.2	8.40	161.28
)	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	19.2	8.40	161.28
	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	19.2	8.40	161.28
2	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee. Phase	Loading and Hauling	20.48	8.40	172.03
;	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	20.48	8.40	172.03
Ļ	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	21.76	8.40	182.78
	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	23.04	8.40	193.54
ī	2024 Hurricaine Milton Debris Removal- (trucking) to debris site in Pahokee, Phase	Loading and Hauling	23.04	8.40	193.54
	2024 Hurricaine Milton Debris Removal-	Loading and Hauling	17.5	8.40	147.00
	(trucking) to debris site in Pahokee, Phase	e i Reclamation	I		

Ship To

18.75

20

8.40

8.40

157.50

168.00

		(trucking) to de	bris site in Pahokee, Phase 1 Reclamation		
1	Phone #	Fax #	E-mail	Total	
1 200	561-924-9250	561-924-9252	tuiwarehouse@yahoo.com		

2024 Hurricaine Milton Debris Removal-Loading and Hauling

2024 Hurricaine Milton Debris Removal-Loading and Hauling

(trucking) to debris site in Pahokee, Phase 1 Reclamation

691 E Main Street Pahokee, FL 33476 Section I, Item 4.

Invoice

 Date
 Invoice #

 10/15/2024
 11635

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terms		Project
Date	Ticket #	¥	Description		Quantity	Rate	Amount
10/15/2024	385		ne Milton Debris Removal-		20	8.40	168.00
10/15/2024	386	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-	Loading and Hauling	21.25	8.40	178.50
10/15/2024	387	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal-	Loading and Hauling	21.25	8.40	178.50
10/15/2024	388	2024 Hurricair	ebris site in Pahokee, Phase le Milton Debris Removal-	Loading and Hauling	18.75	8.40	157.50
10/15/2024	431	2024 Hurricair	ebris site in Pahokee, Phase ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hauling	19.2	8.40	161.28
10/15/2024	432	2024 Hurricain	e Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hauling	20.48	8.40	172.03
10/15/2024	433	2024 Hurricain	e Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hauling	21.76	8.40	182.78
10/15/2024	434	2024 Hurricain	e Milton Debris Removal-	Loading and Hauling	19.2	8.40	161.28
10/15/2024	435	2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-	Loading and Hauling	20.48	8.40	172.03
10/15/2024	436	2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-	Loading and Hauling	20.48	8.40	172.03
10/15/2024	437	2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-	Loading and Hauling	19.2	8.40	161.28
10/15/2024	438	2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-	Loading and Hauling	19.2	8.40	161.28
10/15/2024	439	2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-	Loading and Hauling	20.48	8.40	172.03
10/15/2024	440	2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-J	Loading and Hauling	20.48	8.40	172.03
10/15/2024	441	2024 Hurricain	ebris site in Pahokee, Phase e Milton Debris Removal-J	Loading and Hauling	19.2	8.40	161.28
10/15/2024	442	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-J	Loading and Hauling	19.2	8.40	161.28
10/15/2024	443	2024 Hurricain	bris site in Pahokee, Phase e Milton Debris Removal-I bris site in Pahokee. Phase	Loading and Hauling	17.92	8.40	150.53
	•			— Т	otal		
Pho	one #	Fax #	E-mail				
561-9	24-9250	561-924-9252	tuiwarehouse@yal	hoo.com			[
			Page	2			

691 E Main Street Pahokee, FL 33476

	Section I, Item 4.
Ir	voice

 Date
 Invoice #

 10/15/2024
 11635

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

						P.O. No.		Terms			Project
	Date	Ticket	#		Description			Quantity	R	ate	Amount
10)/15/2024	444		2024 Hurricain	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hau	uling	20.48		8.40	172.03
10)/15/2024	445		2024 Hurricair	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Ha	uling	21.76		8.40	182.78
10)/15/2024	446		2024 Hurricain	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hau	uling	20.48		8.40	172.03
10)/15/2024	448		2024 Hurricair	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hau	uling	20.48		8.40	172.03
10)/15/2024	449		2024 Hurricair	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hau	uling	20.48		8.40	172.03
10)/15/2024	450		2024 Hurricair	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hau	uling	19.2		8.40	161.28
10	/15/2024	451		2024 Hurricair	ne Milton Debris Removal- ebris site in Pahokee, Phase	Loading and Hau	ıling	17.92		8.40	150.53
				Sales Tax						0.00%	0.00
1											
=											
	Pho	ne #		Fax #	E-mail		То	tal			\$6,885.79
	561-92	4-9250	561	-924-9252	tuiwarehouse@yal	noo.com					Г

691 E Main Street Pahokee, FL 33476

Invoice

 Date
 Invoice #

 10/15/2024
 11636

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

[Ship To	
ĺ		

Terms

0/15/2024 299 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 0/15/2024 305 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 17.92 2.25 4 0/15/2024 310 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 0/15/2024 310 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 315 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris Q/15/2024 20.48								
Original Construction Construction <th></th> <th>1</th> <th></th> <th>-</th> <th></th> <th></th> <th></th> <th></th>		1		-				
Grinding Grinding Data Data <thdata< th=""> <thdata< th=""> Data</thdata<></thdata<>	Date	Ticket	#	Description	QL	antity	Rate	Amount
0/15/2024 305 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 17.92 2.25 4 0/15/2024 310 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 315 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 354 2024 Huricane Milton Debris	10/15/2024	299		e Milton Debris Removal-Processing of De	bris	19.2	2.25	43.20
Original Grinding Construction Construction 0/15/2024 310 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 315 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 354								
0/15/2024 310 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 315 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Remova	10/15/2024	305		e Milton Debris Removal-Processing of De	bris	17.92	2.25	40.32
O/15/2024 315 Cirinding Cirinding Cirinding 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 <td>10/15/2024</td> <td>210</td> <td></td> <td>a Milton Dahria Romanal Brassing of Da</td> <td>heio</td> <td>10.2</td> <td>2.25</td> <td>43.20</td>	10/15/2024	210		a Milton Dahria Romanal Brassing of Da	heio	10.2	2.25	43.20
0/15/2024 315 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 356 2024 Huricane Milton Debr	10/13/2024	510		e witton Debris Removal-Processing of De	oris	19.2	2.25	43.20
0/15/2024 323 Grinding 20.4 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 5 0/15/2024 356 2024 Hurric	10/15/2024	315		e Milton Debris Removal-Processing of De	bris	20.48	2.25	46.08
0/15/2024 323 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 332 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Remova		0.10	Grinding			20.40	2.23	40.00
0/15/2024 332 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Mi	10/15/2024	323		e Milton Debris Removal-Processing of De	bris	20.48	2.25	46.08
0/15/2024 344 Grinding 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 5 0/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25			Grinding	-				
0/15/2024 344 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 381 2024 Hurricane Milton Debris Removal-	10/15/2024	332		e Milton Debris Removal-Processing of De	bris	20.48	2.25	46.08
O/15/2024 350 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 O/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 O/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 O/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 O/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 O/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 21.76 2.25 4 O/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 21.76 2.25 5 O/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 23.04 2.25 5 O/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 O/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>								
0/15/2024 350 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal	10/15/2024	344		e Milton Debris Removal-Processing of De	bris	19.2	2.25	43.20
0/15/2024 351 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 21.76 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 21.76 2.25 5 0/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 4 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/	10/15/2024	2.50						
0/15/2024 351 2024 Hurricane Milton Debris Removal-Processing of Debris 19.2 2.25 4 0/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 384 2024 Hurricane Milton Debris Remova	10/15/2024	350		e Milton Debris Removal-Processing of De	bris	19.2	2.25	43.20
0/15/2024 352 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris 20,48 2.25 4 0/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding 20.48 2.25 4 0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 21.75 2.25 3 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 <td>10/15/2024</td> <td>251</td> <td></td> <td>Milton Dahris Romanal Province of Da</td> <td>le unita</td> <td>10.0</td> <td>2.05</td> <td>12.04</td>	10/15/2024	251		Milton Dahris Romanal Province of Da	le unita	10.0	2.05	12.04
D/15/2024 352 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 D/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 D/15/2024 353 2024 Hurricane Milton Debris Removal-Processing of Debris 20.48 2.25 4 D/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 D/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debr	10/13/2024	1331		e Mittoli Debris Removal-Processing of De		19.2	2.25	43.20
O/15/20243532024 Hurricane Milton Debris Removal-Processing of Debris Grinding20.482.2540/15/20243542024 Hurricane Milton Debris Removal-Processing of Debris Grinding21.762.2540/15/20243552024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.2550/15/20243562024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.2550/15/20243562024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.2550/15/20243812024 Hurricane Milton Debris Removal-Processing of Debris Grinding17.52.2530/15/20243812024 Hurricane Milton Debris Removal-Processing of Debris Grinding18.752.2540/15/20243832024 Hurricane Milton Debris Removal-Processing of Debris Grinding18.752.2540/15/20243842024 Hurricane Milton Debris Removal-Processing of Debris Grinding202.2540/15/20243842024 Hurricane Milton Debris Removal-Processing of Debris Grinding202.2540/15/20243842	0/15/2024	352		e Milton Debris Removal-Processing of De	bris	20.48	2.25	46.08
D/15/20243532024 Hurricane Milton Debris Removal-Processing of Debris Grinding20.482.254D/15/20243542024 Hurricane Milton Debris Removal-Processing of Debris Grinding21.762.254D/15/20243552024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.255D/15/20243562024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.255D/15/20243562024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.255D/15/20243812024 Hurricane Milton Debris Removal-Processing of Debris Grinding17.52.253D/15/20243812024 Hurricane Milton Debris Removal-Processing of Debris Grinding18.752.254D/15/20243832024 Hurricane Milton Debris Removal-Processing of Debris Grinding18.752.254D/15/20243842024 Hurricane Milton Debris Removal-Processing of Debris Grinding202.254D/15/20243842024 Hurricane Milton Debris Removal-Processing of Debris Grinding202.254D/15/20243842	10/15/2021	552		e winton Debris Removal-1 rocessing of De	0115	20.40	2.25	40.00
D/15/2024 354 Grinding 21.76 2.25 4 D/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 D/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 D/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 D/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 D/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 O/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 O/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 O/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 O/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 O/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 <	0/15/2024	353		e Milton Debris Removal-Processing of De	hris	20.48	2.25	46.08
0/15/2024 354 2024 Hurricane Milton Debris Removal-Processing of Debris 21.76 2.25 4 0/15/2024 355 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 356 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Proce						20.10	2.23	10.00
O/15/2024355Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.2555O/15/20243562024 Hurricane Milton Debris Removal-Processing of Debris Grinding23.042.2555O/15/20243812024 Hurricane Milton Debris Removal-Processing of Debris Grinding17.52.253O/15/20243832024 Hurricane Milton Debris Removal-Processing of Debris Grinding17.52.254O/15/20243832024 Hurricane Milton Debris Removal-Processing of Debris Grinding18.752.254O/15/20243842024 Hurricane Milton Debris Removal-Processing of Debris Grinding202.254Phone #Fax #E-mailTotal	0/15/2024	354		e Milton Debris Removal-Processing of De	bris	21.76	2.25	48.96
0/15/2024 356 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4				5				
0/15/2024 356 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris 23.04 2.25 5 0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4	0/15/2024	355	2024 Hurrican	e Milton Debris Removal-Processing of De	bris	23.04	2.25	51.84
0/15/2024 381 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 Phone # Fax # E-mail Total Total			Grinding	_				
0/15/2024 381 2024 Hurricane Milton Debris Removal-Processing of Debris 17.5 2.25 3 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4 Phone # Fax # E-mail Total	0/15/2024	356		e Milton Debris Removal-Processing of De	bris	23.04	2.25	51.84
0/15/2024 383 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 44 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 44 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 44 Phone # Fax # E-mail Total	0/1 5/000 1							
0/15/2024 383 2024 Hurricane Milton Debris Removal-Processing of Debris 18.75 2.25 4. 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4. 0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4. Phone # Fax # E-mail Total	0/15/2024	381		e Milton Debris Removal-Processing of De	bris	17.5	2.25	39.38
0/15/2024 384 Grinding 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4. Phone # Fax # E-mail Total	0/15/2024	202		- Milton Dataia Damarat Davasating (D.)		10 75	2.25	10.10
0/15/2024 384 2024 Hurricane Milton Debris Removal-Processing of Debris 20 2.25 4. Phone # Fax # E-mail Total	0/13/2024	303		e witton Debris Kemoval-Processing of De		18.75	2.25	42.19
Grinding Total Phone # Fax # E-mail	0/15/2024	384		Milton Debris Removal Processing of Del	bris	20	2.25	45.00
Phone # Fax # E-mail Total	0/15/2024	504	Grinding	e Winton Debris Kentoval-1 rocessing of De		20	2.25	45.00
Phone # Fax # E-mail								
	Phone # Fax #		E-mail	Total				
561-924-9250 561-924-9252 tujwarehouse@yahoo.com	AREARS'S				1			
	561-92	24-9250	561-924-9252	tuiwarehouse@yahoo.com				

P.O. No.

691 E Main Street Pahokee, FL 33476 Invoice

Date Invoice # 10/15/2024 11636

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To		

				P.O. No.		Terms		Project
Date	Ticket	#	Description			Quantity	Rate	Amount
10/15/2024	385		e Milton Debris Removal-I	Processing of Deb	oris	20	2.25	45.00
10/15/2024	386	Grinding 2024 Hurrican Grinding	e Milton Debris Removal-H	Processing of Deb	oris	21.25	2.25	47.81
10/15/2024	387		e Milton Debris Removal-I	Processing of Deb	oris	21.25	2.25	47.81
10/15/2024	388		e Milton Debris Removal-F	Processing of Deb	oris	18.75	2.25	42.19
10/15/2024	431		e Milton Debris Removal-I	Processing of Deb	oris	19.2	2.25	43.20
10/15/2024	432	2024 Hurrican Grinding	e Milton Debris Removal-F	Processing of Deb	oris	20.48	2.25	46.08
10/15/2024	433		e Milton Debris Removal-F	Processing of Deb	oris	21.76	2.25	48.96
10/15/2024	434		e Milton Debris Removal-F	Processing of Deb	oris	19.2	2.25	43.20
10/15/2024	435		e Milton Debris Removal-F	Processing of Deb	oris	20.48	2.25	46.08
10/15/2024	436		e Milton Debris Removal-F	Processing of Deb	oris	20.48	2.25	46.08
10/15/2024	437		e Milton Debris Removal-F	Processing of Deb	oris	19.2	2.25	43.20
10/15/2024	438		e Milton Debris Removal-F	Processing of Deb	oris	19.2	2.25	43.20
10/15/2024	439		e Milton Debris Removal-F	Processing of Deb	oris	20.48	2.25	46.08
10/15/2024	440		e Milton Debris Removal-F	Processing of Deb	oris	20.48	2.25	46.08
10/15/2024	441		Milton Debris Removal-F	Processing of Deb	oris	19.2	2.25	43.20
10/15/2024	442		Milton Debris Removal-F	Processing of Deb	oris	19.2	2.25	43.20
10/15/2024	443		Milton Debris Removal-F	Processing of Deb	oris	17.92	2.25	40.32
r					To	tal		
Pho	one #	Fax #	E-mail					

tuiwarehouse@yahoo.com

561-924-9252

561-924-9250

691 E Main Street Pahokee, FL 33476

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To			

Terms

Date	Ticket #		Description		Quantity	Rate	Amount
0/15/2024	444		e Milton Debris Removal-Processing of De	bris	20.48	2.25	46.08
10/15/2024	445	Grinding 2024 Hurrican Grinding	e Milton Debris Removal-Processing of De	bris	21.76	2.25	48.96
0/15/2024	446		e Milton Debris Removal-Processing of De	bris	20.48	2.25	46.08
0/15/2024	448		e Milton Debris Removal-Processing of Del	bris	20.48	2.25	46.08
0/15/2024	449		e Milton Debris Removal-Processing of De	bris	20.48	2.25	46.08
0/15/2024	450		e Milton Debris Removal-Processing of Del	bris	19.2	2.25	43.20
0/15/2024	451		e Milton Debris Removal-Processing of Del	bris	17.92	2.25	40.32
		Sales Tax				0.00%	0.0
Pho	one #	Fax#	E-mail	Tot	al		\$1,844.42
561-9	24-9250	561-924-9252	tuiwarehouse@yahoo.com	1			

P.O. No.

691 E Main Street Pahokee, FL 33476

4

Section I, Item 4.

99

Invoice

Date	Invoice #
10/15/2024	11637

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				-	P.O. No,		Terms	F	Project
	Date	Ticket	#	Description			Quantity	Rate	Amount
10/	/15/2024	299		e Milton Debris Removal-I		and	19.2	8.70	167.04
10/	/15/2024	305	2024 Hurrican	ard Waste Final Destination e Milton Debris Removal-I Vante Final Destination	Loading, Hauling	and	17.92	8.70	155.90
10/	/15/2024	310	2024 Hurrican	ard Waste Final Destination Milton Debris Removal-I Yard Waste Final Destination	Loading, Hauling	and	19.2	8.70	167.04
10/	15/2024	315	2024 Hurricand	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	20.48	8.70	178.18
10/	/15/2024	323	2024 Hurrican	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	20.48	8.70	178.18
10/	/15/2024	332	2024 Hurrican	e Milton Debris Removal-I Yard Waste Final Destination	Loading, Hauling	and	20.48	8.70	178.18
10/	/15/2024	344	2024 Hurrican	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	19.2	8.70	167.04
10/	/15/2024	350	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	19.2	8.70	167.04
10/	15/2024	351	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	19.2	8.70	167.04
10/	15/2024	352	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	loading, Hauling	and	20.48	8.70	178.18
10/	15/2024	353	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	loading, Hauling	and	20.48	8.70	178.18
10/	15/2024	354	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	21.76	8.70	189.31
10/	15/2024	355	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	.oading, Hauling	and	23.04	8.70	200.45
10/	15/2024	356	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	23.04	8.70	200.45
10/	15/2024	381	2024 Hurricane	e Milton Debris Removal-I ard Waste Final Destination	Loading, Hauling	and	17.5	8.70	152.25
10/	15/2024	383	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling	and	18.75	8.70	163.13
10/	15/2024	384	2024 Hurricane	e Milton Debris Removal-L ard Waste Final Destinatio	.oading, Hauling	and	20	8.70	174.00
F.				1		То	tal		
	Pho	one #	Fax #	E-mail			ldi		
	561-92	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com				Г

691 E Main Street Pahokee, FL 33476

Date Invoice

10/15/2024

11637

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

			2				
				P.O. No.	Terms		Project
Date	Ticket #	¥	Description		Quantity	Rate	Amount
10/15/2024	385		e Milton Debris Removal-I		20	8.70	174.00
	1		ard Waste Final Destinatio				
10/15/2024	386		e Milton Debris Removal-L		21.25	8.70	184.88
10/15/0004	0.05		ard Waste Final Destinatio				
10/15/2024	387		e Milton Debris Removal-L		21.25	8.70	184.88
10/15/2024	388		ard Waste Final Destinatio			0.50	1 60 10
10/15/2024	388		e Milton Debris Removal-L ard Waste Final Destinatio		18.75	8.70	163.13
10/15/2024	431		e Milton Debris Removal-L		19.2	P 70	167.04
10/13/2024	451		ard Waste Final Destinatio		19.2	8.70	167.04
10/15/2024	432		e Milton Debris Removal-L		20.48	8.70	178.18
10/10/2021	152		ard Waste Final Destinatio		20.40	0.70	170.10
10/15/2024	433		e Milton Debris Removal-L		21.76	8.70	189.31
			ard Waste Final Destinatio	<u> </u>		0170	107101
10/15/2024	434		e Milton Debris Removal-L		19.2	8.70	167.04
			ard Waste Final Destinatio				
10/15/2024	435	2024 Hurrican	e Milton Debris Removal-L	oading, Hauling and	20.48	8.70	178.18
			ard Waste Final Destination				
10/15/2024	436		e Milton Debris Removal-L		20.48	8.70	178.18
			ard Waste Final Destination				
10/15/2024	437		e Milton Debris Removal-L		19.2	8.70	167.04
			ard Waste Final Destination				
10/15/2024	438		e Milton Debris Removal-L		19.2	8.70	167.04
10/15/0004			ard Waste Final Destination				
10/15/2024	439		e Milton Debris Removal-L		20.48	8.70	178.18
10/15/2024	440		ard Waste Final Destination e Milton Debris Removal-L		20.40	0.70	170.10
10/13/2024	440		ard Waste Final Destination		20.48	8.70	178.18
10/15/2024	441		e Milton Debris Removal-L		19.2	8.70	167.04
10/15/2024	141	Disposing of V	ard Waste Final Destination	n	19.2	0.70	107.04
10/15/2024	442		e Milton Debris Removal-L		19.2	8.70	167.04
			ard Waste Final Destination		17.2	0.70	107.04
10/15/2024	443		e Milton Debris Removal-L		17.92	8.70	155.90
			ard Waste Final Destination		1102	0.70	100.00
Pho	one #	Fax #	E-mail	Т	otal		
561-9	24-9250	561-924-9252	tuiwarehouse@yah	100.com			
			9.				
			Page 2	<u>-</u>			

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/15/2024	11637

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Terr	ns	Project
Date	Ticket #		Description		Quantit	y Rate	Amount
10/15/2024	444	2024 Hurrican	e Milton Debris Removal-I	Loading, Hauling and	1 20	.48 8.	70 178.18
10/15/2024	445	2024 Hurrican	ard Waste Final Destination e Milton Debris Removal-I	Loading, Hauling and	1 21	.76 8.	70 189.31
10/15/2024	446	2024 Hurrican	ard Waste Final Destination Milton Debris Removal-J	Loading, Hauling and	1 20	.48 8.1	70 178.18
10/15/2024	448	2024 Hurrican	ard Waste Final Destination e Milton Debris Removal-I	Loading, Hauling and	20	.48 8.	70 178.18
10/15/2024	449		ard Waste Final Destination e Milton Debris Removal-I		1 20	.48 8.	70 178.18
10/15/2024	450	Disposing of Y	ard Waste Final Destination Milton Debris Removal-I	on		9.2 8.	
10/15/2024	451	Disposing of Y	ard Waste Final Destination Milton Debris Removal-I	on		.92 8.	
			ard Waste Final Destinatio			0.00%	
		Sales Fait				0.007	0.00
Pho	one#	Fax#	E-mail		Total		\$7,131.80
	24-9250	561-924-9252	tuiwarehouse@ya	hoo.com			
			Page	~ · · · · · · · · · · · · · · · · · · ·			

Ship To

101

691 E Main Street Pahokee, FL 33476

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship	То		

Terms

Date	Ticket #		Description		Quantity	Rate	Amount
10/16/2024	345		rricaine Milton Debris Removal-Loading an (trucking) to debris site in Pahokee, Phase 1		21.76	8.40	182.78
10/16/2024	346	2024 Hu	rricaine Milton Debris Removal-Loading an (trucking) to debris site in Pahokee, Phase 1		21.76	8.40	182.78
10/16/2024	347	2024 Hu	rricaine Milton Debris Removal-Loading an (trucking) to debris site in Pahokee, Phase 1		23.04	8.40	193.54
10/16/2024	348	2024 Hu	rricaine Milton Debris Removal-Loading an (trucking) to debris site in Pahokee, Phase 1		20.48	8.40	172.03
10/16/2024	349	2024 Hu	rricaine Milton Debris Removal-Loading an (trucking) to debris site in Pahokee, Phase 1		21.76	8.40	182.78
10/16/2024	357	2024 Hu	rricaine Milton Debris Removal-Loading an (trucking) to debris site in Pahokee, Phase 1		20.48	8.40	172.03
10/16/2024	358	2024 Hu	rricaine Milton Debris Removal-Loading and (trucking) to debris site in Pahokee, Phase 1		20.48	8.40	172.03
0/16/2024	359	2024 Hu	rricaine Milton Debris Removal-Loading and (trucking) to debris site in Pahokee, Phase 1		24.32	8.40	204.29
0/16/2024	360	2024 Hu	rricaine Milton Debris Removal-Loading and (trucking) to debris site in Pahokee, Phase 1	d	23.04	8.40	193.54
0/16/2024	361	2024 Hu	rricaine Milton Debris Removal-Loading and (trucking) to debris site in Pahokee, Phase 1	d	20.48	8.40	172.03
0/16/2024	362	2024 Hu	rricaine Milton Debris Removal-Loading and (trucking) to debris site in Pahokee, Phase 1	d	17.92	8.40	150.53
Pho	ne# F	Fax#	E-mail	Tota	al		

P.O. No.

Phone #	Fax #	E-mail	lota
561-924-9250	561-924-9252	tuiwarehouse@yahoo.com	

691 E Main Street Pahokee, FL 33476

103

Date Invoice # 10/16/2024 11649

Bill To

			-	P.O. No.	Term	s	Project
Date	Tio	:ket#	Description		Quantity	/ Rate	Amount
10/16/2024	363		urricaine Milton Debris Remo (trucking) to debris site in Pa	1 20.	48 8.40) 172.03	
0/16/2024	364	2024 Hu	urricaine Milton Debris Remo (trucking) to debris site in Pa	19	8.40	161.28	
0/16/2024	365	2024 Ht	urricaine Milton Debris Remo (trucking) to debris site in Pa		21.	76 8.40	182.78
0/16/2024	370	2024 Hu Hauling	urricaine Milton Debris Remo (trucking) to debris site in Pa	19	8.40	161.28	
0/16/2024	371	2024 Hu Hauling	Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1			8.40	193.54
0/16/2024	390	2024 Hu Hauling	Reclamation 024 Hurricaine Milton Debris Removal-Loading and Iauling (trucking) to debris site in Pahokee, Phase 1			75 8.40	157.50
0/16/2024	391	2024 Hu	Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1			.5 8.40	147.00
)/16/2024	392	2024 Hu Hauling	rricaine Milton Debris Remo (trucking) to debris site in Pa			8.40	168.00
)/16/2024	393	2024 Hu Hauling	Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1			8.40	168.00
)/16/2024	394	2024 Hu	Reclamation 2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking) to debris site in Pahokee, Phase 1			75 8.40	157.50
)/16/2024	395	2024 Hu	rricaine Milton Debris Remo (trucking) to debris site in Pa		18.1	75 8.40	157.50
Pho	one #	Fax #	E-mail		Total		
-	24-9250	561-924-9252					

Ship To			

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/16/2024	11649

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

										
						P.O. No.		Terms		Project
	Date		ket#		Descriptio			Quantity	Rate	Amount
10.	/16/2024	397		2024 Hi Hauling Reclama	urricaine Milton Debris Rer (trucking) to debris site in ation	noval-Loading an Pahokee, Phase 1	nđ	18.75	8.40	157.50
10,	/16/2024	398		2024 Hi	urricaine Milton Debris Rer (trucking) to debris site in	noval-Loading an Pahokee, Phase 1	ıd	20	8.40	168.00
				Sales Ta					0.00%	0.00
				ЛĽ						
						1				
	Pho	ne #	Fax #	¢	E-mail		To	tal		\$4,130.27
	561-92	4-9250	561-924-9	9252	tuiwarehouse@yal	noo.com				

691 E Main Street Pahokee, FL 33476

Date Invoice # 10/16/2024 11650

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

			_	P.O. No.	Terms	F	Project
Date	Tick	.et #	Description		Quantity	Rate	Amount
0/16/2024	345		rricane Milton Debris Remova	al-Processing of	21.76	2.25	48.9
0/16/2024	346	Debris G 2024 Hu Debris G	rricane Milton Debris Remova	al-Processing of	21.76	2.25	48.9
0/16/2024	347		rricane Milton Debris Remova	al-Processing of	23.04	2.25	51.8
0/16/2024	348		rricane Milton Debris Remova	al-Processing of	20.48	2.25	46.0
0/16/2024	349		rricane Milton Debris Remova	al-Processing of	21.76	2.25	48.9
0/16/2024	357		rricane Milton Debris Remova	ll-Processing of	20.48	2.25	46.0
0/16/2024	358	2024 Hu	rricane Milton Debris Remova	Il-Processing of	20.48	2.25	46.0
0/16/2024	359		rricane Milton Debris Remova	ll-Processing of	24.32	2.25	54.7
0/16/2024	360	Debris G 2024 Hui	rricane Milton Debris Remova	ll-Processing of	23.04	2.25	51.8
0/16/2024	361		rricane Milton Debris Remova	l-Processing of	20.48	2.25	46.0
0/16/2024	362		rricane Milton Debris Remova	l-Processing of	17.92	2.25	40.3
0/16/2024	363		ricane Milton Debris Remova	l-Processing of	20.48	2.25	46.0
0/16/2024	364		ricane Milton Debris Remova	l-Processing of	19.2	2.25	43.2
0/16/2024	365		тicane Milton Debris Remova	I-Processing of	21.76	2.25	48.9
0/16/2024	370	Debris G 2024 Hur	тісапе Milton Debris Remova	l-Processing of	19.2	2.25	43.2
0/16/2024	371		ricane Milton Debris Remova	l-Processing of	23.04	2.25	51.8
0/16/2024	390	Debris Gi 2024 Hur Debris Gi	ricane Milton Debris Remova	l-Processing of	18.75	2.25	42.1
Db	one #	Fax #	E-mail	Т	otal	i.	
561-9	24-9250	561-924-9252	tuiwarehouse@yahoo Page 1	.com			Γ

Ship To

Section I, Item 4. Invoice

691 E Main Street Pahokee, FL 33476 Invoice

 Date
 Invoice #

 10/16/2024
 11650

Project

Bill To	
City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476	

Terms

.

Date	Ticket #	Description	Quantity	Rate	Amount
0/16/2024	391	2024 Hurricane Milton Debris Removal-Processing of	17.5	2.25	39.38
0/16/2024	392	Debris Grinding 2024 Hurricane Milton Debris Removal-Processing of	20	2.25	45.00
0/16/2024	393	Debris Grinding 2024 Hurricane Milton Debris Removal-Processing of	20	2.25	45.00
)/16/2024	394	Debris Grinding 2024 Hurricane Milton Debris Removal-Processing of	18.75	2.25	42.19
/16/2024	395	Debris Grinding 2024 Hurricane Milton Debris Removal-Processing of	18.75	2.25	42.19
/16/2024	397	Debris Grinding 2024 Hurricane Milton Debris Removal-Processing of	18.75	2.25	42.19
)/16/2024	398	Debris Grinding 2024 Hurricane Milton Debris Removal-Processing of	20	2.25	45.00
		Debris Grinding Sales Tax		0.00%	0.00
Ph	one # F	Fax # E-mail	otal		\$1,106.34

P.O. No.

691 E Main Street Pahokee, FL 33476 Invoice

Bill To

561-924-9250

561-924-9252

				P.O. No.	Term	S	Project
Date	Tic	cket #	Description	n	Quantity	Rate	Amount
10/16/2024	345		arricane Milton Debris Rem		lling 21.	76 8.70	189.31
10/16/2024	346	2024 H	posing of Yard Waste Final Irricane Milton Debris Rem	oval-Loading, Hau	ling 21.	76 8.70	189.31
10/16/2024	347	2024 Hi	posing of Yard Waste Final arricane Milton Debris Rem posing of Yard Waste Final	ioval-Loading, Hau	ling 23.0	8.70	200.45
10/16/2024	348	2024 Hi	urricane Milton Debris Rem posing of Yard Waste Final	oval-Loading, Hau	ling 20.4	8.70	178.18
10/16/2024	349	2024 Hi	arricane Milton Debris Rem	oval-Loading, Hau	ling 21.	8.70	189.31
10/16/2024	357	2024 Hi	urricane Milton Debris Rem posing of Yard Waste Final	oval-Loading, Hau	ling 20.4	8.70	178.18
10/16/2024	358	2024 Hi	urricane Milton Debris Rem posing of Yard Waste Final	oval-Loading, Hau	ling 20.4	8 8.70	178.18
10/16/2024	359	2024 Hi	urricane Milton Debris Rem posing of Yard Waste Final	oval-Loading, Hau	ling 24.3	8.70	211.58
10/16/2024	360	2024 Hu	rricane Milton Debris Rem oosing of Yard Waste Final	oval-Loading, Hau	ling 23.0	8.70	200.45
10/16/2024	361	2024 Hu and Disp	rricane Milton Debris Remo oosing of Yard Waste Final	oval-Loading, Hau Destination	-	8 8.70	178.18
10/16/2024	362	and Disp	rricane Milton Debris Remo oosing of Yard Waste Final	Destination	-	8.70	155.90
10/16/2024	363	and Disp	rricane Milton Debris Remo oosing of Yard Waste Final	Destination	-	8 8.70	178.18
10/16/2024	364	and Disp	rricane Milton Debris Remo oosing of Yard Waste Final	Destination	-	2 8.70	167.04
10/16/2024	365	and Disp	rricane Milton Debris Remo osing of Yard Waste Final	Destination		-	189.31
10/16/2024	370	and Disp	rricane Milton Debris Remo osing of Yard Waste Final	Destination	-		167.04
10/16/2024	371	and Disp	rricane Milton Debris Remo osing of Yard Waste Final	Destination	0		200.45
10/16/2024	390		rricane Milton Debris Remo osing of Yard Waste Final		ling 18.7	5 8.70	163.13
					Total		
Pho	one #	Fax #	E-mail				

	tuiwarehouse@yahoo.com
-	Pane

691 E Main Street Pahokee, FL 33476

10/16/2024

Date

Invoice # 11651

Invoice

Section I, Item 4.

Bill To

561-924-9250

561-924-9252

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To			_

						P.O. No.		Terms			Project
Date	Tic	ket #			Descriptio	n		Quantity	F	late	Amount
10/16/2024	391			rricane Milton osing of Yard '		ioval-Loading, H	Iauling	17.5		8.70	152.25
10/16/2024	392		2024 Hu		Debris Rem	ioval-Loading, H	lauling	20		8.70	174.00
10/16/2024	393		2024 Hu		Debris Rem	ioval-Loading, H	Iauling	20		8.70	174.00
10/16/2024	394		2024 Hu		Debris Rem	loval-Loading, H	lauling	18.75		8.70	163.13
10/16/2024	395		2024 Hu		Debris Rem	oval-Loading, H	Iauling	18.75		8.70	163.13
10/16/2024	397		2024 Hu		Debris Rem	oval-Loading, H	Iauling	18.75		8.70	163.13
10/16/2024	398		2024 Hu		Debris Rem	oval-Loading, H	lauling	20		8.70	174.00
			Sales Ta		waste rinai	Destination				0.00%	0.00
							To	tal			
Pho	ine #	Fax #		E-mail		10	Total \$4,277.82				

P.O. No.	Terms
	P.O. No.

tuiwarehouse@yahoo.com

691 E Main Street Pahokee, FL 33476

 Date
 Invoice #

 10/17/2024
 11652

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To

				P.O. No.		Terms	F	Project
Date	Tic	ket#	Description	n	Qu	antity	Rate	Amount
10/17/2024	366		urricaine Milton Debris Ren (trucking) to debris site in T		d	20.48	8.40	172.03
.0/17/2024	367	2024 H	urricaine Milton Debris Ren (trucking) to debris site in 1		d	21.76	8.40	182.78
0/17/2024	368	2024 Ht	urricaine Milton Debris Ren (trucking) to debris site in I		đ	20.48	8.40	172.03
10/17/2024	369	2024 Hu Hauling	urricaine Milton Debris Ren (trucking) to debris site in l		d	19.2	8.40	161.28
0/17/2024	372	Hauling	rricaine Milton Debris Ren (trucking) to debris site in l	noval-Loading and Pahokee, Phase 1	đ	17.92	8.40	150.53
0/17/2024	373	Hauling	urricaine Milton Debris Rem (trucking) to debris site in I		ł	20.48	8.40	172.03
0/17/2024	382	Hauling	rricaine Milton Debris Rem (trucking) to debris site in I	noval-Loading and Pahokee, Phase 1	1	19.2	8.40	161.28
0/17/2024	389	Hauling	rricaine Milton Debris Rem (trucking) to debris site in I		1	20.48	8.40	172.03
0/17/2024	399	Hauling	rricaine Milton Debris Rem (trucking) to debris site in H		1	18.75	8.40	157.50
0/17/2024	400	Hauling	rricaine Milton Debris Rem (trucking) to debris site in F		1	17.5	8.40	147.00
0/17/2024	401		rricaine Milton Debris Rem (trucking) to debris site in F		1	20	8.40	168.00
Pho	one #	Fax #	E-mail		Total			
561-92	24-9250	561-924-9252	tuiwarehouse@yał	noo.com				

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/17/2024	11652

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

					P.O. No.		Terms	F	Project
Date	Tic	ket #		Description	n		Quantity	Rate	Amount
10/17/2024	402			rricaine Milton Debris Ren (trucking) to debris site in 1			17.5	8.40	147.00
10/17/2024	403		Hauling	rricaine Milton Debris Ren (trucking) to debris site in I	noval-Loading an Pahokee, Phase 1	d	16.25	8.40	136.50
10/17/2024	404		Hauling	rricaine Milton Debris Ren (trucking) to debris site in I			20	8.40	168.00
10/17/2024	405		Hauling	rricaine Milton Debris Ren (trucking) to debris site in 1			16.25	8.40	136.50
10/17/2024	406		Hauling	rricaine Milton Debris Ren (trucking) to debris site in l	noval-Loading an Pahokee, Phase 1	d	17.5	8.40	147.00
			Reclama Sales Ta					0.00%	0.00
Pho	one #	Fax	#	E-mail		Tot	tal		\$2,551.49
561-92	24-9250	561-924-	9252	tuiwarehouse@yal Page 2					11

	5	Sec	tion	I,	Iten	n 4.
l		V	U		C	C

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/17/2024	11653

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.	Term	s	F	Project
Date	Ticl	ket#	Descriptio	n	Quantity	/ F	Rate	Amount
10/17/2024	366		rricane Milton Debris Rem	oval-Processing of	20.	48	2.25	46.08
10/17/2024	367		rricane Milton Debris Rem	noval-Processing of	21.	76	2.25	48.96
10/17/2024	368	Debris C 2024 Hu Debris C	rricane Milton Debris Rem	ioval-Processing of	20.	48	2.25	46.08
10/17/2024	369	2024 Hu	rricane Milton Debris Rem	noval-Processing of	19	9.2	2.25	43.20
10/17/2024	372	Debris G 2024 Hu Debris G	rricane Milton Debris Rem	ioval-Processing of	17.	92	2.25	40.32
10/17/2024	373	2024 Hu	rricane Milton Debris Rem	ioval-Processing of	20.	48	2.25	46.08
10/17/2024	382		rricane Milton Debris Rem	ioval-Processing of	19	0.2	2.25	43.20
10/17/2024	389		rricane Milton Debris Rem	oval-Processing of	20.	48	2.25	46.08
10/17/2024	399		rricane Milton Debris Rem	oval-Processing of	18.	75	2.25	42.19
10/17/2024	400		rricane Milton Debris Rem	oval-Processing of	17	.5	2.25	39.38
10/17/2024	401		rricane Milton Debris Rem	oval-Processing of	·	20	2.25	45.00
10/17/2024	402		rricane Milton Debris Rem	oval-Processing of	17	.5	2.25	39.38
10/17/2024	403	Debris G 2024 Hu	rricane Milton Debris Rem	oval-Processing of	16.	25	2.25	36.56
10/17/2024	404		rricane Milton Debris Rem	oval-Processing of		20	2.25	45.00
10/17/2024	405		rricane Milton Debris Rem	oval-Processing of	16.	25	2.25	36.56
10/17/2024	406		rricane Milton Debris Rem	oval-Processing of	17	.5	2.25	39.38
		Debris G Sales Ta	6				0.00%	0.00
1			Paccal and		Total			\$683.45
Ph	one #	Fax #	E-mail					۵003.4J
561-9	24-9250	561-924-9252	tuiwarehouse@yal	hoo.com				
								11

ſ

Ship To	

Т

Invoice

691 E Main Street Pahokee, FL 33476 Invoice

Date	Invoice #
10/17/2024	11654

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

		_								
						P.O. No.		Terms		Project
	Date	Tic	ket #		Descriptio	n		Quantity	Rate	Amount
10/	/17/2024	366			rricane Milton Debris Rem		auling	20.48	8.70	178.18
10/	/17/2024	367		2024 Hu	osing of Yard Waste Final rricane Milton Debris Rem	oval-Loading, H	auling	21.76	8.70	189.31
10/	/17/2024	368		2024 Hu	osing of Yard Waste Final rricane Milton Debris Rem osing of Yard Waste Final	oval-Loading, H	auling	20.48	8.70	178.18
10/	/17/2024	369		2024 Hu	rricane Milton Debris Rem osing of Yard Waste Final	oval-Loading, H	auling	19.2	8.70	167.04
10,	/17/2024	372		2024 Hu	rricane Milton Debris Rem osing of Yard Waste Final	oval-Loading, H	auling	17.92	8.70	155.90
10,	/17/2024	373		2024 Hu	rricane Milton Debris Rem osing of Yard Waste Final	oval-Loading, H	auling	20.48	8.70	178.18
10/	/17/2024	382		2024 Hu	rricane Milton Debris Rem osing of Yard Waste Final	oval-Loading, H	auling	19.2	8.70	167.04
10/	17/2024	389			rricane Milton Debris Rem osing of Yard Waste Final		auling	20.48	8.70	178.18
10/	17/2024	399			rricane Milton Debris Rem osing of Yard Waste Final		auling	18.75	8.70	163.13
10/	17/2024	400			rricane Milton Debris Rem osing of Yard Waste Final		auling	17.5	8.70	152.25
10/	17/2024	401		and Disp	rricane Milton Debris Rem osing of Yard Waste Final	Destination	-	20	8.70	174.00
	17/2024	402		and Disp	rricane Milton Debris Rem osing of Yard Waste Final	Destination	-	17.5	8.70	152.25
1	17/2024	403		and Disp	rricane Milton Debris Rem osing of Yard Waste Final	Destination	-	16.25	8.70	141.38
10/	17/2024	404			rricane Milton Debris Rem osing of Yard Waste Final		auling	20	8.70	174.00
10/	17/2024	405		2024 Hu	rricane Milton Debris Rem osing of Yard Waste Final	oval-Loading, H	auling	16.25	8.70	141.38
10/	17/2024	406		2024 Hu	rricane Milton Debris Rem osing of Yard Waste Final	oval-Loading, Ha	auling	17.5	8.70	152.25
				Sales Ta	x ~				0.00%	0.00
	Pho	one #	Fax	#	E-mail		То	tal		\$2,642.65
	561-92	24-9250	561-924-	-9252	tuiwarehouse@ya	hoo.com				
							38			112

691 E Main Street Pahokee, FL 33476 Invoice

Date Invoice # 10/18/2024 11655

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

			P.O. No.	Terms	F	Project
Date	Tic	cket #	Description	Quantity	Rate	Amount
0/18/2024	374		ricaine Milton Debris Removal-Loading and	19.2	8.40	161.28
0/10/0001	0.7.5		trucking) to debris site in Pahokee			
0/18/2024	375		ricaine Milton Debris Removal-Loading and	17.92	8.40	150.53
0/18/2024	376		trucking) to debris site in Pahokee ricaine Milton Debris Removal-Loading and	17.92	8.40	150.53
0/10/2024	570		trucking) to debris site in Pahokee	17.92	8.40	150.5.
0/18/2024	377		ricaine Milton Debris Removal-Loading and	20.48	8.40	172.03
0/10/2024	577		trucking) to debris site in Pahokee	20.40	0.40	172.03
0/18/2024	378		ricaine Milton Debris Removal-Loading and	21.76	8.40	182.7
0/10/2021	570		trucking) to debris site in Pahokee	21.70	0.40	102.7
0/18/2024	379		ricaine Milton Debris Removal-Loading and	21.76	8.40	182.7
			trucking) to debris site in Pahokee		0110	10211
0/18/2024	380		ricaine Milton Debris Removal-Loading and	19.2	8.40	161.2
			trucking) to debris site in Pahokee			
0/18/2024	396		ricaine Milton Debris Removal-Loading and	20.48	8.40	172.0
			trucking) to debris site in Pahokee			
0/18/2024	407		ricaine Milton Debris Removal-Loading and	18.75	8.40	157.5
			trucking) to debris site in Pahokee			
0/18/2024	408	2024 Hu	ricaine Milton Debris Removal-Loading and	17.5	8.40	147.0
			trucking) to debris site in Pahokee			
)/18/2024	409		ricaine Milton Debris Removal-Loading and	20	8.40	168.0
			trucking) to debris site in Pahokee			
0/18/2024	410		ricaine Milton Debris Removal-Loading and	21.25	8.40	178.5
			trucking) to debris site in Pahokee			
0/18/2024	430		ricaine Milton Debris Removal-Loading and	17.92	8.40	150.5
	1		trucking) to debris site in Pahokee			
0/18/2024	447		ricaine Milton Debris Removal-Loading and	21.76	8.40	182.7
			trucking) to debris site in Pahokee			
)/18/2024	452		ricaine Milton Debris Removal-Loading and	19.2	8.40	161.2
10/2024	452		trucking) to debris site in Pahokee	00.40	0.40	1.50.0
)/18/2024	453		ricaine Milton Debris Removal-Loading and	20.48	8.40	172.03
)/18/2024	454		trucking) to debris site in Pahokee	10.0	0.40	1(1.0)
//18/2024	454		ricaine Milton Debris Removal-Loading and rucking) to debris site in Pahokee	19.2	8.40	161.23
		nauling				
		r		Total		
Ph	one #	Fax #	E-mail			
-						
561-9	24-9250	561-924-9252	tuiwarehouse@yahoo.com			
			Page 1			

691 E Main Street Pahokee, FL 33476

 Date
 Invoice #

 10/18/2024
 11655

Bill To

561-924-9250

561-924-9252

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To		
3		

					P.O. No.		Terms		Project
Date	Tic	:ket#	D	escription	1		Quantity	Rate	Amount
10/18/2024	455	21	024 Hurricaine Milton D			nd	17.92	8.40	150.53
10/18/2024	456	H 20	Iauling (trucking) to deb 024 Hurricaine Milton D	ris site in F Debris Rem	Pahokee loval-Loading ar		19.2	8.40	161.28
10/18/2024	457	20	Iauling (trucking) to debr 024 Hurricaine Milton D Iauling (trucking) to debr	Debris Rem	oval-Loading an	nd	17.92	8.40	150.53
10/18/2024	458	20	024 Hurricaine Milton D	Debris Rem	oval-Loading an	nd	19.2	8.40	161.28
10/18/2024	459	20	Iauling (trucking) to debu 024 Hurricaine Milton D Iauling (trucking) to debu	Debris Rem	oval-Loading an	ıd	17.92	8.40	150.53
		Si	ales Tax					0.00%	0.00
		1							
Ph	one #	Fax #		E-mail		To	tal		\$3,586.29

tuiwarehouse@yahoo.com

Page 2

114

691 E Main Street Pahokee, FL 33476

 Date
 Invoice #

 10/18/2024
 11656

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

	Ship To
-	

Terms

							. 51110			
	Date	Ticket #		Description			Quantity	Rat	e	Amount
10/1 10/1 10/1 10/1 10/1 10/1 10/1 10/1	8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024 8/2024	374 375 376 377 378 379 380 396 407 408 409 410 430 447 452 453 454 455 456 457 458 459	2024 Hurricane Milto 2024 Hurricane Milto	n Debris Removal-Processi n Debris Removal-Processi	ing of Debris Grind ing of Debris Grind	ding ding ding ding ding ding ding ding	19.2 17.92 20.48 21.76 21.76 19.2 20.48 18.75 17.5 20 21.25 17.92 21.76 19.2 20.48 19.2 17.92 19.2 17.92 19.2 17.92 19.2 17.92	0.0	2.25 2.25 2.25 2.25 2.25 2.25 2.25 2.25	43.20 40.32 40.32 46.08 48.96 43.20 46.08 42.19 39.38 45.00 47.81 40.32 48.96 43.20 40.32 43.20 40.32 43.20 40.32 43.20 40.32 0.00
Γ	Pho	one #	Fax #	E-mail		Tota	al			\$960.62
	561-92	24-9250	561-924-9252	tuiwarehouse@yal	hoo.com					115

P.O. No.

691 E Main Street Pahokee, FL 33476 Invoice

Date Invoice # 10/18/2024 11657

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To			

				P.O. No.		Terms		Project
Date	Ticket #		Description			Quantity	Rate	Amount
10/18/2024	374		n Debris Removal-Loading	, Hauling and Dis	sposing	19.2	8.70	167.04
10/18/2024	375	of Yard Waste Final D 2024 Hurricane Miltor of Yard Waste Final D	n Debris Removal-Loading	, Hauling and Dis	sposing	17.92	8.70	155.90
10/18/2024	376		n Debris Removal-Loading	, Hauling and Dis	sposing	17.92	8.70	155.90
10/18/2024	377		n Debris Removal-Loading	, Hauling and Dis	sposing	20.48	8.70	178.18
10/18/2024	378		n Debris Removal-Loading	, Hauling and Dis	sposing	21.76	8.70	189.31
10/18/2024	379		n Debris Removal-Loading	, Hauling and Dis	sposing	21.76	8.70	189.31
10/18/2024	380		n Debris Removal-Loading	, Hauling and Dis	sposing	19.2	8.70	167.04
10/18/2024	396		n Debris Removal-Loading	, Hauling and Dis	sposing	20.48	8.70	178.18
10/18/2024	407		n Debris Removal-Loading	, Hauling and Dis	sposing	18.75	8.70	163.13
0/18/2024	408		Debris Removal-Loading	, Hauling and Dis	sposing	17.5	8.70	152.25
0/18/2024	409		n Debris Removal-Loading	, Hauling and Dis	sposing	20	8.70	174.00
0/18/2024	410	2024 Hurricane Miltor of Yard Waste Final D	n Debris Removal-Loading	, Hauling and Dis	sposing	21.25	8.70	184.88
0/18/2024	430	2024 Hurricane Miltor of Yard Waste Final D	n Debris Removal-Loading. Pestination	, Hauling and Dis	sposing	17.92	8.70	155.90
0/18/2024	447	2024 Hurricane Miltor of Yard Waste Final D	n Debris Removal-Loading, estination	, Hauling and Dis	sposing	21.76	8.70	189.31
0/18/2024	452	2024 Hurricane Miltor of Yard Waste Final D	Debris Removal-Loading, estination	, Hauling and Dis	sposing	19.2	8.70	167.04
0/18/2024	453		n Debris Removal-Loading,	, Hauling and Dis	posing	20.48	8.70	178.18
0/18/2024	454		Debris Removal-Loading,	, Hauling and Dis	posing	19.2	8.70	167.04
Dh	one #	Fax #	C		Tot	tal		
			E-mail					
561-9	24-9250	561-924-9252	tuiwarehouse@yal	hoo.com				

691 E Main Street Pahokee, FL 33476

Bill To

I

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To			

				P.O. No.	Terms	F	Project
Date	Ticket #		Description		Quantity	Rate	Amount
10/18/2024	455	2024 Hurricane Milton of Yard Waste Final De	Debris Removal-Loading	, Hauling and Disposin	g 17.92	8.70	155.90
0/18/2024	456	2024 Hurricane Milton of Yard Waste Final D	Debris Removal-Loading	, Hauling and Disposin	g 19.2	8.70	167.04
0/18/2024	457	2024 Hurricane Milton	Debris Removal-Loading	, Hauling and Disposin	g 17.92	8.70	155.90
0/18/2024	458		Debris Removal-Loading	, Hauling and Disposin	g 19.2	8.70	167.04
0/18/2024	459		Debris Removal-Loading	, Hauling and Disposin	g 17.92	8.70	155.90
		of Yard Waste Final Do Sales Tax	estination			0.00%	0.00
				12			
Pho	ne #	Fax #	E-mail	— Т	otal		\$3,714.37
561-92	4-9250	561-924-9252	tuiwarehouse@ya	hoo.com			

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/19/2024	11658

Project

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

	Ship To
]	

Terms

Date	Ticket #		Description		Quantity	Rate	Amount
10/19/2024	411		2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking)			8.40	147.00
10/19/2024	412	to debris site in Pahok 2024 Hurricaine Milto to debris site in Pahok	2024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking)			8.40	147.00
10/19/2024	413		n Debris Removal-Loading and Hauling (ta	rucking)	16.25	8.40	136.50
10/19/2024	414		n Debris Removal-Loading and Hauling (tr	rucking)	17.5	8.40	147.00
10/19/2024	415		n Debris Removal-Loading and Hauling (t	rucking)	15	8.40	126.00
10/19/2024	416	1	n Debris Removal-Loading and Hauling (t	rucking)	13.75	8.40	115.50
10/19/2024	417		n Debris Removal-Loading and Hauling (t	rucking)	7.5	8.40	63.00
10/19/2024	460		n Debris Removal-Loading and Hauling (t	rucking)	18.75	8.40	157.50
10/19/2024	461		024 Hurricaine Milton Debris Removal-Loading and Hauling (trucking)			8.40	168.00
10/19/2024	462		n Debris Removal-Loading and Hauling (tr	rucking)	20	8.40	168.00
10/19/2024	464		n Debris Removal-Loading and Hauling (tr	rucking)	21.25	8.40	178.50
10/19/2024	465		n Debris Removal-Loading and Hauling (tr	rucking)	20	8.40	168.00
10/19/2024	466		n Debris Removal-Loading and Hauling (tr	rucking)	18.75	8.40	157.50
10/19/2024	467		n Debris Removal-Loading and Hauling (tr	rucking)	18.75	8.40	157.50
10/19/2024	468		n Debris Removal-Loading and Hauling (tr	rucking)	17.5	8.40	147.00
10/19/2024	469		n Debris Removal-Loading and Hauling (tr	rucking)	18.75	8.40	157.50
10/19/2024	470		n Debris Removal-Loading and Hauling (tr	rucking)	18.75	8.40	157.50
Pho	one #	Fax #	E-mail	Tot	al		
561-9	24-9250	561-924-9252	tuiwarehouse@yahoo.com				

P.O. No.

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/19/2024	11658

Bill To City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Date Tic				 a) 			
	icket #		Description		Quantity	Rate	Amount
10/19/2024 471 10/19/2024 472 10/19/2024 473 10/19/2024 474	2 3 4	to debris site in Pahoke 2024 Hurricaine Miltor to debris site in Pahoke 2024 Hurricaine Miltor to debris site in Pahoke	n Debris Removal-Loadin ee n Debris Removal-Loadin ee n Debris Removal-Loadin	g and Hauling (truckin g and Hauling (truckin	g) 20 g) 20	8.40 8.40	178.50 168.00 168.00 178.50 0.00
Phone #		Fax #	E-mail tuiwarehouse@ya		「otal		\$3,192.00

Ship To

Section I, Item 4. hivoice

691 E Main Street Pahokee, FL 33476 Invoice

Date	Invoice #
10/19/2024	11659

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.		Terms	F	Project
Date	Ticket #		Description		_	Quantity	Rate	Amount
0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024 0/19/2024	411 412 413 414 415 416 417 460 461 462 464 465 466 467 468 469 470 471 472 473 474	2024 Hurricane Miltor 2024 Hurricane Miltor	n Debris Removal-Processi n Debris Removal-Processi	ing of Debris Grin ing of Debris Grin	nding nding	$17.5 \\ 17.5 \\ 16.25 \\ 17.5 \\ 15 \\ 13.75 \\ 20 \\ 20 \\ 21.25 \\ 20 \\ 18.75 \\ 18.75 \\ 18.75 \\ 18.75 \\ 18.75 \\ 21.25 \\ 20 \\ 20 \\ 21.25 \\ 12.5 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 20 \\ 20 \\ 21.25 \\ 100 \\ 20 \\ 20 \\ 20 \\ 20 \\ 20 \\ 20 \\ 2$	2.25 2.20 2.25 2.25 2.25 2.25 2.25 2.25	39.38 38.50 36.56 39.38 33.75 30.94 16.88 42.19 45.00 45.00 47.81 45.00 42.19 42.19 42.19 42.19 47.81 45.00 45.00 47.81 0.00
Pho	ne #	Fax #	E-mail		Tota	l		\$854.15
561-92	4-9250	561-924-9252	tuiwarehouse@ya	hoo.com				1

691 E Main Street Pahokee, FL 33476

Ιπνοιςε

Date Invoice # 10/19/2024 11660

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

Ship To		

			P.O. No.		Terms	F	Project
Date Ticket #		Description		Q	uantity	Rate	Amount
10/19/2024 411		n Debris Removal-Loading	, Hauling and Disp	osing	17.5	8.70	152.25
10/19/2024 412	of Yard Waste Final I 2024 Hurricane Milto of Yard Waste Final I	n Debris Removal-Loading	, Hauling and Disp	osing	17.5	8.70	152.25
10/19/2024 413		n Debris Removal-Loading	, Hauling and Disp	osing	16.25	8.70	141.38
10/19/2024 414		n Debris Removal-Loading	, Hauling and Disp	osing	17.5	8.70	152.25
10/19/2024 415		n Debris Removal-Loading	, Hauling and Disp	osing	15	8.70	130.50
10/19/2024 416		n Debris Removal-Loading	, Hauling and Disp	osing	13.75	8.70	119.63
10/19/2024 417	2024 Hurricane Milto of Yard Waste Final D	n Debris Removal-Loading Destination	, Hauling and Disp	osing	7.5	8.70	65.25
10/19/2024 460	2024 Hurricane Miltor of Yard Waste Final D	n Debris Removal-Loading	, Hauling and Disp	osing	18.75	8.70	163.13
10/19/2024 461	2024 Hurricane Milton of Yard Waste Final D	n Debris Removal-Loading, Destination	, Hauling and Disp	osing	20	8.70	174.00
10/19/2024 462	of Yard Waste Final D		0 1	Ũ	20	8.70	174.00
.0/19/2024 464	of Yard Waste Final D				21.25	8.70	184.88
10/19/2024 465	of Yard Waste Final D				20	8.70	174.00
10/19/2024 466	of Yard Waste Final D				18.75	8.70	163.13
0/19/2024 467	of Yard Waste Final D			-	18.75	8.70	163.13
0/19/2024 468	of Yard Waste Final D				17.5	8.70	152.25
0/19/2024 469	of Yard Waste Final D				18.75	8.70	163.13
0/19/2024 470	2024 Hurricane Miltor of Yard Waste Final D	n Debris Removal-Loading, estination	Hauling and Dispo	osing	18.75	8.70	163.13
as				Total			
Phone #	Fax #	E-mail					
561-924-9250	561-924-9252	tuiwarehouse@yah	100.com				

691 E Main Street Pahokee, FL 33476

Date	Invoice #
10/19/2024	11660

Bill To City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

					P.O. No.		Terms	1	Project
	ate	Ticket #		Description			Quantity	Rate	Amount
10/19/		471	2024 11		II I' 1D'				
10/19/	/2024	4/1	of Yard Waste Final I	n Debris Removal-Loading Destination	, Hauling and Dis	sposing	21.25	8.70	184.88
10/19/	/2024	472	2024 Hurricane Milto of Yard Waste Final I	n Debris Removal-Loading	, Hauling and Dis	sposing	20	8.70	174.00
10/19/	/2024	473		n Debris Removal-Loading	, Hauling and Dis	posing	20	8.70	174.00
10/19/	12024	474	of Yard Waste Final I	Destination	-		01.05		
10/19/	2024	474	of Yard Waste Final I	n Debris Removal-Loading Destination	, Hauling and Dis	sposing	21.25	8.70	184.88
			Sales Tax					0.00%	0.00
	Pho	ne #	Fax #	E-mail		Tot	al		\$3,306.05
	561-92	4-9250	561-924-9252	tuiwarehouse@yal	noo.com				

Page 2

ì	S	ect	ion	I,	Iten	n 4
I		V	U		し	E

.

691 E Main Street Pahokee, FL 33476

Date	invoice #
10/21/2024	11661

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				P.O. No.		Terms		Project
Date	Ticket #		Description			Quantity	Rate	Amount
10/21/2024	483	2024 Hurricaine Milto to debris site in Pahok	n Debris Removal-Loading	g and Hauling (tru	ucking)	17.92	8.40	150.53
10/21/2024	484		n Debris Removal-Loading	g and Hauling (tri	ucking)	8.96	8.40	75.26
10/21/2024	485	2024 Hurricaine Milto	n Debris Removal-Loading	g and Hauling (tru	ucking)	10.24	8.40	86.02
10/21/2024	463		n Debris Removal-Loading	g and Hauling (tru	ucking)	17.5	8.40	147.00
10/21/2024	475	to debris site in Pahok 2024 Hurricaine Milto	ee n Debris Removal-Loading	g and Hauling (tru	ucking)	16.25	8.40	136.50
10/21/2024	476	to debris site in Pahok 2024 Hurricaine Milto	ee n Debris Removal-Loading	g and Hauling (tru	ucking)	18.75	8.40	157.50
10/21/2024	477	to debris site in Pahok 2024 Hurricaine Milto	ee n Debris Removal-Loading	g and Hauling (tru	ucking)	17.5	8.40	147.00
10/21/2024	478	to debris site in Pahok			-	15	8.40	126.00
10/21/2024	479	to debris site in Pahok				11.25	8.40	94.50
10/21/2024	472	to debris site in Pahok Sales Tax			icking)	11.25	0.00%	0.00
							0.0070	0.00
								141
Pho	one#	Fax #	E-mail		Tot	tal		\$1,120.31
	24-9250	561-924-9252	tuiwarehouse@yal	100 com				
501-92		501-72T 7232						123

hivoice

691 E Main Street Pahokee, FL 33476

Пллогсе

Date	Invoice #
10/21/2024	11662

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

					P.O. No.		Terms		Project
[[Date	Ticket #		Description			Quantity	Rate	Amount
10/2 10/2 10/2 10/2 10/2 10/2 10/2	1/2024 1/2024 1/2024 1/2024 1/2024 1/2024 1/2024 1/2024	483 484 485 463 475 476 477 478 479	2024 Hurricane Milto 2024 Hurricane Milto 2024 Hurricane Milto 2024 Hurricane Milto 2024 Hurricane Milto 2024 Hurricane Milto 2024 Hurricane Milto	n Debris Removal-Processi n Debris Removal-Processi	ng of Debris Grin ng of Debris Grin	nding nding nding nding nding nding nding	17.92 8.96 10.24 17.5 16.25 18.75 17.5 15 11.25	2.25 2.25 2.25 2.25 2.25 2.25 2.25 2.25	40.32 20.16 23.04 39.38 36.56 42.19 39.38 33.75 25.31 0.00
	Pho	ne #	Fax#	E-mail		Tot	al		\$300.09
	561-92	4-9250	561-924-9252	tuiwarehouse@yał	100.com				124

691 E Main Street Pahokee, FL 33476

Date Invoice # 10/21/2024 11663

Bill To

City of Pahokee 207 Begonia Drive Pahokee, Fl. 33476

				8				
				P.O. No.		Terms	F	Project
Date	Ticket #		Description			Quantity	Rate	Amount
10/21/2024	483	2024 Hurricane Milto of Yard Waste Final I	n Debris Removal-Loading	, Hauling and Di	sposing	17.92	8.70	155.90
10/21/2024	484	1	n Debris Removal-Loading	, Hauling and Di	sposing	8.96	8.70	77.95
10/21/2024	485		n Debris Removal-Loading	, Hauling and Di	sposing	10.24	8.70	89.09
10/21/2024	463	2024 Hurricane Milto	n Debris Removal-Loading	, Hauling and Di	sposing	17.5	8.70	152.25
10/21/2024	475		n Debris Removal-Loading	, Hauling and Di	sposing	16.25	8.70	141.38
10/21/2024	476		n Debris Removal-Loading	, Hauling and Di	sposing	18.75	8.70	163.13
10/21/2024	477		n Debris Removal-Loading	, Hauling and Di	sposing	17.5	8.70	152.25
10/21/2024	478		n Debris Removal-Loading	, Hauling and Di	sposing	15	8.70	130.50
10/21/2024	479		n Debris Removal-Loading	, Hauling and Di	sposing	11.25	8.70	97.88
		of Yard Waste Final E Sales Tax	Jestination				0.00%	0.00
. Pł	none #	Fax #	E-mail		Tot			\$1,160.33
561-	924-9250	561-924-9252	tuiwarehouse@yal	hoo.com				
			L		1			125

Ship To

Section I, Item 4.